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1. iz IEHIEEAR

M RREE USB. LAN. GPIB-USB # M 51 &ALt TiEE . H X
Yo B, 45 A AH NI g B2 1 S B NI-VISA, il £ T SCPI (Standard
Commands for Programmable Instruments) 44, WA HEATZEFE YR FE
i, DA NI A S HF SCPI iy 245 1 Al dmFR AN 2 31T T ERAE

ARG A8 U AT AL A A 5 F I 2 R (R e R A

1.1 M miEa b

HTACRAE USB F1 LAN %4, FvFRl FFE il de i AL s BT AR B A B
PEH BT EALT LR A ATTEHL (PCO B/, DL — SRR 38 .

1.1.1f6F USB &
ESHE LR SBmT USB W& 525 PC [iEs::
1. 7 PC 23 NI-VISA LL3k45 USB-TMC B3],

2. f#H USB A-B HZ5F 7T ) USB Device ¥ Hi%E#:E] PC ) USB
Host 1,

3. I
SO B A R 3E i USB 4% o

1.1.208F LAN EO&EE
2% L P EET LAN 525 PC % H:

1. 7£ PC %3 NI-VISA DI3R1E VX Bx3h. £ A NI-VISA HITEH T,
i PC #:/E 24+ 11 Socket.

2. A2 LA 7 BT A LAN 3 4% 21 PC 1) LAN .
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3. TR

4. ¥ FRGTHR System—Interface—LAN L (#4413 X LAN Config Tt
%%O

5. EFFHSHAEN IPACE.

& S HETMZE T DHCP i 55 88  Nntr i B sl /s BC M 25240 (IP
Hodik, T RHERS, RIS

& Fd BT UL TacE IP sk, TR, WO R. BB TN
REEESETR

LAN Config

T SCRE B E ST S U 9B (1 LAN 4

1.1.3{§F USB-GPIB i&fig 28
HESE LT £ RiET USB-GPIB 525 PC 1iEH::
1. 1£ PC %3 NI-VISA LL3REL GPIB Xz .

2. fii/] SIGLENT USB-GPIB &Efic#+K5 PC i) USB Host i %4z 3
PC 1 GPIB R [

£ seLen

//
/(”
3. I HTAL.
4. 4% FRITTIH [System/—Interface—~GPIB LHJ4#4H, %A\ GPIB %5 .

2 Yn 2 F
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AT SO E S A 93T ) GPIB ki

12 B

1.2.1385% VISA B xiEBE

NI-VISA B 51817 51 BERA TN e B ARA . 18T 51 BERRASTEAE NI 2% KB 7,
#ln USB-TMC, VXI, GPIB %5. 5E#REIHIZITEIEEM 4N NI MAX H#44:
TH, ERA4H Ik 6] 54 .

AT AL P HESRTS NI-VISA FERERRUA

http://www.ni.com/download/.

NEUGE, AT DR DL P IRIEAT e 3
a. Wi visa_full.exe, HIFLUN T AHGAE

¥inZip Self-Extractor - visa540_full... [X|

To unzip all files in visabd0_full exe to the specified

! Unzi
folder press the Unzip button. S

Run Winfip

Browse... ] ’ Close

Dvenwrite files without prompting About

When done unzipping open:
Mzetup.exe

Help

b. i Unzip, B4 O G 24 Ea3 a5 mRER T ENFE 2
% NET Framework 4, | H 223855 7% B 30 B 50,

W RI-VISA 5.4

=]

NI-VISA

MNational Instruments VISA Software

Mational Instiuments Corporation is an authorized distibutor of Microsoft Silverlight.

19952013 Mational Instrurments. All rights reserved.

c. BHE/R T NI-VISA ZHEXEHE. Mt N — DR id i,

YnFEF 3
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& NI-¥ISA 5.4

Destination Directory
Select the primarny installation directon.

Destination Dirsctany

National Instruments software will be installed in a subf
different folder, click the Browse button and select another.

older of the following. To install into &

C:%\Program Files'Hational Instrumentsh

J

| [ srowse

<< Back P Mextyr LCancel

WHE I HE, RINERZ “C: \ Program Files \ National Instruments \”,

ER LB . Al Ne

) NI-¥ISA 5.4

Features
Select the features to install

xt, XFUEAEL BT .

(=S

NSTRUmENTs:

4 5.4
Fun Time Support

Configuration Support
Development Support

Remote Server

Feal-Time Support

windaws Mobile/CE Support

NI Instrument /0 Sssistant 2.8.2

NI System Canfiguration 5.5.0

NI Measurement & Automation Explorer 5.5
NI-1588 Configuration 1.3.0

=18 | NIVIS
S

<
Drirectory for NIAISA 6.4

MNational Instruments Y154 driver version 5.4, %I54
provides an &P for contralling Vi<l GPIB, Serial, P
and other tupes of instruments.

_Eu,'_éﬁ > <Ly

This feature will be installed on the local hard drive.

C:4Program Files“IVI Foundstion\VISA%

| [ Brows=

]

[ Frestore Feature Defaults | [ Disk Cast ]

<< Back

Jb Hemt>» Cancel

d. sty F—2Wik, EFPTEREFIES: “I accept the above 2 License
Agreement(s).” , AJE T —#, XHEHEW T E R

il NI-VISA 5.4

Start Installation
Fieview the following summary befors continuing

T NSTRUMENTS:

A or Changin:
- NIYISA 5.4

Aun Time Suppart

Configuration Support

Development Support

Femate Server
« NI System Configuration 5.5.0
+ NI Messurement & Automation Explorer 5.5
* MI-1588 Configuration 1.3.0

Click the Mext button to beqin installation. Click the Back but

ton to change the installation settings.

Save File... |

[ «eBack [ THewss | Cancel

2 A T Mk
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 NI-VISA 5.4 CoXx

Installation Complete

DUFE A5 i, B R sh I FL e o

1.2.21833 Sockets

EE LAN 210, 77 LUMEHE VXI-11. Sockets Fi1 Telnet #1385 43 #4470 1S .
VXI-11 7 NI-VISA F1324, 1 Sockets 1 Telnet i@ J5 A5k 0 & 7 PC [
E& 4,

Socket LAN ;& —FH Tl LAN # 04 H TCPIP 50 M {GE S 5k,
Sockets J& T IHHEMLINES I IEARFIA, SRVFN A N BT W2 h
AHEAE RGP AR HEN L FEAT IS o SR iZ 5705 M 0 A B sm M
CIND N SRS e = 0N Py B =

{811 Socket LAN 2, A% #2119 47X 1) Socket 3 115
& HrifE (Socket) #ix: fEuG I 5025 A {6 FH o 3 T AR

Iz HI T BE
1.3.1f B E G

P AT DAER] SCPI i & ok gufE Mz i . ARG, ES 5“9
REoR 7 R4

1.3.21551 NI-MAX % iX SCPI %
PR P AT AT NI-MAX 5% 1% SCP ir & RIm Rl 4B X«

1.3.2.1 A USB 0

1247 NI-MAX:
1. S L EMAR “Device and interface”
2. k3% “USBTMC” X&F 5,

YnFEF 5
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33 SVA3032X "USBO:OKFAECHOx1 30L:X000C0OMGINSTR” - Measurement & Automation Explorer T

SR R|SE ZEEN TR EEH)

4 B ENES H e &' B | i afvisaistEE
+ 6 EBEEn

ASRLI:INSTR "COML"

ASRL4A:INSTR "COM4" a4

|+ SVA3032X "USBO:0xFAEC:0x1301:X00000C0EINS TR |

b RS £
N é %‘; R Siglent
fici=} SVA2032X

3. Hii “Open VISA Test Panel” J‘ilﬁf’éﬂ P HILLL R 5 .
4. g “Input/Output” LA, SR Mt “Query” L% 4 LA & H#

,f/lz,flzl it o

¥ ‘J USBO:0xFAEC:0x] 301K INSTR - VISA Test Panel]

Configuration Input/Qutput

Basic I/0 | Line Control | USBE Control ‘ Return Data
Read Operation
| Select or Enter Command | TDN\n E (o Ewar
IDN7\n . | Bytes to Read
_| (1024 E
I Write ] I Query ] I Read ] [Read Status Byle] [ Clear ]
View mixed ASCll/hexadecimal |Z|
Siglenth\sTechnelogies, SVAZ032Y, XAXAXAAAAL, 2. 2, 1. 2. 0. LORZY, =
n

m

Copy to Clipboard ] [Clear Buffer]

NOTE' * IDN? 54 (AR WD MR [EESHER, XEHS, 751
HoAth ik %Mm,w

1.3.2.2 € LAN ¥

W RN, 1%#% Add Network Device, #RJ5i%# VISATCP / IP Resource:
1247 NI-MAX:

1. AP B “Device and interface’s

2. $L#| “Network Devices” &% 75, riifi “Add Network Devices” .

ﬁ Network Devices - Measurement & Automation Explorer

File Edit View Tools Help
v B3 My System # Add Network Device ¥

v i Devices and Interfaces
@ ASRL3:INSTR COM3 #5 VISA TCP/IP Resource... ! Hostn

» & Software
» E8 Remote Systems

3. EFH LAN G mFahfN, EFE T2, REHmA IP Hht, wEiR.
A “Finish” @7 i%E4E.

6 A F M
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@ Create New ...

Choose the type of LAN resource you want to add.

Chonse the lype of TCPAIF resource you wish to add

(O duta-detect of LAN Instrument

Use this option to select fram a list of W-11 LAN /AL<I
instruments detected an pour lacal subnet.

o\

(®) Marwal Entry of LAN Imstument

Use this option if your Wx1-11 LAMALA instrument iz an
another network.
¥
- (O Marwal Entiy of Raw Socket

e this option to communicate with an Ethemet device
over a specific port number.

ZBack | [ Net> | [ Finch 4

NOTE : {& B JRj 3 0 4% 44 PR 2 11 EE 44 R I

4.

Enter the LAN resource details.

Enter the TCP/IP address of your VISA network resource in the
form of s e s vy, the hostname: of the device, or a
computersame. domain. The LAN device name is often st
or "gpib0,1".

Hostname or IP address
101114140

LN Device Name

[ct=®) | [F2m>] [ =20 ]| [ W&o ]4

MHEARE, EEMNERE “Network Devices” T

- -
ﬁﬂﬁi‘ﬁﬁ' - Measurement & Automation Explorer
“

— e nl———— Tl e —

XHHF) ®EE S8V IRM #EH)

=
=5 SVA1015X "TCPIP0:10.11.14.140::inst0:INSTR"
> &1 i
» B8 TS

PR  EREAE v
4 & BEiEED
@ ASRLL:INSTR "COML" R =2 EHER IPisht 2=
' "GPIB0" &5 SVAL015X TCPIP0:1011.14.... 101114140 101114140 SVAIXEAX2..

5. AR A IFIEFEFTIT NI-VISA JUl U A -

6.

FAIEE - Mess stion
=P BEE ==V I1EM 8mH

T
+ i EmEiEEn
ASRL1:INSTR "COML"
% SYA1015X "USBO:0xF4EC:0:A301::5VAL X EAX2R0030:INSTR"
&= PCI-GPIB "GPIBO"
4 L mEEE
== SVAL015X "TCPIP0::10.11.14.140:inst0:INSTR"
> &7 s
b B8 mERES

Aili “Input/Output” % IHi 4%
(BEISE

| EnrERE v
i EIR EHIER IPilE RIS

&5 SVAL015X TCPIPO:10.11.14.... 101114140 101114140  SVAIXEAX2.. |
=ag

x e

il ITFTVCAIREER |

H, SRJE S “Query” T4 LA A

2 1 Tk
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574 TCPIP0::10.11.14.140xinst0:INSTR - VISA Test Panel n il
-

Configuration Input/Output

Basicl/O Return Data

Read Operation

Select or Enter Command | 1PN7\n [~] AEATLE
| *IDNAR - Bytes to Read
_ | [1024
L : — "
[ Write ] [ Query ] [ Read ] [Read Status Byte ] { Clear ]
| View mixed ASCI/hexadecimal =]
Siglent, SVA1015%, SVA1XEAX2R0030, 2. 1. 1. 1. 11\n 2

H

-~

Copy to Clipboard ] [ Clear Buffer]

1.3.3ff f EasySpectrum

F AT Ll EasySpectrum s 24 i 43 . PC ¥4 EasySpectrum &£t
%t Siglent 2> #1448 FH #9 3 T PC-Windows it & #2 i) T B . % a] LA
Siglent M3 F#e . i@ USB / LAN s ¥ i GERE R PC, BFE%E
Jez2 25 NI VISA.

EasySpectrum 15 &1 N Zhfg:
& SUEIRALEE, TS 0 R I R A R R .
& eSS, HTEREUE P SORMRBRAR IESC M, FRR AT
PC #H A4
& N EMI£IEs, HTHAT EMI U —E0EhS, SIS EE . g
PR I ARG L

ARZPAFHRE— DU, 1§ S B IR FIAE L B

8 A F M
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' \ A " I )l \ . LA \ A A A 2 fa A A
AP el m A M AN M P e A O B P AP el sy ey

1.3.4f£ A Web bTz%

ZA AT AT BT PC SR 8h 2 i) Web Y 28 34T i ARy, H 75 e 3
WKBHAEST o AT 1 A BB v] R R RORDIRE, BRI — . W
et SCFF#5E (ScreenShot) M £FF+4% (FirmWareUpdata) Tt

Frequency
cRe1‘ 0 dBm Att 20dB
)

Center Freq
16 GHz

start Freq
0 Hz

stop Freq
32 GHz

Freq Offset
O Hz
il Vs it by PL ’1. bl 1"“4"' M A |M|"!'Mw Wr."-‘p‘ "W\”Jl"’w il nipﬂ\ﬁ\‘"\ Ml bl Freq step
320 MHz

l:l Manual
Signal Track

Peak—CF

CF—Step
Start 0 Hz Center 1.6 GHz Stop 3.2 GHz
RBW 3 MHz VBW 3 MHz Span 3.2 GHz SWT 4224 ms Remote

*ESFH S HTMLS B web W% 28, U1 Chrome B Firefox.

i FE T 9
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2. SCPI & 4r
2.1 LRI

SCPI & NRPIRZIRG M), B2 T RS, BT RGEH —MRCE M
BB R . arATIE LB IR, R E S
orRE, RS AR S EOE, SR I, 22
NS Mo A AT S AN 5?7, FRoRxf I Th R T &,

LUE

:SENSe:FREQuency:CENTer <freq>

:SENSe:FREQuency:CENTer?

SENSe /a2 R 47, FREQuency Il CENTer 73 A28 %% H=%%
B TR BT, RIS R AT, <freqrdon i RE NS
Bl SR EH. e :SENSe:FREQuency:CENTer A& ¥i<freq>2 [
FI“SH 405 -

2.2 FFS1HR

THEPIFFT S AR SCPI r& KN, A%, (E2EH M T4
a2 IS

1. K#ES {}

KE ST HR RS, fJUARE, WAl DIWE —REE k. Flun:
:CALCulate:LLINe[1]|]2:DATA <x-axis><ampl>{,<x-axis>,<ampl>}# &, J5
[0 K35 ], <x-axis>,<ampl>} ] LA IS, AT DLBCE — X B2 0, Mg,
EERESH

2, BZ% |

BAHTHBEZANSHOEI, Kikdan S waug g Hd — 25, fiom.
[:SENSe]:FREQuency:CENTer:STEP:AUTO OFF|ON|0|1454 1, AJ &£y
A ZHONOFF”, “ON”. “0”E“1”,

3. HHESI[]

FTHSHPINE (L RET) AR . WREESH, K i%ZS50x
BENBINE. filhn:

%} F[:SENSe]:POWer[:RF]:ATTenuation? 4, &% T T P4 4 a2 1R 35 R A —
FER:

:POWer:AT Tenuation?

:POWer:RF:ATTenuation?

:SENSe:POWer:AT Tenuation?

:SENSe:POWer:RF:ATTenuation?

10 G FE T
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4, ZAFES <>
=AE SIS DI NG RAERE e, Blhn.
LL:DEMod:VOLume 5 [ R k& i%:DEMod:VOLume <value>#i4 .

2.3 SFAP

KFMNBRIGSHIERIZSEAT LI ALLT 6 FhA. fa/RABY. Moms. #BA
B A EERL . ASCIH F57H

1. Ai/RE
ZHEN“OFF”. “ON”. “0"8¢“1”. #1u1:
[:SENSe]:FREQuency:CENTer:STEP:AUTO OFF|ON|0|1

2. thzt

SHIUE P28 AE . Bt
[:SENSe]:AVERage:TYPE LOGPower|POWer|VOLTage
ZHUN“LOGPower”. “POWer 5“VOLTage”

3. FrE

ZHWUE N ASCI FRFE A Bl
:SYSTem:COMMunicate:LAN:IPADdress <*XxX.XXX.XXX.XXX">
SEONBE R IP A& /R

4, R

BRAE S E ], SEAEA RUETE BN T AU B8 . e R EAZL
EZHO N, BN IR . 0.

[:SENSe]:DEMod:VOLume <value>

Z4f(<value>nTHL 0 3 10 YE | A AT — 4L

5. #RA

S BB TG B N 3RS BE SR Ol BRORS B /N L s UL A 3B
Al UAE S TEUE . B0

:CALCulate:BANDwidth:NDB <value>

Z¥f<value>T] HL-100 F| 100 2 Ja] {524k .

6. REA

SRR € EUE, JF B X SHUEA R IESH . Filan.
[:SENSe]:BWIDth:VIDeo:RATI0O <number>

Z4<number> A GeEVfE A 0.001. 0.003. 0.01. 0.03. 0.1, 0.3. 1.0. 3.0,
10.0. 30.0. 100.0. 300.0. 1000.0. 3000.0.

YmFEF 11
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24 MSHE

i fr & 5 KNSR U, TGS, Ba T KEEUNS, T L
FIS, (BRNEEGS, S5 B G AH RP kS5 5, il
:DISPlay:WINDow:TRACe:Y:DLINe:STATe?

AT

:DISP:WIND:TRAC:Y:DLIN:STAT?

12 gmFE
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3. &\ H

o

4

3.1 IEEE YRS TFRE

3.1.1g &S A2 (IDN)

k| FIDN?

i X 2R A NMLEREEENTZR. BRNEOR: |, &g
M, R&EES, BEWAS, FPGAAS, CPLD A4S

EAE<NI| i

25451 “IDN?

Return: Siglent

Technologies,SVA3032,1234567890,100.01.02.06.01

3.1.281 (*RST)

i 2| PRST

it B TR R A IR AP IR S
Si BRI e

5451 *RST

3.1.3/5BRES (*CLS)

w2k [FCLS

i B T A AR EE S, FRNE SRR
ST | [

2 A *CLS

3.LANRESEHIRSHERE (*ESE)

S| FESE <number>
*ESE?
i B BE e SRR S A7 2 T RE M
AR RS A A7 A A RE A
S FL I G
255 “ESE 16

.15t EREHRSHFEEGIE (FESR)

w2 k| FESR?

Ui ] V] 1) SR R v AR AS B A7 2 1 S
Si LTI i

2451 *ESR?

i FE T

13
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3.1.6¥E5EmifIE] (*OPC)

o fE| FOPC
*OPC?

A AR 2 5 SE

L PRI AR, ERERIPIRS AR B E Ry 0 B 1

CRHI | [

il *OPC?

3.1.751TBRSEKR (*SRE)

| FSRE <integer>
*SRE?

WL BRI R A A N RE MR
AR AS 71 A AT A ) i e AL

HI | [

i *SRE 1

3.1.8R7&SFTifiE] (*STB)

| [FSTB

i AR T WA A N FAHE

LT | [

Bl *STB

3.1.9FEFHE (*"WAI)

a2k [FWAI

] CERFERAE TR
SR | B

2 A WA

3.1.10f % H (*TRG)

| FTRG

LA B

DI | [

i *TRG

3.1.118MiRiGiE (*TST)

i kg PTST?

LA i 5K

S HL I "
25151 *TRG
14 gmFE
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32 RHEHEL

3.2.1&4%mtE (:SYSTem:TIME)

R [SYSTem:TIME <hhmmss>
:SYSTem: TIME?

Ui ] WE RG]
SRR G ]

SHERM | [T

ZHGuH| VI (0~23), 43 (0~59), # (0~59)

IR (B {E TR XXXXXX

PAIME i

S LI F4i> H &I [H]

s 151 W RG]
:SYSTem: TIME 182559
il

:SYSTem: TIME?

3.22%%HEl (:SYSTem:DATE)

| [SYSTem:DATE <yyyymmdd>
:SYSTem:DATE?
i B WEARGHMN
SRR St H A
SHERA | [T
SHGuE | [E DU KED, H (1~12), H (1~31)
IR [A]{E A H IXOXOKKKK
PAIME o
S LI 240> H W& [H]
2z 451 WEARSGHM
:SYSTem:DATE 20050101
il
:SYSTem:DATE?
3.2.3IP Hbiit

(:SYSTem:COMMunicate:LAN:IPADdress)

LSgi- ="

:SYSTem:COMMunicate:LAN:IPADdress <“XXX.XXX.XXX.XXX">
:SYSTem:COMMunicate:LAN:CONFig:APPLy
:SYSTem:COMMunicate:LAN:IPADdress?

i B 5 E P Hihk
SREL IP Hidik
SHRA| |
SHGOUHE| |[LAIGE IP R EMTE (0-255:0-255:0-255:0-255)

i FE T

15
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IR (B {E |P Hbbik 745 5

PAME | [

S LI RG> 11 E>LAN >IP Hihk

el :SYSTem:COMMunicate:LAN:IPADdress “192.168.1.12"
:SYSTem:COMMunicate:LAN:IPADdress?

3.2.4f%x (:SYSTem:COMMunicate:LAN:GATeway)

| [[SYSTem:COMMunicate:LAN:GATeway <“XXX.XXX.XXX.XXX">
:SYSTem:COMMunicate:LAN:GATeway?

i B e ALFS
B R

SHRM | [T

SHEE| AT A IP bk R EEYE (0-255:0-255:0-255:0-255)

% B {E ) 5574

BIME g

Sk HL I FR 40> 4 LB >LAN> ) 56

2551 :SYSTem:COMMunicate:LAN:GATeway “192.168.1.1”
:SYSTem:COMMunicate:LAN:GATeway?

3.25FME (:SYSTem:COMMunicate:LAN:SMASK)

k5| [:SYSTem:COMMunicate:LAN:SMASK <*XXX.XXX.XXX.XXX">
:SYSTem:COMMunicate:LAN:CONFig:APPLy
:SYSTem:COMMunicate:LAN:SMASk?

Wi B R A P i DX 4% 15 B A L DR A
ERSREERE

SHRM| |75

SEGUE| [LARFE 1P bk -R e (0-255:0-255:0-255:0-255)

BRI TR AT

PROAME | [

SRR | | RG> W B >LAN> T HERY

=il

:SYSTem:COMMunicate:LAN:SMASk “255.255.255.0”

:SYSTem:COMMunicate:LAN:SMASKk?

3.2.6IP Sfig&A (:SYSTem:COMMunicate:LAN:TYPE)

| [[SYSTem:COMMunicate:LAN:TYPE STATIC|DHCP
:SYSTem:COMMunicate:LAN:TYPE?
Wi 1 wE IP 5 E A

BRI IP f 70 Bo SRR

SRR

M

SR

STATIC: #HE0E
DHCP: ZhA4MC

R[EME | Wesé: STATIC|DHCP
BAME | &
16 AL T
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DI HRL T

RG> E>LAN>IP i E

&=l

:SYSTem:COMMunicate:LAN:TYPE DHCP
:SYSTem:COMMunicate:LAN:TYPE?

3.2.7%EiES (:SYSTem:LANGuage)

| [SYSTem:LANGuage SCHINESE|ENGLISH
:SYSTem:LANGuage?

Ui ] WEZHIES
R Z EHE S

SR | Wz

SHEHE | [SCHINESE: A1
ENGLISH: #

REME | [M2: SCHINESE|ENGLISH

PAIME G

S LI RE>EE

s 151 wEZEIES

:SYSTem:LANGuage SCHINESE
i
:SYSTem:LANGuage?

3.2.8FFHL B (:SYSTem:PON:TYPE)

A [SYSTem:PON:TYPE DFT|LAST|USER
:SYSTem:PON:TYPE?
i B AR = Wit
SR AT AL N 2 E B 2R
SHGEHEI| [DFT: BRA
LAST: F&
USER: H
% 8] {E Frzé: DFT|LAST|USER
BRIAME DFT
Sy HL I RG> LH/EA>
25451 SYSTem:PON:TYPE DFT

3.2.9R%EA (:SYSTem:PRESet)

iy A%

:SYSTem:PRESet

LA

IRYE AR, B HLE S A E

SRR

i B

ERIAE

ot [ext{ert[erd

i FE T
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SIGLENT

DI HRL T

T

B

:SYSTem:PRESet

3.2.10R%ER (:SYSTem:RESTart)

| [SYSTem:RESTart
it B R EE GEaPLa TR X RER, KHEFEFINHE)
ZHRM| [
IR [FI{E G
BRAE G
S HL I G
el :SYSTem:RESTart
3.2.118 B (:SYSTem:PRESet:TYPE)
AR [SYSTem:PRESet: TYPE DFT|LAST|USER
SYSTem:PRESet: TYPE?
i B WE R E R
R ENER A e B R T
R E S
SHGEH | DFT: BRik
LAST: FEi&
USER: H/
IR 8] {E Frzé: DFT|LAST|USER
BRINE DFT
S HL I Zai> FH/EA>TUE S AL
el :SYSTem:PRESet:TYPE DFT

3212k EH®E (:SYSTem:FDEFault)

i k| [SYSTem:FDEFault

i B LERIE NN S

IR [A] B o

BRAIME o

S FL I Za> FH/EA>WE ] WE
25 A :SYSTem:FDEFault

3.2.13B B (:SYSTem:LKEY)

M| [[SYSTem:LKEY <"option”>,<’license key”>

Wi FHVE IS JE R e e 0, 75 2 H JE A2 A%

SRR | W2s . 7R
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SHuHE | ['option”: Meas|EMI|CAT|TG
"license key”: SuFHEHGHEMLBAGY, 16 77 H
IR (8] {E i
N e
S LI RG> R 505 B>t
2 A :SYSTem:LKEY “EMI”,"fjbdajffnkimgwno”

3.2.14 R £ %IR8 (:SYSTem:OPTions?)

fr kR [SYSTem:OPTions?

Ui ] iR [A] O 2 e I H S

SR o

REME | P& Meas|EMI[TG|DMA|DTF|VNA
BOME | [k

CEHRIL | | RG> RGE R

45451 :SYSTem:OPTions?

3.2.15%#l (:SYSTem:POWer:OFF)

2 || SYSTem:POWer:OFF
i B oK AR

IR Al E o

BRINE o

S HL I o

25451 :SYSTem:POWer:OFF

3.2.16 R%f58 (:SYSTem:CONFigure:SYSTem?)

R | [[SYSTem:CONFigure:SYSTem?
L] I B % R GE R

SRR [k

REME | R

BRAME | &

ST | RG> RYE R

Ead :SYSTem:CONFigure:SYSTem?

i FE T
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SIGLENT

33 FREH<

3.3.17 &3 (:MMEMory:STORe)

w25 [MMEMory:STORe
STA|TRC|COR|CSV|LIM[JPG|BMP|PNG, "<file>"

it B BN A FR S FRAS [F SR B SR

SHR | |75

REME | B

SIME | [

BN A RS

25451 :MMEMory:STORe STA, "ABC.sta”

3.3.2MMEHzEF (:MMEMory:LOAD)

fir 4k | [MMEMory:LOAD STA|TRC|COR|LIM, "<file>”

i B LA

SRR | [

REME | [

BOME | [k

S FRL I SCAEFT I/,

45 :MMEMory:LOAD STA, "ABC.sta” (SCHE& F RN

3.3.3Mi& 3z (:MMEMory:DELete)

24| MMEMory:DELete "<file>”

Ui ] I o S A B A

SHERA | [T

RMEME | B

BiME | B

S LI S RO M B

25451 :MMEMory:DELete "ABC.sta”
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3.4 EiriEH

34 1MBEE
(:DISPlay:WINDow:TRACe:GRATicule:GRID:BRIGht

ness)

| [DISPlay:WINDow:TRACe:GRATIcule:GRID:BRIGhtness <value>
:DISPlay:WINDow:TRACe:GRATIcule:GRID:BRIGhtness?

Ui ] T BIRIY X R
U T [X 30 it o

S| |

ZHu | |0~100

IR (5] {E Eegitl

HKAE | 30%

S LI 7> AR

25451 :DISPlay:WINDow:TRACe:GRATIcule:GRID:BRIGhtness 50

3.42BREHF X

(:DISPlay:WINDow:TRACe:Y:DLINe:STATe)

| [DISPlay:WINDow:TRACe:Y:DLINe:STATe OFF|ON|0|1
:DISPlay:WINDow:TRACe:Y:DLINe:STATe?

Ui VAT
AR 7R BT RS

S ¥ | |OFF|ON|0J1

RE{E | o)

ERME | [OFF

oK LI B> N2

245 :DISPlay:WINDow:TRACe:Y:DLINe:STATe ON

3.4.3R 7% (:DISPlay:WINDow:TRACe:Y:DLINe)

w2k [:DISPlay:WINDow:TRACe:Y:DLINe <value>
:DISPlay:WINDow:TRACe:Y:DLINe?

i B WE RN TR
R BT 7N 2R R P

SHRA| AL, $47 dBm

ZHGuHE | B HBF~2F 7100 dBm

IR A E 7F s, B dBm

ENINIE] 0 dBm

S FL I WoR> TRk

i FE T
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SIGLENT

BRG]

| [DISPlay:WINDow:TRACe:Y:DLINe -10

3.5 EABHS

3.5.14#5i%&#F (:INSTrument[:SELect])

2| [[INSTrument[:SELect] SA|CAT|VNA|
INSTrument[:SELect]?
i I PEATREAN TAFEAR
SHRA | Mz
SHGEE | |[GPSA: SRk b=
VNA: K251
DTF: #hssE =t
MA: ] 5 Hr
RTSA: SERARESHT [/ 20 b 32 Fr (78 55 9 SSA3000R £51
REME | e
BRiME | |GPSA
S LI f 2
21 'INSTrument MA

3.6 FHEHS

3.6.1E# A CINITiate:RESTart)

¥ | [INITiate:RESTart
i B Rl ok — IR
ZHCRM| [k

Y EIEEED c

BRIME c

S HL I

2445 :INITiate:RESTart

3.6.2EH AR (:INITiate[:IMMediate])

A%

:INITiate[:IMMediate]

LA

B R 3

iR A5

ERIAE

ot ert{ert{ et

B
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bl | [INITiate:IMMediate
3.6.3FEFF AW X (:INITiate:CONTinuous)
4% 28| [INITiate:CONTinuous OFF|ONJO|1
:INITiate:CONTinuous?
Wi W TF LR
DU AR TT AR 2
SHRM | Wik A
S ¥l |OFF|ON|O0|1
% 8] {E 0|1
EAME ON
oK LI A>T 4
25451 :INITiate:CONTinuous OFF

3.6.4F1LME (ABORt)

KERg, FRNEET “FH7 RE.

1| |ABORt
it B i S H T EIE Y E. RS ailE, =E A

UK B EOVIESE I &, X i E N E IR 3h— N H s
EFH, — B el 26 AF, REPATH B R (33D
IR BEE OV RN &, MR ELINITIMM 659 22 0/, ERR

iR OIRES

SRR

et

ZHGEH

iR A5

ERIAE

DRI

k
k
k
k

il

ABORt

i FE T
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SIGLENT

4. SFE AR
41 UFRA WL

4.1 1MEBERIEFE (:INSTrument:MEASure)

i 0| [[INSTrument:MEASure
OFF|REF|ACPR|CHPower|OBW|TPOWer|SPECtrogram|TOI
INSTrument:MEASure?

Wi A v B I AR
RN B A5

SHGuHE | |OFF: &%

REFLection: HFIIE (SSA Zr= i Fukohft, SVA RAU 5 AR SH I
HE) o

ACPR: 4BiEIh& Ll

CHPower: {ZEINZ

OBW.: 5 7 %

TPOWer: [ ig 1%

SPECtrogram: i W

TOl: =35

HARMonics: i 7347

CNR: #MLl

R [E{E | [Ke2%: OFF|REFL|ACPR|CHP|OBW|TPOW|SPEC|TOI|[HARM|CNR
HIME | [OFF

SERLI | [

2 A :INSTrument:MEASure ACPR

4.2 Initiate S FREE

4.2 1F#HM CINITiate[:IMMediate])

A%

.INITiate[:IMMediate]

L

R AR ARATUMEA] “:INITiate:RESTart” iy & 1A 2]
FIFE R -

SRR

iR Bl

ERIAE

ot [ertfert[erd

DI HALTI
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bl | [INITiate:IMMediate

4.2 2% % CINITiate:CONTinuous)

w220 [INITiate:CONTinuous OFF|ON|0|1
INITiate:CONTinuous?

it B T 9 B AR 2
S U 231 i A

SHCRA | MR A

S ¥l |OFF|ON|O0|1

iR [Al{E 0|1

PRINE ON

S HL I F> I R

kil :INITiate:CONTinuous OFF

4.2 35 =% CINITiate:PAUSe)

At | [INITiate:PAUSe

it B PHE ST IO G 4 RT3 45 A B 5)

SRR [

SHNEH| [

iR [Al{E v

LNINIE] v

S HL I 5 B>

25151 ‘INITiate:PAUSe

4.2 A4 (C:INITiate:RESume)

Ak [INITiate:RESume

i B Ok S T A5 ) 1

SHCEA

S| [

iR [Al{E W

EONINIE] W

S LI I >4k

255 ‘INITiate:RES

4.3 Sense WS FEHRY:
4.3. 15 =g H|

4.3.1.1 FiL¥HFE ([:SENSe]:FREQuency:CENTer)

LSgi- ="

[:SENSe]:FREQuency:CENTer <freg>

[:SENSe]:FREQuency:CENTer?

i FE T
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SIGLENT

Wi A AR lNy 7 S
P L P IR 0 1 2 4 B ek
RIS
S| (A8, $AL Hz, KHz, MHz. GHz
S| 150 Hz~3.199999950 GHz
T A 0~3.2 GHz
WA EIEE) PR, B Hz
NN 1.6 GHz
DRI | RS L R
kil :FREQuency:CENTer 0.2 GHz
4.3.1.2 &5 Z%E ([:SENSe]:FREQuency:STARt)
m A [:SENSe]:FREQuency:STARt <freq>
[:SENSe]:FREQuency:STARt?
Wi B B IR
EREL s ES
S| (A8, $AL Hz, KHz, MHz, GHz
ZHEE | 150 Hz~3.199999950 GHz
FH %O T A 0~3.2 GHz
W EIEE) VR, FLAL Hz
ERAE 0 Hz
DRI | RS R
2545 :FREQuency:STARt 100 Hz
4.3.1.3 &1E55#FE ([:SENSe]:FREQuency:STOP)
Ao [:SENSe]:FREQuency:STOP <freg>
[:SENSe]:FREQuency:STOP?
Wi B B &R AIR
DN S
SR [F SR, AL Hzo KHz. MHz. GHz
ZHEE | 150 Hz~3.199999950 GHz
FH% LT A 0~3.2 GHz
W IR R, FLAL Hz
ERAE 3.2 GHz
I | PRSI EAR
25451 :FREQuency:STOP 1.0 GHz
4.3.1.4 iR BiH

([:SENSe]:FREQuency:CENTer:STEP[:INCRement])

i A% 2\

[:SENSe]:FREQuency:CENTer:STEP[:INCRement] <freq>
[:SENSe]:FREQuency:CENTer:STEP[:INCRement]?

L BCE DR D
R DA D
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SHEEM| FER, A Hz, KHz. MHz. GHz
S| [1 Hz~3.2 GHz

REME | F A, A Hz

ZRAE | 320 MHz

S| PS> K

s 15 :FREQuency:CENTer:STEP 2 MHz

4.3.1.5 FuLSRR i T IERR
([:SENSe]:FREQuency:CENTer:STEP:AUTO)

fiy A% 2\

[:SENSe]:FREQuency:CENTer:STEP:AUTO OFF|ON|O|1
[:SENSe]:FREQuency:CENTer:STEP:AUTO?

i B TER LR D B BB
D oA AP 3 H B AR AOIRAS
SRR R
S ¥l |OFF|ON|O0|1
% B {E 0|1
BRIME ON
LI | PSR K
el ‘FREQuency:CENTer:STEP:AUTO OFF

4.3.1.6 WEDHAPOINERE
([:SENSe]:FREQuency:CENTer:SET:STEP)

2t | [:SENSe]:FREQuency:CENTer:SET:STEP
i ] Vg A D A 15 S O AR A [
SHEA| o

RIEME | PG

BIME | B

SEERI | PSP

e il :FREQuency.CENTer:SET:STEP

4.3.1.7 3% {mF% ([:SENSe]:FREQuency:OFFSet)

m | [:SENSe]:FREQuency:OFFSet<freq>
[:SENSe]:FREQuency.OFFSet?

Wi B Pae STy
STy

SRR 7SR, AT Hz, KHz, MHz, GHz

SH i | 1100 GHz~100 GHz

RIEME | PR, HA Hz

NN 0 Hz

DL | PRSI RS

25451 :FREQuency:OFFSet 1 GHz
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SIGLENT

4318 RERFSEBERRES
(:CALCulate:MARKer:TRCKing[:STATe))

25| [CALCulate:MARKer:TRCKing[:STATe] OFF|ON|O0|1
:CALCulate:MARKer: TRCKing[:STATe]?

LA U SEREPEN
RS TIEEORES

SRR | MR

Z i H | (OFF|ONJO0|1

ix[EfE | O

PAAME | ION

DT | PIESE S IBER

el :CALCulate:MARKer: TRCKing on

4.3.1.9 9% ([:SENSe]:FREQuency:SPAN)

| [:SENSe]:FREQuency:SPAN <freqg>
[:SENSe]:FREQuency:SPAN?

Ui 1] AR E DN
FRLEE DIPNAN

SHCRA| F SR, ¥4 Hz, KHz. MHz. GHz

SHjul | |0 Hz, 100 Hz ~ 3.2 GHz

IR (5] {E R, B Hz

ENINIE] 3.2 GHz

S LI 1198 B B >4 T

245 :FREQuency:SPAN 1 GHz

4.3.1.10 £13% ([:SENSe]:FREQuency:SPAN:FULL)

R | [:SENSe]:FREQuency:SPAN:FULL
i B B A% TAERR

RMEME | G

BIME | B

SR | R E> S

45451 ‘FREQuency:SPAN:FULL

4.3.1.11 FHAE ([:SENSe]:FREQuency:SPAN:ZERO)

| [:SENSe]:FREQuency:SPAN:ZERO

L] B TAERE

SHEA| B

SR [
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SIGLENT

REME | [

ROE | B

SR | R E>EH

s 15 :FREQuency:SPAN:ZERO

4.3.1.12 £x33% ([:SENSe]:FREQuency:SPAN:PREVious)

4k | [:SENSe]:FREQuency:SPAN:PREVious
Wi B B ARy B

SHRM| o

xEME | [

BAME | G

Sk HL I R E> F X%

15451 :FREQuency:SPAN:PREVious
4.3.1.13 HER ¥ ([:SENSe]:FREQuency:SPAN:HALF)
4% | [:SENSe]:FREQuency:SPAN:HALF
i B WO R

xEME | [

BAME | G

S LI 358 BB > UK

245 :FREQuency:SPAN:HALF

4.3.1.14 AEME ([:SENSe]:FREQuency:SPAN:DOUBIe)

1| [:SENSe]:FREQuency:SPAN:DOUBIe
Wi ek e LRI

ZHRM|

R[EME | PG

BRME | B

S| SR BCE >

Ead :FREQuency:SPAN:DOUBIe
4.3.28TNBIE

4.3.2.1 BzhiA1E ([:SENSe]:FREQuency:TUNE:IMMediate)
2| [:SENSe]:FREQuency:TUNE:IMMediate
Ui ] H 2 1%

i FE T
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SIGLENT

i [l V.

BRINE V.

S LI SRR

2545 :FREQuency: TUNE:IMMediate
4.3 REEF

4.3.3.1 &EHBE

(:DISPlay:WINDow:TRACe:Y[:SCALe]:RLEVel)

2| [DISPlay:WINDow:TRACe:Y[:SCALe]:RLEVel <value>
:DISPlay:WINDow:TRACe:Y[:SCALe]:RLEVel?
i B W E ST
RS 2% HLT
SRR [F AR, 40 dBm. dBmV., dBuV. V. W
SHEE | [HA7A dBm B: -100 dBm ~ 30 dBm
A7 A dBmV B : -53.01 dBmV ~ 76.99 dBmV.
A7 A dBuV B 6.99 dBuV ~ 136.99 dBuV.
A7 A Volts if: 2.24 uV ~7.07 V
LA Watts Bf: 100 fW ~ 1 W
i [l 4E R, 547 dBm
PAIME 0 dBm
LI | [R>S E T
B :DISPlay:WINDow:TRACe:Y:RLEVel 20 DBM

4.3.3.2 MIANTER, ([:SENSe]:POWer[:RF]:ATTenuation)

w2k [:SENSe]:POWer[:RF]:ATTenuation <value>
[:SENSe]:POWer[:RF]:ATTenuation?

i B =S AEN
DI R

S| |

SHEH | [0 dB ~51dB

IR Rl R, A7 dB

HAE | [20 dB

S LI FIERS R

515 :POWer:ATTenuation 10

4.3.3 3 HATR ENER

([:SENSe]:POWer[:RF]:ATTenuation:AUTO)

It [:SENSe]:POWer[:RF]:ATTenuation:AUTO OFF|ON|0|1
[:SENSe]:POWer[:RF]:ATTenuation:AUTO?

L R T H Bh T B AR
R B B AORES

SRR iR
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SIGLENT

ZHuH | |OFF|ON|0J1

R[] {E 0|1

NN ON

SR HLII RS 5> Uik

25151 :POWer:ATTenuation:AUTO?

433 4ATBEBMKFHRX ([:SENSe]:POWer[:RF]:GAIN[:STATe])
G &0 [[SENSe]:POWer[:RF]:GAIN[:STATe] OFF|ON|0|1
[:SENSe]:POWer[:RF].GAIN[:STATe]?
1t PH T I AS A 50 1 T B TR 2%

R HT B ROR 2T IR
S| MR
S ¥l |OFF|ON|O0|1
R Al {H 0|1
LNINE] OFF
S LI RS 5> T
el :POWer:GAIN ON
4335 IBE R

(:DISPlay:WINDow:TRACe:Y:SCALe:RLEVel:OFFSet)

:DISPlay:WINDow:TRACe:Y:SCALe:RLEVel:OFFSet<value>
:DISPlay:WINDow:TRACe:Y:SCALe:RLEVel:OFFSet?

Wi I W E IR =

SRR [

ZHEEl| 100 dB %] 100 dB

REME | SRS, $A7 dB

BIME | J0dB

S LI i JEE > 10 2 A 7%

245 :DISPlay:WINDow:TRACe:Y:SCALe:RLEVel:OFFSet 2

4.3.3.6 ZIEHAL (:UNIT:POWer)

&2 [UNIT:POWer DBM|DBMV|DBUV|V|W
:UNIT:POWer?

Wi 1 VBRI 7R BT
U 5 1) 3.7 BT

S5 | |]DBM|DBMV|DBUV|DBUA|V|W

R[E{E | |[F2%: DBM|DBMV|DBUV|V|W

PAIME DBM

S LI i &> A7

15 :UNIT:POWer DBMV
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SIGLENT

4.3.3.7 ZIFAH
(:DISPlay:WINDow: TRACe:Y[:SCALe]:SPACing)

| [DISPlay:WINDow:TRACe:Y[:SCALe]:SPACing
LINear|LOGarithmic
:DISPlay:WINDow:TRACe:Y[:SCALe]:SPACing?
Wi B e R Tt
SR R s R A
S| Mzé: LINILOG
i | [LINear: ZkiE
LOGarithmic: X%
R | (M
BRIME LOGarithmic
DI | (e > R
el :DISPlay:WINDow:TRACe:Y:SPACing LINear
4.3.38 ZE /&

(:DISPlay:WINDow:TRACe:Y[:SCALe]:PDIVision)

25| [DISPlay:WINDow:TRACe:Y[:SCALe]:PDIVision <integer>
:DISPlay:WINDow:TRACe:Y[:.SCALe]:PDIVision?

Wi B ¢ B T 2 0 E s I 1R %
IR A 0 H 7 I ) 20

RN | [F R

SHER| [1 dB ~ 20 dB

RIEME | AL $Ar dB

BAAME | 10dB

ST | IR EE>SZI

245 :DISPlay:WINDow:TRACe:Y:PDIVision 10 dB

4.3.3.9 f8IE% ([:SENSe]:CORRection:OFF)

2| [:SENSe]:CORRection:OFF
Wi I & IEThRE
R R IEDIRE, 2 RMEIE 1-4,
SHRM| o
REME | [
BIME | B
SEHI | G
45 :SENSe:CORRection:OFF
4.3.3.10 BIENRARS

([:SENSe]:CORRection:CSET:ALL[:STATe])

ir 2% 3| [:SENSe]:CORRection:CSET-ALL[:STATe] OFF|ON|0]|1
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SIGLENT

[:SENSe]:CORRection:CSET:ALL[:STATe]?

Wi B FTIF R T A 8 1 S H
SREUE IE B AT IR
R WP RAIEIE 1-4 BIFFOIRE . WABIE 1-4 #5CH,
RA BN ON B

SR | HiR A

ZHiE]| |OFF|ON|O|1

A E Nk

ZRINE | |OFF

DI | (R EIES N B IE

%4151 :SENSe:CORRection:CSET:ALL:STATe OFF

4.3.3.11 f8IE X K7
([:SENSe]:CORRection:CSET[1]|2|3]|4:0FF)

Ak [:SENSe]:CORRection:CSET[1]|2|3|4[:STATe] ON|OFF|0|1
[:SENSe]: CORRection: CSET[1]|2|3|4[:STATe]?
BTCE WEIEL X RS
SRS IE X TSk
s | [k
2 | JONJOFF|0]1
R EE | ()1
BRINME OFF
SRR | RSB IE>EE X
e il :CORRection:CSET20FF
4.3.3.12 {BIE 75N

([:SENSe]:CORRection:CSET[1]|2|3|4:ADD)

1| [:SENSe]:CORRection:CSET[1]|2|3|4:ADD<x1,y1,x2,y2;...>

i 1 NS

SHEA| (B EHEE 7 S <R 1Hz, 1EE 1dBm, % 2Hz, 1EE
2dBm, - >

iR Al

BME | B

SRR | IR > B IE > B IE X> I

411 :CORRection:CSET2:ADD 10000000,-10,15000000,-12
:CORRection:CSET2:ADD?

4.3.3.13 BIE = MHER

([:SENSe]:CORRection:CSET[1]|2|3|4:DELete)

iGr 4 45| [:SENSe]:CORRection:CSET[1]|2|3|4:DELete <index>
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SIGLENT

Wi IR A2 1E

SRR | (IBIERFS

A EILIEN

BRAE | B

SRR | A > ABIE > B IE X> MR A
s 15 :CORRection:CSET2:DELete 2

4.3.3.14 {&IE S 2R MR
([:SENSe]:CORRection:CSET[1]|2|3|4:ALL:DELete)

S k| [:SENSe]:CORRection:CSET[1]]2|3|4:ALL:DELete
P I o3 A R A I A5

SR G

R[EME | PG

BRAME | PR

S | R > B IE> 1B IE X> HER A

15451 :CORRection:CSET2:ALL:DELete

4.3.3.15 f&IE X ¥#E

([:SENSe]: CORRection:CSET[1]|2|3|4:DATA)

it [:SENSe]:CORRection:CSET[1]|2|3]|4:DATA<x1,y1,x2,y2;...>
[:SENSe]:CORRection:CSET[1]|2]|3]4:DATA?

Wi I W B R
S AR

SHER | B IEEE 7778 <% 1Hz, & 1Dbm, XK 2Hz, 1&fE
2dBm, e >

IR A {E 1% IE B0 F4F BE <BR 1Hz, TRE 1Dbm, % 2Hz, MR
2dBm, ecee- >

PAIME o

SEHI | o

el :CORRection:CSET2:DATA 10000000,-10,15000000,-12
:CORRection:CSET2:DATA?

4.3.3.16 IR

([-:SENSe]:CORRection:IMPedance[:INPut][:MAGNitude])

k5| [:SENSe]:CORRection:IMPedance[:INPut][:MAGNitude] OHM50
|OHM75
[:SENSe]:CORRection:IMPedance[:INPut][:MAGNitude]?

! i E AT
R ERNEEET
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SIGLENT

ZH0i | [OHM50 [OHM75

EEfH | [OHM50 [OHM75

A | B

R | [EEE>BIE

24 CORRection:IMPedance?
4.3. 4% T H

4.3.4.1 SR ([SENSe]:BWIDth[:RESolution])

A [:SENSe]:BWIDth[:RESolution] <freg>
[:SENSe]:BWIDth[:RESolution]?

Ui 9] e &

SRR (B

ZHuH | 1Hz. 3Hz. 10 Hz. 30 Hz. 100 Hz. 300 Hz. 1 KHz. 3 KHz.
10 KHz. 30 KHz. 100 KHz. 300 KHz. 1 MHz

REME | fF A, AL Hz

BRAE | |1 MHz

SERIR | BW > HERA

25151 :BWIDth 1 KHz

4.3.4.2 STERETIEN

([:SENSe]:BWIDth[:RESolution]:AUTO)

LiSgi- ="

[:SENSe]:BWIDth[:RESolution:AUTO OFF|ON|0|1
[:SENSe]:BWIDth[:RESolution]: AUTO?

Ui ] BB HEER A ) B A T R
SR HE 2 B 0Y) H SR T SRS

SRR | R

ZHEH| [OFF|ON|OJ1

REME | 0|1

RUE | ON

Si LTI BW >4} #f 5 5

% 45 :BWID:AUTO ON

4.3.4.3 MIHHETE ([:SENSe]:BWIDth:VIDeo)

| [:SENSe]:BWIDth:VIDeo <freqg>
[:SENSe].BWIDth:VIDeo?
Wi B B AT B8
AR B
SRR [
ZHuk | 1 Hz. 3 Hz. 10 Hz. 30 Hz. 100 Hz. 300 Hz. 1 KHz. 3 KHz.

10 KHz, 30 KHz. 100 KHz. 300 KHz. 1 MHz

i FE T
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SIGLENT

REME | fFEAA, B Hz
NN 1 MHz

ST | BW SHLBRE 5E

24 :BWIDth:VIDeo 10 KHZ

4.3.4.4 MIHHFEIET, ([:SENSe]:BWIDth:VIDeo:AUTO)

43| [:SENSe]:BWIDth:VIDeo:AUTO OFF|ON|0|1
[:SENSe]:BWIDth:VIDeo:AUTO?

Wi W B A FE ) E SR T 5%
SR A 58 1) H SR T SRS

SHEHl| |OFF|ON|O0|1

iz[EE | |01

EAME | [ON

ST | BW SR GRAT B

%4 ] BWIDth:VIDeo:AUTO OFF

4.3.45 M ([:SENSe]:BWIDth:VIDeo:RATio)

| [:SENSe]:BWIDth:VIDeo:RATio <number>
[:SENSe]:BWIDth:VIDeo:RATI0?

i B WE ML
D HHL 0 B

SHRM | [HE, R

ZHEHE | [0.001. 0.003. 0.01. 0.03. 0.1. 0.3. 1.0. 3.0. 10.0. 30.0.
100.0. 300.0. 1000.0

IR (7] {E -

BRIME 1.0

Si LTI BW >#iL5) Lt

45451 :BWIDth:VIDeo:RATio 30

4.3.4.6 L EERTS

([:SENSe]:BWIDth:VIDeo:RATio:CONfig?)

5| [:SENSe]:BWIDth:VIDeo:RATIio:CONfig?

Ui ] D B A EOIRAS

SHM|

IR 5] {E 0|1

PAIME 1

S LI G

45 :BWIDth:VIDeo:RATio:CONfig?
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SIGLENT

4347 R BEHEE ([:SENSe]:FILTer:TYPE)

42| [:SENSe]:FILTer: TYPEEMI|GAUSS
[:SENSe]:FILTer:TYPE?

Wi A AR i
LR A S Y

SHCRA| Wz

SHuE | [EMI: EMI JE): 28
GAUSS: =il

R EME | ez

ZRIME | |GAUSS

SR | BW B AR

B :FILTer:TYPEEMI

4.3 .5 &1l

4.35.1 kR R1EX (:TRACe[1]|2|3|4:MODE)

Ao | [ TRACe[1]|2]3]|4:MODE
WRITe|MAXHold|MINHold|VIEW|BLANK|AVERage
:TRACe[1]|2|3|4:MODE?

i BH PRIV e
R R 28 1) d T A

SHGEHE | WRITe: Sy ERER, T
MAXHold: EoRaFk 15 RE
MINHold: &7~ 26 1 i /ME
VIEW: {5 IEFiRE, s 4 HT i 24 £ s
BLANK: & 2 £
AVERage: ¥

IR [A]{E Kz WRITE|MAXH|MINH|VIEW|BLAN|AVER

ERAE izl 1 4 WRITe, #52k 2. 3. 4 & BLANK

S LI W57

25451 :TRAC1:MODE VIEW

4.3.5.2 ZifiEZ#iE (:TRACe[1]]|2]3|4 [:DATA]?)

k| [ TRACe[1]|2|3]4 [:DATA]?
P R IOTE 28 1) B
et

REME | R

NN

B S

1] :-TRACe:DATA?

i FE T
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SIGLENT

4.3.5.3 i ¥IERR (:FORMat[: TRACe][:DATA])

&5k [FORMat[: TRACe][:DATA]JASCII|REAL,32| REAL,64
:FORMat[: TRACe][:DATA]?
i B B T Y 2R 2 B A
V) ) 152 H P 32 2 B A =
SR M
SHEE | |ASCii
REAL,32 ¥ %032 141
REAL,64 ¥ %064 11
RIEME | M. ASCIi|REAL| REAL32
TRINE | |ASCii
S HLI G
2 15 :FORMat ASCii
4.3.5.4 Lkt H IR

(:CALCulate[:SELected]:MATH:FUNCtion)

2| [CALCulate[:SELected]:MATH:FUNCtion
:CALCulate[:SELected]:MATH:FUNCtion?
Ui ] W E TR
) e AR 2 T A
NI A=yl
SHM | W
S| [Off: aEkE ok
PDIF: Zh=AHYk
PSUM: I AN
LOFF: X% fm#%
LDIF: X 50rH Ik
% 8] {E &S
BRIME Off
S LI R > T R
el :CALCulate[:SELected]:MATH:FUNCtion?

4.35.5 sk ¥FTE X (TRACe:MATH:X)

43| [TRACe:MATH:X A|B|C|D
:-TRACe:MATH:X?
Wi W WE AR X IR
i) ) AR 5 X IR 2R
SHRT| Wz
ZHTE | |A|B|C|D B TRACE1|TRACE2|TRACE3|TRACE4
R EME | s
EROAE | A
SR | RS EE>T R X
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SIGLENT

bl | [TRACEMATH:X A
4356 BEHFTEY (TRACe:MATH:Y)
A k] [TRACe:MATH:Y A[BIC|D
‘TRACe:MATH:Y?
15 HH WE AR Y 2
AR Y 2k
SRR W
¥ | |AIB|C|D 5, TRACE1|TRACE2|TRACE3|TRACE4
1% A {E e
BRINE B
S LI 2> H 2> Y
el "TRACe:MATH:Y A

4.35.7 ek ¥FHY, (TRACe:MATH:Z)

4| [TRACe:MATH:Z A|B|C|D
:-TRACe:MATH:Z?
Wi B T B A H R
V] I A HH R 4%
SR | Mg
ZHTE | |A|B|C|D 5 TRACE1|TRACE2|TRACE3|TRACE4
R | (M
BRAME | [C
SR | R ESHE >
%4 ] :-TRACe:MATH:Z A

4358 ¥ EE ((TRACe:MATH:OFFSet)

kR | [TRACe:MATH:OFFSet<const>
‘- TRACe:MATH:OFFSet?

i B B AERUNS Ay
1) 1) IR 2R

S| 100 dB ~100 dB

IR [A]{E Rt

BRME 0.00 dB

S FL I RS 2> &

25 A -TRACe:MATH:OFFSet 7

i FE T
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SIGLENT

4.3.61 F EH

4.3.6.1 HIRAER
([:SENSe]:DETector:TRACe[1]]|2|3|4[:FUNCtion])

A5 [[SENSe]:DETector:TRACe[1]|2]|3|4[:FUNCtion]
NEGative|POSitive| SAMPle|AVERage|NORMAL |QUASI
[:SENSe]:DETector:TRACe[1]]2|3|4[:FUNCtion]?

SR INEGative: filg(g
POSitive: 1FI&{H
SAMPle: KA
AVERage: T3
NORMAL: FrifE
QUASI: I, HAEerE EMIFTFFRIRE DL R IF

% [ F%5: NEG|POS|SAMP|AVER|NORMAL|QUAS

PRIME | |POSitive

DI | ki

Bl :DETector:TRAC1 AVERage

4.3. 7318zl

4.3.7.1 %A ([:SENSe]:AVERage:TYPE)

| [:SENSe]:AVERage:TYPE LOGPower|POWer|VOLTage
[:SENSe]:AVERage:TYPE?

Wi WE T RA
RT3 25 Y

SRR | M

S| LOGPower: X1
POWer: Ifj&-¥1
VOLTage: HiJE T

IR [A] (B Fr2é: LOGP|POW|VOLT

PRIME | |LOGPower

SR | BW >R

21 AVERage:TYPE VOLTage

4.3.7.2 R E

([:SENSe]:AVERage:TRACe[1]|2|3]|4:COUNt)

i A% 2\

[:SENSe]:AVERage:TRACe[1]|2|3|4:COUNt <integer>
[:SENSe]:AVERage: TRACe[1]]|2]|3]|4:COUNTt?

UL

BEE LT 2K

ARG LR IR~ 4 K
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SIGLENT

SHEAY | PR

ZHEHE| 1 ~ 999

i [Al{E LAY

ERINE 1

SR LI 15 2>~ Y B

25451 :AVERage:TRACel:COUNLt 10
4.3.7.3 EHFE

([:SENSe]:AVERage: TRACe[1]|2|3|4:CLEar)

fiy A%k

[:SENSe]:AVERage:TRACe[1]|2|3|4:CLEar

L

X PIRCRR)

S Bk

i A5

ERIAE

DL T

ofl|er [ et | ot | e

Bl

‘AVERage: TRAC1:CLEar

4.3.7.4 HETEEBRE
([:SENSe]:AVERage:TRACe[1]|2]3|47?)

iy A%k

[:SENSe]:AVERage:TRACe[1]|2|3]|4?

LA

iR 5]

ERIAEL

R

Bl

‘AVERage:TRACe?

4.3.8F 35 H
4.3.8.1 FA#ER ([:SENSe]:SWEep:MODE)

15| [:SENSe]:SWEep:MODE AUTO|FFT|SWEep
[:SENSe]:SWEep:MODE?
Wi W B AR
DRI AR 2
SHGuHE | JAUTO: HEh)#
FFT: FFT
SWEep: i
R | & AUTO|FFT|SWE
PAME SWEep

i FE T
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SIGLENT

DI HRL T

E=kl]

B

:SWEep:MODE SWEep

4.3.8.2 7#rFE ([:SENSe]:SWEep:TIME)

K| [:SENSe]:SWEep:TIME <time>
[:SENSe]:SWEep:TIME?

i B4 B N ]
DA [A]

SHRM| [F AR, B4 ks, s. ms. us

SHEH | [450us ~ 3.2ks (HEUE(E A : 900us ~ 30ks)

IR A E Ve, BT s

BRAE 422.4ms

S HL I F >4 i [A]

15451 :SWEep:TIME 5s

4.3.8.3 FARATEER ([:SENSe]:SWEep:TIME:AUTO)

a5k | [[SENSe]:SWEep: TIME:AUTO OFF|ON|0|1
[:SENSe]:SWEep:TIME:AUTO?

i B B T [A] E B
SR I [R] 5 B

SHCRM | (R

S| |OFF|ON|0J1

xEHME | o)1

PRME | ION

oK LI A > i I ]

215 :SWEep:TIME:AUTO ON

4.3.8.4 FAAETEMM ([:SENSe]:SWEep:SPEed)

| [:SENSe]:SWEep:SPEed NORMal|ACCUracy
[:SENSe]:SWEep:SPEed?

Wi B B A [ )
pNERERTNEE|

SH| Wzt NORM|ACCU

SHuHE | [ACCUracy: ¥
NORMal: ik

R EE | s

BRAME | [NORMal

DCEATIL | [>T R

45451 :SWEep:SPEed NORMal

4.3.8.5 ¥ ([:SENSe]:SWEep:COUNt)

| [:SENSe]:SWEep:COUNt <integer>
[:SENSe]:SWEep:COUNt?
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SIGLENT

L] eV ERETIINNOESE P/ €A
&R RN OESE Y€

SHCRAL| PR

SHuHE | [1 ~99999

R[EE | A

ZRAE | |1

SR | IR

s 15 :SWEep:COUNt 10

4.3.8.6 QPD FHd ([:SENSe]:QPD:DWELI:TIME)

| [:SENSe]:QPD:DWELI:TIME < time >
[:SENSe]:QPD:DWELI:TIME?

i B W E QPD I a]
SREL QPD I ]

SHRM| F SR, A7 s, ms. us

SHGEHE | [Ous ~ 10s (MEUE(E AR : 900us ~ 15ks)

R | FFAAL, LTS

t NN 50ms

SR ERLTI F 4> 4 B ()

2 A :QPD:DWELI:TIME 10 s

4.4 Calculate fp S R4

4.4 .1Marker

4.4.1.1 FF3E kR
(:CALCulate:MARKer[1]]2|3]4]|5/6|7|8:STATe)

&3 [|CALCulate:MARKer[1]|2|3|4|5|6|7|8:STATe OFF|ON|0|1
:CALCulate:MARKer[1]|2|3|4|5|6|7|8:STATe?

it B W E IR RS
SRE AR T IR

SHCRM | R

ZHEHI| [OFF|ON|O[1

IR (7] {E 0|1

RE | [OFF

S FL I PAR )

25451 :CALCulate:MARK1:STATe ON

4.4.1.2 }¥reX (:CALCulate:MARKer:AOFF)

iy A%

:CALCulate:MARKer:AOFF

LA

KA Tt b

SRR

E

i FE T
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SIGLENT

iR Al "

NN v

SR LI v

25151 :CALCulate:MARKer:AOFF
4.4.1.3 EFRIER,

(:CALCulate:MARKer[1]|2|3|4|5/6/7|8:MODE)

A [CALCulate:MARKer[1]|2|3|4|5|6|7|8:MODE
POSition|DELTa|FIXed|OFF
:CALCulate:MARKer[1]|2|3|4:MODE?

Wi B WA DGR R R
RO PR3

ZHul | [POSition: 1E%

DELTa: %fH
FIXed: [&
OFF: K]

iR[EE | K% POS|DELT|FIX|OFF

EAME | [OFF

ST | Ps

el :CALCulate:MARK1:MODE POSition

4.4.1.4 YFrFRICEEL

(:CALCulate:MARKer[1]]2|3]4|5]|6|7|8:TRACe)

2| [CALCulate:MARKer[1]|2|3]4[5]6]7|8:TRACe 1|2|3|4
:CALCulate:MARKer[1]|2|3|4|5|6]7|8: TRACe?

Wi B BCE DGR IC LR
SO PR bR iC 2k

SRR | W

S| 1]2]13]14/5]6]7]8

e | e

PRME | |1

SEHLI | PbR>hrid LR

21 CALCulate:MARK:TRAC 1

4.4.1.5 FekrExF
(:CALCulate:MARKer[1]|2|3|4|5|6|7|8:REFerence)

m | [CALCulate:MARKer[1]|2|3|4|5|6|7|8:REFerence 1|2|3|4
:CALCulate:MARKer[1]|2|3|4]5|6|7|8:REFerence?

Wi B BB DGR A T
SRBOGHR XS T

SHCRAL| [BoF
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SIGLENT

SHGEE | [1]12]314]516(7]8

iR EE | [HeE

BOME |

S EALTI Marker > Relative To

21 :CALCulate:MARKer1:REFerence 3
4.4.1.6 JeHRm X HAY{E

(:CALCulate:MARKer[1]|2|3|4/|5|6]7]8:X)

m | [CALCulate:MARKer[1]|2|3|4|5|6|7|8:X <para>
:CALCulate:MARKer[1]|2|3]4|5]6|7|8:X?

i B WE b X Bl e
i;&ﬁlﬁ‘ﬁﬁ el X Al B

a4 RAEebri Ak OFF i A ReE %L, &% md

:CALCulate:MARKer[1]|2]|3|4|5|6|7|8:STATe
:CALCulate:MARKer[1]|2]3|4|5|6|7|8:MODE
TEDCHREE RN R I, ZECAE A
TEDCARTE H RN RIS, Z8OUE 9IS al; = F a4
:CALCulate:MARKer[1]|2|3]4|5]6]7]|8:X:READout

SHCRA | WiR, Faf, B4 Hz, KHz, MHz. GHz, ZRik Hz
G
BPE]), V%Y, FA7us. ms. s. ks, ERils

ZHiE| |0 Hz ~ 1.5 GHz 5, 10 ms ~ 1000 s

REME | HECAR SRR, SECAR, FAR, AL Hz,
TEDCHRSE BN I TR, SEBCAIN TR, R, AT s;
FEDCHR T H RN AR, SOy A, A, AL s,

BRIME 750 MHz 5% 312.64 ms

S LI Jehr> IE 5

2z 451 :CALCulate:MARKer4:X 0.4 GHz
:CALCulate:MARKer4:X 200 ms
:CALCulate:MARKer4:X?

4.4.1.7 ¥R Y HE{E

(:CALCulate:MARKer[1]|2|3]|4|5]6|7]|8:Y?)

Ak | [[CALCulate:MARKer[1]]2|3]4/5|6]78:Y?

i Bl SEHBOGAR Y BlAE,  [RI AT T e BOGAR Dh g th KOG hRgE S
HAT i & TRk 24 T3E OFF RS, & Em4:
:CALCulate:MARKer[1]|2|3|4/5|6|7|8:STATe
:CALCulate:MARKer[1]2[3]4|5|6|7|8:MODE

IR Al IR, B2 dBm

BAIME G

S FRLI S hR>IE

i FE T
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SIGLENT

25451 :CALCulate:MARKer1:Y?
Return: -25
4.4.1.8 ¥3TFFI¢trF (:CALCulate:MARKer:TABLe)
&k [CALCulate:MARKer:TABLe ON|OFF|0|1
:CALCulate:MARKer: TABLe?
it B FI I ek
IR R IT IR
S| iR
ZHuE | |ONJOFF|0]1
IR (B {E 0|1
NN 0
S LI Hebr>Yebr
25451 :CALCulate:MARKer:TABLe ON
4.4.1.9 FerrB) IR

(:CALCulate:MARKer[1][2|3|4|5|6|7|8[:SET]:START)

fir 20| [:CALCulate:MARKer[1]|2]3|4|5|6]7|8[:SET]:START
it B s X RlE R BN SIE, JEhrTT FFI A 2
SHRM| G

REME | [

BIME | B

LI | PebR> bR

245 :CALCulate:MARKer1:START

4.4.1.10 FArBILL IEIHFE

(:CALCulate:MARKer[1]]2|3]4|5|6]|7|8[:SET]:STOP)

24| [|CALCulate:MARKer[1]|2|3]4|5|6|7|8[:SET]:STOP
Wi 1 bR X Sl E e B A& RS
O NOEARARFT I, Rkt 24 B 3T bR fE £t g st
SHEA| o
RIEME | G
ERNME | o
S | Pebe>tbr o2k
e il :CALCulate:MARKer1:STOP

4.4.1.11 JeRRBI LR
(:CALCulate:MARKer[1]|2]|3]4|5|6|7|8[:SET]:CENTer)

Sk | CALCulate:MARKer[1]]2]3]4|5|6|7|8[:SET]:CENTer
P W Sebn X R B B B RO S
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SIGLENT

LR ROEFRARITIF,  KiX a4 4 H BT IR AE RO IR AL
REME | B
ME | [
S LI FEbR> bR — H
2 A :CALCulate:MARKer1:CENTer

4.4.1.12 Jerr3|FInb it
(:CALCulate:MARKer[1]|2|3|4|5|6|7|8[:SET]:STEP)

fr 4% 3| [|CALCulate:MARKer[1]|2|3]|4|5|6|7|8[:SET]:STEP
i B s X R B o ATD
N BOEERARFT I, RIE AT 222 B BT hRAE RO Ab
iR [A]{E G
BRIME G
S FRL I DthR> bR — P ik
el :CALCulate:MARKer1:STEP
4.4.1.13 #5E|SE B F

(:CALCulate:MARKer[1]|2|3|4|5|6|7|8[:SET]:RLEVel)

| [CALCulate:MARKer[1]|2|3]|4|5|6|7|8[:SET]:RLEVel
Wi W W ehs Y HFME R B NS T

O ROEFR AT I, &Iy 223 B BT CARAE DA AL
SR [k
REE | PG
BROAE | PR
I | PRl >5 %
45451 :CALCulate:MARKer2:RLEVel
4.4.1.14 KFrEEBIE
(:CALCulate:MARKer[1]|2]|3]4|5|6|7|8:DELTa[:SET]:SPAN)
w2k ||CALCulate:MARKer[1]|2|3]4/|5|6|7|8:DELTa[:SET]:SPAN
Y] chﬁxﬁ X A ¥ 25 18 v B v e

it 4 RAE kRN DELTa I 4 fedi sk, % md

:CALCulate:MARKer[1]|2]3|4|5|6|7]8:MODE
REME | PE
BAE | [E

i FE T
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SIGLENT

SR LTI JEhr> A Fhr—31 5
25451 :CALCulate:MARKer2:DELTa:SPAN
4.4.1.15 XArEEE P30
(:CALCulate:MARKer[1]|2]|3]4|5|6|7|8:DELTa[:SET]:CENT
er)
& 4% 3| [|CALCulate:MARKer[1]|2|3|4|5|6|7|8:DELTa[:SET]:CENTer
i B Jﬂ‘ﬁﬁﬂ X Hi Z A8 B E 9O A
It A4 R ekt 8 DELTa A BE4 %0, &% 4w
4-:CALCulate:MARKer[1]|2|3]4|5|6|7|8:MODE
SRR
REME | [
BIME | B
S LI JEbR> A Jehs— A
25151 :CALCulate:MARKer3:DELTa:CENTer
4.4.1.16 FFriE{E LR

(:CALCulate:MARKer:PEAK:SEARch:MODE)

2| [CALCulate:MARKer:PEAK:SEARch:MODE MAXimum|MINimum
:CALCulate:MARKer:PEAK:SEARch:MODE?
i B e B WA A R f A X
RO 4 2R S 5K
SRR Wzt
SHEHE| MAXimum: 1EIE{E
MINimum: 1&g
REE | [EZEMAXIMIN
ERME | [MAXimum
ST | > R I E SRR
45451 :CALCulate:MARKer:PEAK:SEARch:MODE MINimum
4.4.1.17 WE{HL T RE

(:CALCulate:MARKer:PEAK:THReshold)

a1 R,| [[CALCulate:MARKer:PEAK:THReshold <value>
:CALCulate:MARKer:PEAK:THReshold?

i B T B U T R 2 R I 4 00) R4
A 4 2R 2% A IR 20 R A

SRR [F e, B4 dBm

ZH5 Rl | -200.0 dBm~ 200.0 dBm

IR Al E 77, A7 dBm

PRIME | F140.0 dBm

S FRLI WS > 140 2R T > U4 {1 1 A
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SIGLENT

|§51§U | |:CALCuIate:MARKer:PEAK:THReshoId -50

4.4.1.18 IE{EEX RmFE
(:CALCulate:MARKer:PEAK:EXCursion)

| [CALCulate:MARKer:PEAK:EXCursion <value>

:CALCulate:MARKer:PEAK:EXCursion?

i B BB A R A B AR TR

SHRA| [F AL, $47 dB

ZHEEl| [0 ~200.0 dB

IR [FI{E e, A7 dB

BRIME 15 dB

S HLI W& >4 2% TiC B > V6 (E (w75

kil :CALCulate:MARKer:PEAK:EXCursion 10

4.4.1.19 ¥TFFIE{EF (:CALCulate:MARKer:PEAK:TABLe)

2% [CALCulate:MARKer:PEAK:TABLe ON|OFF|0|1
:CALCulate:MARKer:PEAK:TABLe?

i B ARPAPNGLEL RS
A IE(E R T IR

SR i

2406 | |ONJOFF|0|1

IR (5] {E 0|1

BAE | [0

BT U > U {52

2 A :CALCulate:MARKer:PEAK:TABLe ON

4.4.1.20 IJREUIE{E R EIE (:CALCulate:PEAK:TABLe)

Ak [[CALCulate:PEAK:TABLe?
it B R (B 2R B

iR [Al{E A

ENINIE] W

S LI e 15 > e i

24451 ‘CALCulate:PEAK:TABLe?
4.4.1.21 FAREEIEE

(:CALCulate:MARKer[1]|2]|3]4|5|6|7|8:CPSearch[:STATe])

2k [CALCulate:MARKer[1]|2]|3]4[5]6|7|8:CPSearch[:STATe]
OFF|ON|0]1
:CALCulate:MARKer[1]|2|3]4|5|6]7|8:CPSearch[.:STATe]?
A TP oRESEE Y R I BE

i FE T




SIGLENT

DR LLIEAE T R D e T ORES

SRR | iR A

SHiE]| |OFF|ON|O0|1

IR (B {E 0|1

PAME | [

S T WS AP > 2 2 WA

25451 :CALCulate:MARKer1:CPSEarch ON

4.4.1.22 XFREEEE

(:CALCulate:MARKer[1]|2]3|4|5|6]|7|8:MAXimum)

w4k [[CALCulate:MARKer[1]]2]3]4|5|6|7|8:MAXimum

Wi B DEPMERIE(E, JF TR E DR PR i
U WEEAE AT T I BEAT IR IEAE R, R M HEAT B R, S5
fiir 2>
:CALCulate:MARKer[1]|2]3]4|5|6|7|8:PTPeak:STATe
PR SR B FRIRE R . A B A A A, S E I N
:CALCulate:MARKer:PEAK:SEARch:MODE
:CALCulate:MARKer:PEAK:THReshold
:CALCulate:MARKer:PEAK:EXCursion)

% [ G

BAME | G

oK LI LN

el :CALCulate:MARKer4:MAXimum

4.4.1.23 KRR T—IR{E
(:CALCulate:MARKer[1]|2|3]|4|5|6|7|8:MAXimum:NEXT)

fr 24| [|CALCulate:MARKer[1]|2|3]4|5|6]7|8:MAXimum:NEXT

i Bl DR SR N — MR, FHAEE PR brd
(R CB e S R A, QFRUEERAL . A0 R AAE R %
SHEW T 4
:CALCulate:MARKer:PEAK:SEARch:MODE
:CALCulate:MARKer:PEAK:THReshold
:CALCulate:MARKer:PEAK:EXCursion)

SHM|

IR A E o

PAIME o

S LI WEEAF > —UEAE

515 :CALCulate:MARKer1:MAXimum:NEXT

50 et




SIGLENT

4.4.1.24 ArE B AL IE(E
(:CALCulate:MARKer[1]|2|3]4|5]6|7|8:MAXimum:LEFT)

20| [CALCulate:MARKer[1]|2]3]4|5|6]7|8:MAXimum:LEFT
Wi A DEPRE R LA, IF R E B hRbRIC

KPs CwE WA R, IR AL,
ZHU T a4
:CALCulate:MARKer:PEAK:SEARch:MODE
:CALCulate:MARKer:PEAK:THReshold
:CALCulate:MARKer:PEAK:EXCursion)

24835 1) AAE X A2

SHRM| o

% 8] {E G

BIME G

Sk HL I WA AF > /o U {

45451 :CALCulate:MARKerl:MAXimum:LEFT

4.4.1.25 i ELIEE
(:CALCulate:MARKer[1]|2|3|4|5|6|7|8:MAXimum:RIGHt)

& 4% 3| ||CALCulate:MARKer[1]|2|3]|4|5|6]7|8:MAXimum:RIGHt
L] DG R A A, JF HHEE KDehR bRl

K e M R, TR AL,
SEUF a4
:CALCulate:MARKer:PEAK:SEARch:MODE
:CALCulate:MARKer:PEAK:THReshold
:CALCulate:MARKer:PEAK:EXCursion)

248358 1R AR G A2

EfE | o

PROAME | [

DRI | B> IEE

15451 :CALCulate:MARKerl:MAXimum:RIGHt
4.4.1.26 IZIFEERER

(:CALCulate:MARKer[1]|2|3|4|5|6|7|8:PTPeak)

i 4130 [CALCulate:MARKer[1]|2|3|4]5|6|7|8:PTPeak
L] AT IRIGIEHE R, I IR E bR Frid
RfE | B

EOME | [k

RN E{E> IR

Bl :CALCulate:MARKerl:PTPeak

i FE T
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SIGLENT

4.4.1.27 JERThEE
(:CALCulate:MARKer[1]|2|3|4|5|6|7|8:FUNCtion)

| [CALCulate:MARKer[1]|2|3]|4|5|6|7|8:FUNCtion
OFF|FCOunt|NOISe|NDB
:CALCulate:MARKer[1]|2|3|4]5]6]7|8:FUNCtion?
Wi B W E LR fE
SRR D 6E
SRR | (M2
SHEHE | |OFF: IE# b
NOISe: JthrmgE S
NDB: N dB %
RIEME | M2 OFF|NOISe|NDB
EAME | [OFF
ST | PebrTRE
el :CALCulate:MARK1:FUNCtion NOISe

4.4.1.28 HENRITHARE
(:CALCulate:MARKer[1]|2|3]|4|5|6|7|8:FCOunt[:STATe])

| [[CALCulate:MARKer[1]|2|3]4|5|6|7|8:FCOunt:[:STATe]
ONJOFF|0[1

g W E AR T AR

SR | HiR A

SHEE]| |ONJOFF|0|1

REME | |01

BRAE | [0

ST | PeAsThRE> S L

Ead :CALCulate:MARK1:FCOunt 1

4.4.1.29 BRI

(:CALCulate:MARKer[1]]2|3|4|5|6/7|8:FCOunt:X?)

fr 20| [CALCulate:MARKer[1]|2]3|4|5|6]7|8:FCOunt:X?

i B SEHBOGAR A T E 25 53

IR BB o

BRAE o

S FL I AR DI RE> IR T2

25451 :CALCulate:MARK1:FCOunt:X?
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SIGLENT

4.4.1.30 N dB #3Ei%{E
(:CALCulate:MARKer[1]|2]|3]4|5|6|7]|8:BANDwidth:RESult

?)

& 4% 3| [:CALCulate:MARKer[1]|2|3|4|5|6|7|8:BANDwidth:RESult?

Wi B EEHU N dB A 5 4

REME | A

RME | [

ST | PekRThEE> N dB i %

25151 :CALCulate:MARK1:BANDwidth:RESult?

44131 N dB FHESEE
(:CALCulate:MARKer[1]|2|3]|4|5]6|7|8:BANDwidth[1]|2|3]4

|5|6|7|8:NDB?)

m A [CALCulate:MARKer[1]|2|3|4|5|6|7|8:BANDwidth:NDB <value>
:CALCulate:MARKer[1]]2]3|4]5|6]7|8:BANDwidth:NDB?

Wi B BN dB i 5 25 E

RN | [F Rl

46| [-100 dB ~ 100 dB

iR B E V-

BAME | -3 dB

SR | PerThEg> N dB i 5

25451 :CALCulate:MARK1:BANDwidth:NDB 10 DB

4.4.1.32 k5 X #iEHS R

(:CALCulate:MARKer[1][2|3|4|5|6|7|8:X:READout)

| [CALCulate:MARKer[1]]2|3]|4|5|6|7|8:X:READout
FREQuency|TIME|PERIiod
:CALCulate:MARKer[1]|2]3]4]5|6]7]|8:X:READout?
Wi B B hRTE X FhisEor =0
S ROEARE X il B0 20
SRR | Wz
ZHE | [FREQuency: il
TIME: ]
PERiod: J&1H
R[EME | (M2 FREQ|TIME|PER
2RiME | [FREQuency
DI | PebRTh A>Tk
45451 :CALCulate:MARKerl:X:READout FREQuency

i FE T
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SIGLENT

4.4.2Limit
4.4.2.1 BREAXFFHS (:CALCulate:LLINe:TEST:STARt)

&k | [[CALCulate:LLINe:TEST:STARt
i B B 1T 46

SHEA B

REME | B

IME | [

S LI B 1] >0k

2 A5 :CALCulate:LLINe:TEST:STARt

4.4.2.2 BR&IMXELE (:CALCulate:LLINe:TEST:STOP)

22| ||CALCulate:LLINe:TEST:STOP
i B 5 L R ) 03k

% 8] {E G

BIME G

Sk LI B 1] >3k

el :CALCulate:LLINe:TEST:STOP

4.4.2.3 EHPREIMRIRA (:CALCulate:LLINe:TEST:STATe?)

Sk | [[CALCulate:LLINe:TEST:STATe?
it B S R ) IR S

SHRR B

% 8] {E 0|1

LNNIE] OFF

Sy HL I B 1] >3k

2 17 :CALCulate:LLINe:TEST: STAT?

4.4.2.4 PR#IZIRAS (:CALCulate:LLINe[1]|2:STATe)

25| [CALCulate:LLINe[1]|2:STATe OFF|ON]O0|1
:CALCulate:LLINe[1]|2:STATe?

Wi BB IR HPRAS
ARBR IR

SHEEM | iR

SHEH]| |OFF|ON|O0|1

RZEME | o)1

BRAME | |OFF

ST | PR > PR
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SIGLENT

|§51§ﬂ | |:CALCuIate:LLINe1 :STATe OFF

4.4.2.5 BR%IZE (:CALCulate:LLINe[1]|2:TYPE)

43| [CALCulate:LLINe[1]|2:TYPE UPPer|LOWer
:CALCulate:LLINe[1]|2: TYPE?

LB o B PR
R IBR ) SEA

SHERR| W

SHGEH | [UPPer|LOWer

REE | M

BRINE LINe1 B\ UPPer, LINe2 Eti\ LOWer

LT | PR 1> 4

] :CALCulate:LLINe1:TYPE LOWer

4.4.2.6 BR#I#%5X (:CALCulate:LLINe[1]|2:MODE)

42| |CALCulate:LLINe[1]]2:MODE LINE[POINt
:CALCulate:LLINe[1][2:MODE?

L e B R 4
AR IXBR i 4 5K

SHEA| W

4G [LINE|POINE

REME | e

LNINE] LINE

S BRI B 1] >

2 17 :CALCulate:LLINe1:MODE POINt

4.4.2.7 BR#IZ1IE{E (:CALCulate:LLINe[1]]2:Y)

| [CALCulate:LLINe[1]|2:Y <value>
:CALCulate:LLINe[1]]2:Y?

UL B PR Ze i
AR PR i 2R R

SHCRA| [F R

ZHuH | [400 dBm~330 dBm

REME | A

BRIME 0 dBm

DICHLIR | [BR > 4> 18 S5

255 ‘CALCulate:LLINe1:Y 5dBm

4.4.2.8 BRIFMNE#E (:CALCulate:LLINe[1]|2:DATA)

2 35| [[CALCulate:LLINe[1]|2:DATA <x-axis><ampl>{,<x-axis>, <ampl>}
:CALCulate:LLINe[1]|2:DATA?

L 50 B B 1) L K
B H) R K
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SIGLENT

X s P Y
MR ¥ s A

ZHGE| X 4h: 0~3.2GHz
M&RE: -400 dBm~330 dBm
% B {E Xl P U
AR eI =gt
BRIME X fifi: 0 Hz
M&RE: -50 dBm
Sk BT I il > G 45
ZE 5] :CALC:LLINel:DATA 10000000,-20,20000000,-30

4.4.2.9 BEIMBRFIF N B#E (:CALCulate:LLINe[1]|2:ADD)

fr 4 # | [:CALCulate:LLINe[1]|2:ADD <x-axis>,<ampl>
i B 1 R R T 4
SHER X b A
W . 5 s TR
SHGEH | X 4h: 0~1.5 GHz
e :
REAE | X AR
W . V7 AT
BiME | X4k -1 Hz
g : 0 dBm
SR LTI B 1] >4 2
2 A :CALCulate:LLINe1:ADD 10000000,-20

4.4.2.10 fIB&+5 E PR HBIHL N £
(:CALCulate:LLINe[1]|2:DELete)

& # 3| [|CALCulate:LLINe[1]|2:DELete <number>
i ] I 415 e PR ) )

SR | A

% 8] {E En

BRIME En

Si LTI I ai1] > 8> o3

25151 :CALCulate:LLINe1:DELete 2

4.4.2.11 MHBR<S SBPRHBUFLI &
(:CALCulate:LLINe:ALL:DELete)

2 M| [[CALCulate:LLINe[1]|2:ALL:DELete

Wi ] U] e 08 PR il )

SHM|
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SIGLENT

IR Al G
NN n
S LI B 1] > > o3 4
25451 :CALCulate:LLINe2:ALL:DELete
4.4.2.12 BRIBUFMI 7K 48 28 {ur
(:CALCulate:LLINe:CONTrol:DOMain)
| [CALCulate:LLINe:CONTrol:DOMain FREQuency|TIME
:CALCulate:LLINe:CONTrol:DOMain?
i B T B PRI 7K P B A
A 1) PR 1R 7K - B A
SRR M
ZHjaH | FREQuency: #i%
TIME: Hf/a]
iR (A {E F 2 FREQ|TIME
ERAE FREQuency
S LI PR 1] > 15 B >X Al
25151 :CALCulate:LLINe:CONTrol:DOMain FREQuency
4.4.2.13 BR#IEEMSZE (:CALCulate:LLINe:CONTrol:BEEP)
1% | [CALCulate:LLINe:CONTrol:BEEP OFF|ON|0|1
:CALCulate:LLINe:CONTrol:BEEP?
i Bl T B PR i) s 2%
PR 1) e 1 IR
SRR R
ZHEH| [OFF|ON|O|1
% 8] {E 0|1
BRIME ON
Si LI PR 1) > 15 B >N 4
45451 :CALCulate:LLINe:CONTrol:BEEP OFF
4.4.2.14 BPRFMIXLEE R (:CALCulate:LLINe:FAIL?)
w2 #| |CALCulate:LLINe:FAIL?
it B 23 1) PR ) D 45
SHM|
iR A {E PASS|FAIL
PAIME o
SEHI | G
25451 :CALCulate:LLINe:FAIL?

i FE T
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SIGLENT

4.4.2.15 BRI 3% 5 W B £ (:CALCulate:LLINe:FAIL:STOP)

i &3 | [[CALCulate:LLINe:FAIL:STOP OFF|ON|0|1
:CALCulate:LLINe:FAIL:STOP?

i B TR R ) D0 2 T R 4
) S W B0

SHRR| MR

ZHiE]| |OFF|ON|O0|1

IR (B {E 0|1

PRINE OFF

S HL I B 1) > B > 2R W R 5

2 A5 :CALCulate:LLINe:FAIL:STOP OFF

4.4.2.16 BR&ISAZE®FE (:CALCulate:LLINe1|2:Offset:X)

A1 | [CALCulate:LLINe1|2:Offset:X <value>
:CALCulate:LLINe1|2:Offset:X?

i B T B PR BRI AR A%
IR i) BRI A 7%

SHRA| [

% B {E - w0

BRIME 0 Hz

Sk LI I 1> G 4 > 00 3 i 2

255 :CALCulate:LLINe1|2:Offset:X 1MHz

4.4.2.17 PREINEEE T (:CALCulate:LLINe1|2:Offset:Y)

22| CALCulate:LLINe1|2:Offset:Y <value>
:CALCulate:LLINe1|2:Offset:Y?

Wi o B R A1) RS 2 (i 7
R IR 1) s ABE R P

SHRM| |F

24| 350 dB~380 dBm

REME | AR

ERIAME | [0dBm

oK LT O 1) >t 4 > 52 i A%

25151 :CALCulate:LLINe1|2:Offset:Y 5dB

45 Measurement f5$ 2450
451 5tME (Reflection)

SSA R i RFILTIRE: SVA BRI M A RFIL T RE
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SIGLENT

45.1.1 BEREERIE ([:SENSe]:CAT:RST)

i k0| [:SENSe]:CAT:RST
i i A T A
S| [k

REME | [

A | B

S| (> RGN >
B3 :CAT:RST

45.1.2 BIEXR ([:SENSe]:CAT:FREFlect:TYPE)

fr 20| |[:SENSe]:CAT:FREFlect:TYPE
[:SENSe]:CAT:FREFlect: TYPE?
L i B SR
R SR Y
SHCERA | MR
ZHGE | [OPEN: JTi%
HOS: (JFig+xiik) /2
OL: JTis+5#k
iREIE ) M
BOME | [k
SR | [N > SR R > A
i :CAT:FREFlect:TYPE OL

45.1.3 BEFIE ([:SENSe]:CAT:FREFlect:OPEN)

iR | [:SENSe]:CAT:FREFlect:OPEN
L] I HETT

RIEME | PG

BROAE | PR

ST | [ I > U

15451 :CAT:FREFlect:OPEN

45.1.4 BOESEE ([:SENSe]:CAT:FREFlect:SHORL)

S| [SENSe]:CAT:FREFlect:SHORt
] DR

SHRM| |

RIEME | B

IME | B

SEELIG | N> SO > v

i FE T
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SIGLENT

B

| [ CAT:FREFlect:SHOR

45.1.5 BOERE; ([:SENSe]:CAT:FREFlect:LOAD)

k| [:SENSe]:CAT:FREFlect:LOAD

i ] DR

REME | PG

BOME | B

SRR | > S A > A i

45451 :CAT:FREFlect:LOAD

4.5.1.6 BEEX[ER AR FE
([:SENSe]:MEASure:REFLction[1]]2|3]4|5|6|7|8:RETUrnlo

ss?)

% | [:SENSe]:MEASure:REFLction[1]]2|3|4|5|6|7|8:RETUrnloss?

i ] S E P FE

SRR G

A ELE

BME | [

ST | > RO

el :MEASure:REFLction2:RETUrnloss?

45.1.7 RN RS R
([:SENSe]:MEASure:REFLction[1]|2|3]4|5|6|7|8:COEFfici

ent?)

4% | [:SENSe]:MEASure:REFLction[1]]2]3]4|5|6|7|8:COEFficient?

Wi NS E

IR [FE

BIME | B

SRR | [N SO

515 :MEASure:REFLction3:COEFficient?

4.5.1.8 BN FEIER e

([:SENSe]:MEASure:REFLction[1]]|2|3]4|5|6|7|8:VSWR?)

4| [:SENSe]:MEASure:REFLction:VSWR?

it B SRR B b

SHR|
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SIGLENT

iR (5] {E

ME | [

SERI | [ > S

2 A :‘MEASure:REFLction3:VSWR?

4.5.24R&aTh#EL (ACPR)

4521 EEEWHRE
([:SENSe]:ACPRatio:BWIDth:INTegration)

I [[SENSe]:ACPRatio:BWIDth:INTegration <freq>
[:SENSe]:ACPRatio:BWIDth:INTegration?

Wi B WE FAEE
RSP

SHEM| A8, H4h Hz, KHz, MHz, GHz

ZH | 100 Hz~3.2 GHz

i [l 4E A, HALHz

PAIME 1MHz

DRI | RSP IE D) R SR R E > T 5 1E

&= INSTrument:MEASure ACPR
:ACPRatio:BWIDth:INTegration 20 MHz

45.2.2 SPiEHE

([:SENSe]:ACPRatio:OFFSet:BWIDth[:INTegration])

i |[[SENSe]:ACPRatio:OFFSet:BWIDth[:INTegration] <freq>
[:SENSe]:ACPRatio:OFFSet:BWIDth[:INTegration]?

Wi - RISEE i
RIS TE 9

SHRA | [F A, AL Hz, KHz, MHz, GHz

24| 100 Hz~3.2 GHz

RIEHE | AR, AL Hz

ERAME | [IMHz

SRR | [0 > A T L > A > AR

25451 :ACPRatio:OFFSet:BWIDth 20 MHz

4.5.2.3 SBiEBEIFR

([:SENSe]:ACPRatio:OFFSet[:FREQuency])

LSgi- ="

[:SENSe]:ACPRatio:OFFSet[:FREQuency] <freg>
[:SENSe].:ACPRatio:OFFSet[:FREQuency]?

i i B AR IE 7]
R AR IE 1] B
SRR SR, A7 Hz, KHz. MHz. GHz

i FE T
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SIGLENT

SHEE| [100 Hz~700 MHz

REME | F A, A Hz

NN 3MHz

SR | [ESATIE TR L

s 15 :ACPRatio:OFFSet 20 MHz

4524 BNF{EEIZE (:MEASure:ACPRatio:MAIN?)

2% 0| [MEASure:ACPRatio:MAIN?
AL DN E X P ERTIES

SHEM| T

1% ] {E VS, B dBm

ERINE c

SR LI & >ARIE TR L

el :MEASure:ACPRatio:MAIN?
4.5.2.5 EREI4REThE

(:MEASure:ACPRatio:LOWer:POWer?)

kA | [MEASure:ACPRatio:LOWer:POWer?
i B SRR AR T %

SHA| |

REME | [F SR, A7 dBm

BIME | B

SRR | P E>SARIE TR

e il :MEASure:ACPRatio:LOWer:POWer?
45.2.6 BV M4BE T LL (:MEASure:ACPRatio:LOWer?)
4| [MEASure:ACPRatio:LOWer?

i B SR AT 18 T K L

RIEME | [FA R, #AL dBm

BAME | B

SERTI | [ E>ARIE TR T

2 A :‘MEASure:ACPRatio:LOWer?

4.5.2.7 EBESN4RETh R
(:MEASure:ACPRatio:UPPer:POWer?)

k%30 MEASure:ACPRatio:UPPer:POWer?
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SIGLENT

s B
SHGuE | B

BRI | [ A%, i dBm

HNE | [

SR | [ME>SARE IR

25451 :MEASure:ACPRatio:UPPer:POWer?

4528 M EH4EINZE L (:MEASure:ACPRatio:UPPer?)

| [MEASure:ACPRatio:UPPer?
i B R EX e AT 3 1) e b
SHRM| o

IR A - w0

BRIME G

Si LTI N >4 T8 TR L

el :MEASure:ACPRatio:UPPer?

4.5.3{518I1% (CHP)
4531 9% % ([:SENSe]:CHPower:BWIDth:INTegration)

ik [:SENSe]:CHPower:BWIDth:INTegration <freq>
[:SENSe]:CHPower:BWIDth:INTegration?
Wi BCE M T
AR 717
SHER| PF SR, 5§47 Hz. KHz, MHz. GHz
SH | [100 Hz~3.2 GHz
TN 0~1.5 GHz
RAME | AR, BT Hz
BRAME | 2 MHz
DRI | [ E > T S E B S
45451 :CHPower:BWIDth:INTegration 1.0 GHz
4.5.3.2 TP F

([:SENSe]:CHPower:FREQuency:SPAN:POWer)

| [:SENSe]:CHPower:FREQuency:SPAN:POWer
Ui ] A5 T8 1 0 (A % B AR A B

RIEME | G

SIME | [

SEER | N E>EIE DS R B> R

25451 :CHPower:FREQuency:SPAN:POWer

i FE T
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SIGLENT

4.5.3.3 EEYSETIEMINFREFHE (:MEASure:CHPower?)
o IMEASure:CHPower?

LA A I ) 3 T A

EEE | A, (S Ef dBm
VA, ThER LA dBm/HZ

PRINE v
SE FLII &> (5 1E T %
2545 ‘MEASure:CHPower?

4.5.3.4 EEYE18IHE (:MEASure:CHPower:CHPower?)

4| [MEASure:CHPower:CHPower?
i B EAEREREES
REME | FF AR, (FEE AL dBm

BRINE G
Si HL I & >15 18 Th R
2151 :MEASure:CHPower:CHPower?

45.35 EEYSEIhRLFZE (:MEASure:CHPower:DENSity?)

ot | MEASure:CHPower:DENSity?
i B L5 T8 V) Ze il %

SHEA| o

R[EME | AR, DhEE R AT dBm/HZ

PUME | [E
LT | R EIET R
il :MEASure:CHPower:DENSity?

45.45FF% (OBW)

45.4.1 i+ 8E5%E ([:SENSe]:OBWidth:METHod)

a5k [ SENSe]:OBWidth:METHod PERCent|DBC
[:SENSe]:OBWidth:METHod?

i B B b e T SR VA
SREX 5 7 o v E L
ZHiE | [PERCent: H ot
DBC: dBc

iR BB S
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SIGLENT

BOME PERCent

SR | N> A TR >IN Y B > T i

2545 ‘OBW:METHod PERCent

4542 SERAHEBESE ([:SENSe]:0BWidth:PERCent)

k| [:SENSe]:OBWidth:PERCent <para>
[:SENSe]:OBWidth:PERCent?

Ui VB A b
S 5 A 9 b

SHRT |

SHTE | [10~99.99

REAE | A

ERINE 09

SRR | S S A TS TR R E > %

el :OBW:PERCent 50

45.4.3 % dBc ([:SENSe]:0OBWidth:XDB)

A [:SENSe]:0OBWidth:XDB <value>
[:SENSe]:0BWidth:XDB?

AL & T e dBe 1E
SEL 5 A % dBe 3

SRR S

S| 10.1~100

1% [Al{E NE it

LN 26

SERLT | N> A SR >IN W B > dBc

25151 :OBWidth:XDB 3

45.4.4 B RHEEMERSFL (MEASure:OBWidth?)

i 45| [MEASure:OBWidth?

Wi S Y 7 FH A o AN 58 RO

REME | SR, BT Hz

ERINE c

SEEATE | [N A

24451 ‘MEASure:OBW?

45.45 BN EBAEE (:MEASure:OBWidth:OBWidth?)
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| [:SENSe]:TPOWer:FREQuency:CENTer <freg>
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| [ TRIGger[:SEQuence]:VIDeo:LEVel <value>
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[.:SENSe]:DEMod:TIME?

i B B R 1]
S HYfEE 1A st T]

SHRM| 7R, $A47 ms. us. s

ZHEE | 15 ms ~1000 s

REME | [FSA, HALs

INE | s

ST | R

kil DEMod: TIME 5 ms
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5.1.443% ([:SENSe[ch]]:FREQuency:SPAN)

w2 [:SENSe[ch]:FREQuency:SPAN <freg>
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:-TRACe[1]|2|3|4:HOLD?
i B PaERURA TS STt
SR IR 28 R E 2R Y
SHA | W
SHGEHE | [OFF: %A
MAX: f KIRHF
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SIGLENT

MIN: /MRS

iR Al OFF
MAX
MIN
FRIME OFF
S LI TR ST AR R
2 1] ‘“TRACe2:HOLD MAX

5.6.6 B HiE S FI B F iE %R
(:CALCulate[ch][:SELected]:MATH:MEMorize)

& 4% 3| [:CALCulate[ch][:SELected]:MATH:MEMorize
Wi B N HE 2 1) 2 A7 e
% B
ERIAME
LI | RS EAE-> N AE
el :CALCulatel:SELected:MATH:MEMorize
5.6. 785
(:CALCulate[ch][:SELected]:MATH:FUNCtion)
A& | | CALCulate[ch][:SELected]:MATH:FUNCtion
:CALCulate[ch][:SELected]:MATH:FUNCtion?
WOl | [BerkAl
SRR Wz
Z¥50E | DIVide
MULtiply
SUBtract
ADD
OFF
R | (M
BRIME | |OFF
R | (I HC
25151 :CALCulatel:SELected:MATH:MEMorize
5.6.8M A L BLEHE

(:CALCulate[ch][:SELected]:DATA:FDATa)

:CALCulate[ch][:SELected]:DATA:FDATa
:CALCulate[ch][:SELected].DATA:FDATa?

BB A A% AU B B HeAl

s NOP Gl & s i) *2 RS EdE O s B 841D . n

4 1 5 NOP [ 1) RE 2
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SIGLENT

o HE (n2:2): & n AW AREEE (D
o HOE (n°2-D: 3 ANURNEDE D
. HUFSI 0 JF

> B

R | R

ER LA

A

21 :CALCulate:DATA:FDATa 1,0,0.5,1

5.6. 9L A FRAERIE

(:CALCulate[ch][:SELected]:DATA:FMEMory)

m A1 [CALCulate[ch][:SELected]:DATA:FMEMory
:CALCulate[ch][:SELected]:DATA:FMEMory?
1 HH T B B A s A A AR
SRR R NOP GIll& S EE) *2 Mg Eids O a4 . n
1 %) NOP 2 [ 35,
o IR (n*2-2): ZF n NE S (S5
o U (n*2-1): % n NE S EE (F‘%B)
o BHZEGIMN 0 A
W EIEE) A7
ENNEN
oK LI
21 :CALCulate:DATA:FDATa 1,0,0.5,1

5.6.10 | &ilr 2k F 1 8
([:SENSe]:AVERage:TRACe[1]|2|3|4:COUNt)

At [[SENSe]l:AVERage: TRACe[1]|2]|3|4:COUNt <integer>
[:SENSe]:AVERage:TRACe[1]|2|3|4:COUNt?

i B B IR 2

SRR | [

SHaHE | |1 ~999

REE | A

BRME | |100

DL | [>T

21 :AVERage: TRACe:COUNt 200

5.6.11 8K &FHRS
([:SENSe]:AVERage:TRACe1|2|3]|4:STATe)

i A% 2\

[:SENSe]:AVERage:TRACe1|2|3|4:STATe OFF|ON|0|1
[.SENSe]:AVERage: TRACe1|2|3|4:STATe?
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SIGLENT

i A ISR BB A IR HRES
SHCRA| R

SHiE]| |OFF|ON|O0|1

R[EME | O]

ZRANE | |OFF

CEELI | IR

24 :AVERage:TRACe1:STATe ON

5.6. 12 T Bl F R

([:SENSe[ch]]:AVERage:COUNt)

A5 [:SENSe[ch]]:AVERage:COUNt <integer>
[:SENSe[ch]]:AVERage:COUNt?

Wi B B T A T 2 R
SRIBUZEER P 3k 8 CH BTBROAIEZR 1D

SRR | [

ZHGER| [1~999

REE | A

BRIME | |100

SR | PIRZ> T IREL

25451 :AVERage:COUNt 200

5.6. 13 BIELEIHIRT

([:SENSe[ch]]:AVERage: TRACe1|2|3[4:STATe)

LiSgi- ="

[:SENSe[ch]]:AVERage:STATe OFF|ON|0|1
[:SENSe[ch]].AVERage:STATe?

Wi B A IR SR BB T AP RIS
VA A S N BRI ()~ BPRAS CBRINIEZE 1)
SR | HiR A
ZHVEHI| [OFF|ON|O[1
R[EME | O]
PRIME | |OFF
LI | [>T
s 15 :AVERage:TRACe1:STATe ON

5.7 F#w

5.7.1FF %3¢ 4R
(:CALCulate[ch]:MARKer[1]|2|3|4|5|6|7:STATe)

LSgi- ="

:CALCulate:MARKer[1]|2[3|4||5|6|7STATe OFF|ON|0|1
:CALCulate:MARKer[1][2[3]4||5]6|7:STATe?

i FE T
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SIGLENT

it B B YRR T IR
SREUOEPR T IR

SHA| R

ZHEHI| [OFF|ON|O[1

REME | o)

RilE | |OFF

S LI R

2 A :CALCulate:MARK1:STATe ON

5.7. 2% ER

(:CALCulate:MARKer[1]|2|3|4|5|6|7:MODE)

43| [CALCulate:MARKer[1]|2|3|4|5|6|7:MODE POSition|DELTa|OFF
:CALCulate:MARKer[1]|2|3|4|5|6]|7:MODE?
Ui ] WA
RO AR
SHCERM | Wz
DELTa: %14
OFF: 2[4
IR[EE | |Fz%: POS|DELT|OFF
BRIME | |OFF
Sk HL I R
el :CALCulate:MARK1:MODE POSition
5.7.3%FRR X HIKY{E

(:CALCulate[ch]:MARKer[1]|2|3]4|5|6]7:X)

w22 [CALCulate:MARKer[1]|2]|3]4|5|6]|7:X <para>

:CALCulate:MARKer[1]|2]3]4[5]6]7:X?
i B BB AR A X B

i*%%ﬁ e X A

ﬁﬁé\ﬂf fcﬁ@%ﬁﬂt OFF I 4 e 24

SRR PR, , P Hz. kHz. MHz. GHz, ZRi\ Hz
4| [100 kHz ~ 3.2 GHz
IR BB
NN 1.60005GHz
S FL I Jehr> 1E 5
25451 :CALCulate:MARKer4:X 0.4 GHz
5.7.4% R Y #HAYE

(:CALCulate[ch]:MARKer[1]|2|3|4|5|6|7:Y?)

[67 44 3X] [CALCulate:MARKer[1]2|3]4/5/6]7:Y?
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SIGLENT

i B S HOERR ALY BhAE
SHCRA B

REME | e

ME | [

S LI

2 A :CALCulate:MARKer1:Y?
5.7.58F NIRRT

(:CALCulate[ch]:[SELected]:MARKer [1]2|3|4||5|6|7
REFerence[:STATe])

m At | [CALCulate[ch][:SELected]:MARKer:REFerence[:STATe]
:CALCulate[ch][:SELected]:MARKer:REFerence[:STATe]?

Wi B B Sk RARZE, & E A ON I HAth 24T TR e hr 2R AL o 2
{E, OFF I AT T B hR BB N AN

SRR (R

S ¥l |OFF|ON|O0|1

i [EfE | O

ERAME | |OFF

S LT

Gl

5.7 6 XAREFESAR T

(:CALCulate[ch][:SELected]:MARKer[1]|2|3|4|5|6|7:

DISCrete)

w1 | [CALCulate[ch][:SELected]:MARKer:DISCrete OFF|ON|0|1
:CALCulate[ch][:SELected]:MARKer:DISCrete?

! W E AT EOUhR AR L (FRid RN & S sl D
ﬁﬁﬁﬁﬁ A AR AR 25

SRR | iR

ZH OFF|ON|0|1

iz EHE | o)1

ERIAE | |ON

ST | pbr>dRitst

el :CALCulate:SELected:MARKer:DISCrete?

5.7.7X¥xEX

(:CALCulate[:SELected]:MARKer:AOFF)

o | [[CALCulate:MARKer:AOFF
i HA o MY BT 2R T kR

i FE T
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SIGLENT

iR 15

FOME

DI HRL T

oft [ eft et ert et

B

:CALCulate:MARKer:AOFF

5.7. 8B ENRTS
(:CALCulate[ch][:SELected]:MARKer:COUPIle?)

| [CALCulate[ch][:SELected]:MARKer:COUPle OFF|ON|0|1
:CALCulate[ch][:SELected]:MARKer.COUPIle?
Wi B WA WA IR A SRS
A T RSO SRS
S| iR
ZHEHI| [OFF|ON|O[1
i [HE 0|1
ERIME | |OFF
ST | PR
K] :CALCulate:SELected:MARKer:COUPIle?
5.7. 9XFRIEER R

(:CALCulate:MARKer[1]|2]3|4|5|6|7:MAXimum)

2t | [:CALCulate:MARKer[1]|2|3|4|5|6|7:MAXimum

Wi B DEPRIEE R R AN, ih PRl
FHi:CALCulate[ch]:PARameter[1]|2|3|4|5|6|7:SELect @4

EfE | o

PROAME | [

I | > IEE

el :CALCulate:MARKer4:MAXimum

5.7. 10X AERER

(:CALCulate:MARKer[1]]2|3|4|5|6|7:MINimize)

45| [[CALCulate:MARKer[1]|2|3|4:MINimize

Wi A DR AHEHE R, MR AL, Ll
FH:CALCulate[ch]:PARameter[1]|2|3|4|5|6|7:SELect #ir %

SR

i [l 4H
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SIGLENT

NN
S T WA >AHE
21 :CALCulate:MARKer4:MINimize
5.7. 116 KR ESIEE
(:CALCulate:MARKer{1]|2|3|4|5|6|7:CPSearch[:STAT
e])
A [CALCulate:MARKer[1]|2|3|4|5|6|7:CPSearch[:STATe]OFF|ON|0|1
:CALCulate:MARKer[1]|2|3|4|5|6]|7.CPSearch[:STATe]?
Wi B T RIE LI (H I R D fE
RIS H IR R DI RE T RRE
SRR | iR
S ¥l |OFF|ON|O0|1
zEHE | 01
OB | B
oK LI WEEAE >1% 22U AH
el :CALCulate:MARKerl:CPSearch ON
5.7. 12 ESEARE
(:CALCulate:MARKer[1]|2|3|4|5|6|7:CVSearch[:STAT
e])
A& [CALCulate:MARKer[1]|2|3|4|5|6|7:CVSearch[:STATe]OFF|ON|0|1
:CALCulate:MARKer[1]|2|3]|4|5|6]|7:CVSearch[:STATe]?
Wi B TF LA H A R TN RE
RIBGEZEAE IR R IIRETT SRS
SRR | iR
ZHuHE | |OFF|ON|0J1
zEHE | o)1
PROAME | [
oK LI WEAE > 1% S H
el :CALCulate:MARKerl:CVSearch ON
5.7.133%#R B IR IR

(:CALCulate:MARKer[1]|2|3|4|5|6|7[:SET]:START)

A%

:CALCulate:MARKer[1]|2|3|4|5|6|7[:SET]s:START

LA

Reehs X e B BN IR AR, SEhsiT TP AT 2L

i[5

ERIAE

ot et {ert | et

i FE T
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SIGLENT

S LI Hehr> )G bR —
25151 :CALCulate:MARKer1:START
5.7.14¢#RB 28 1L 3 2

(:CALCulate:MARKer[1]|2|3|4|5|6|7[:SET]:STOP)

26| [[CALCulate:MARKer[1]|2|3]4|5|6|7[:SET]:STOP
i B K hR X A I AE 1 BN 2B
IR Al G
NN n
S LI JehR> bR —2¢ ik
s 15 :CALCulate:MARKer1:STOP
5.7 153 HRE g
(:CALCulate:MARKer[1]|2|3|4|5|6|7[:SET]:CENTer)
45| [[CALCulate:MARKer[1]|2|3]|4|5|6|7[:SET]:CENTer
i B O EhR X R AE 152 B LA
IR A G
BRINE wn
Si LTI bR br— H A
el :CALCulate:MARKerl:CENTer
5.7.16 ¢ fREEEIFATRE
(:CALCulate:MARKer[1]|2|3|4|5|6|7:DELTa[:SET]:SP
AN)
2| [[CALCulate:MARKer[1]|2|3]4|5|6|7:DELTa[:SET]:SPAN
Ui ] My%ﬁﬁ X My 2w E A%
Iy 4 RAEehrii 2 DELTa It A feA%, %4
:CALCulate:MARKer[1]|2]3]4|5|6]7:MODE
IR Al G
BRIME G
S HLI JEbR> A b~ %
45451 :CALCulate:MARKer2:DELTa:SPAN
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SIGLENT

5.8 M=
5.8. MBS

( :CALCulate[ch]:PARameter[1]2|3|4:DEFine)

m A | [CALCulate[ch]:PARameter[1]2|3|4:DEFine
:CALCulate[ch]:PARameter[1]2|3|4:DEFine?
Wi W paseutsallhie 2
R Z I & 24
SRR | (M2
ZHGE R [S11
S21
R EME | (M
BRAME | [S11
DI | [
el :CALCulatel:PARameter2:DEFine S11

5.8.2% #& #& X (:CALCulate[ch][:SELected]:FORMat)

2| [CALCulate[ch][:SELected]:FORMat
:CALCulate[ch][:SELected]:FORMat?
Wi B o BN A A A =X
R BN 2 e A =X
SRR | (M2
SHTEHE | [MLOGarithmic: 45 & X B #% 5%

PHASe: f& @Ak

GDELay: 45 #E AR

SLINear: 752 L& ERME R (RMIEAELD
SLOGarithmic: #&5E st % W RS GHEUMAD
SCOMplex: i L% WA (SEBE D
SMITh: #55E s E R (R+XO
SADMittance: #&5E % HEEEK (G+B)
PLINear: #55EMPEr (RMEAEAD
PLOGarithmic: f&@EM M= G 8/ AD
POLar: 5@ CSZEpEEED

MLINear: #55& 2k Mg FE 4% =X

SWR: F55E 3E i Lhag =X

REME | g

BAME | SRR

ST | [ > A

45 :CALCulate1:FORMat SWR

i FE T
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SIGLENT

5.8.3u/ ¥ BRI %
([:SENSe[ch]]:CORRection:EXTension[:STATe])

| [:SENSe[ch]]:CORRection:EXTension[:STATe]
[:SENSe[ch]]:CORRection:EXTension[:STATe]?
Wi B =R IRENESISS
R I RRES
SHRM| Wik
S ¥l |OFF|ON|O0|1
xEHE | 01
ERAME | |OFF
oK LTI I > K > I Y&
el :CORRection:EXTension ON
5.8.4% REL O MRS
([:SENSe[ch]]:CORRection:EXTension:PORT[1]2:TI
ME)
| [:SENSe[ch]]:CORRection:EXTension:PORT[1]2: TIME
[:SENSe[ch]]:CORRection:EXTension:PORT[1]2: TIME?
Wi B BB i 1] ZE
L R i ] SE IS
SHRM | [ A
ZHGaH
REHME | R
EAME | 0
CEERI | [ > R > i YR > ZEH)
45451 :CORRection:EXTension:PORT1:TIME
5.8.5iRFEHF

([:SENSe[ch]]:CORRection:RVELocity:COAX)

| [:SENSe[ch]]:CORRection:RVELocity: COAX
[:SENSe[ch]]:CORRection:RVELocity: COAX?
i B BT R IR R T
R i o 1 A 1
SRR [
ZHGEHE| 0.1 ~1
REME | AR
ERIME | |0.66
DRI | > RHE > I TR > A T
25451 [:SENSe[ch]]:CORRection:RVELocity:COAX 0.5
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SIGLENT

5.8.6 H &Y FF B O
([SENSe[ch]]:CORRection:EXTension:AUTO:PORT)

fir k| [SENSe[Ch]]:CORRection:EXTension:AUTO:PORT
it B Har RS2 fFEshFT P 1, off B8 B AN b 3
SRR R A

SHGEE | fERA, 1

1 [Al{E

BRINE

S HLII O > AR UE > u PR > HshF] i 1

kil :CORRection:EXTension:AUTO:PORT 1,0N
5.8. 70 E RO
([:SENSe[ch]]:CORRection:COLLect[:ACQuire]:LO
AD)

4% | [:SENSe[ch]]:CORRection:COLLect[:ACQuire]:LOAD
it B e N A B AL AT T AR i &

SHRA | [

ZHEH | [1

iR (A {E

BRINE 1

S LI

el :CORRection:COLLect:LOAD 1

5.8.8FF B RE
([:SENSe[ch]]:CORRection:COLLect[:ACQuire]:OP
EN)

2t | [:SENSe[ch]]:CORRection:COLLect[:ACQuire]:OPEN
i B 2 N T 8 S AE A PR A T T B AR U

SHCRTY | R

SHGEHE | [1

iR 5]

BRINE 1

S HL I

25 A :CORRection:COLLect:OPEN 1

i FE T
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SIGLENT

5.8. 95 BRI
([:SENSe[ch]]:CORRection:COLLect[:ACQuire]:
SHORt)

24| [:SENSe[ch]]:CORRection:COLLect[:ACQuire]:SHORt
i B e N A T A A T A U

SHGEE | [1

iR (5]

PRIME 1

SR LI

21 :CORRection:COLLect:SHOR 1

5.8.10)3—4k
([:SENSe[ch]]:CORRection:COLLect[:ACQuire]:TH
RU)

1| [:SENSe[ch]]:CORRection:COLLect[:ACQuire]: THRU
i B P N BB A HE A AT BB AR i

et tiut

SHGUE| 1, 2 (SEChImEIT 1A 2)

iR (6]

BRIME 1, 2

S LI

25151 :CORRection:COLLect: THRU 1,2

5.8.11K M

([:SENSe[ch]]:CORRection:COLLect:CKIT:LABel)

At [:SENSe[ch]]:CORRection:COLLect:CKIT:LABel
[:SENSe[ch]]:CORRection:COLLect:CKIT:LABel?

Wi BB R HET
AR HET

SRR | (M2

ZHGukH| ["F503ME", "85032F”,"85036B/E” (Z %4 NI XL 5|5 )

iR [ "F503ME", "85032F”,” 85036B/E”

PAIME "F503ME"

SEFRI | [ > R > RHEL

21 :CORRection:COLLect:CKIT:LABel’85032F”
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SIGLENT

5.8. 128 E Rk 36 E
([:SENSe]:CORRection:COLLect:CKIT:GENDer)

| [:SENSe]:CORRection:COLLect:CKIT:GENDer
[:SENSe]:CORRection:COLLect:CKIT:GENDer?
Ui ] WE R
AR AR
SHCRAL| |7
ZHuH | [Male
Female
R (8] {E Male
Female
ERAE Male
S LI W& > KE > BELE
21 :CORRection:COLLect:CKIT:GENDer Female
5.8. 13& T BRGES
([:SENSe[ch]]:CORRection:COLLect:CKIT:LABel:C
ATalog?)
1| [:SENSe[ch]]:CORRection:COLLect:CKIT:LABel:CATalog?
Ui ] A ) T BT
S
IR Rl "F503ME", "85032F”,” 85036B/E”
PAIME
oK LT
el :CORRection:COLLect:CKIT:LABel:CATalog?

5.8.141 I O K A
([:SENSe[ch]]:CORRection:COLLect:METHod:SOLT

1)

4| [:SENSe[ch]]:CORRection:COLLect:METHod:SOLT1
it B B ARESR AN 1 i TR E

S|

SHIE |1

IR Al

ERIME

SEERT | [ > R > 1 o TR

25451 :CORRection:COLLect:METHod:SOLT1 1

i FE T
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SIGLENT

5.8.15Y3—1k
([:SENSe[ch]]:CORRection:COLLect:METHod[:RES
Ponse]:THRU)

4% | [:SENSe[ch]]:CORRection:COLLect:METHod[:RESPonse]:THRU

i B W E RO H—

SR PRE (1, 2)

i [F]

ERE

SCEL | [l > R HE > H—fK

25451 :CORRection:COLLect:METHod: THRU 1,2

5.8.16 EFiaKIEF T
([:SENSe[ch]]:CORRection:COLLect:METHod:TYPE

?)

Sk | |[:SENSe[ch]]:CORRection:COLLect:METHod: TYPE?

L] AR T

SR

IR A "NONE", "1PORT", "THRU" (Enheneed Response & A s )

ERAME

B

25451 :CORRection:COLLect: METHod: TYPE?

5.8. 178 KIERIE
([:SENSe[ch]]:CORRection:COLLect:CLEar)

1| [:SENSe[ch]]:CORRection:COLLect:CLEar

i 1 T SR AR A

Y EIRE]

NN EN

CEHRI | [E > K > IR

25151 :CORRection:COLLect:CLEar

5.8.18KRLESER R A RGERAR

([:SENSe[ch]]:CORRection:COLLect:SAVE)

67443t [ SENSe[ch]]: CORRection:COLLect: SAVE
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SIGLENT

i B N FH A HE B4

SHCRA B

REME | B

ME | [

S LI

2 A :CORRection:COLLect:SAVE

i FE T
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SIGLENT

6.7 E R T HTIR

IS HF SVA1000X F A S &I M 45 73 T A o

6.1 SHERIH

6.1.1505% ([:SENSe]:FREQuency:CENTer)

A [:SENSe]:FREQuency:CENTer <freq>
[:SENSe]:FREQuency:CENTer?

Wi B A=A lIY 7 B
EELIRENES

SHCER| A8, A Hz, kHz, MHz. GHz

Z i | [100.05 kHz ~ 3.199999950 GHz

REME | FEAA, AL Hz

ZRAE | [1.60005 GHz

DT | PRSP AR

45451 ‘FREQuency:CENTer 0.2 GHz
:SENSe:FREQuency:CENTer 0.2 GHz

6.1.2#2Ma5M* ([:SENSe]:FREQuency:STARt)

i [[SENSe]:FREQuency:STARt <freq>
[:SENSe]:FREQuency:STARt?

Wi B A IR
EELIESEEES

SHCRM| FS 8, $47 Hz, kHz. MHz. GHz

Z ik | 100 kHz ~ 3.1999999 GHz

A EIEIEN VR, AL Hz

BAIME 100 kHz

DL | PRSI HIUE

21 :FREQuency:STARt 10 MHz

6.1.32%1L35% ([:SENSe]:FREQuency:STOP)

| [:SENSe]:FREQuency:STOP <freg>
[:SENSe]:FREQuency:STOP?

Wi A B 2 AR
DRI ES

SRR a8, A Hz, kHz, MHz, GHz

S ¥l | [100.01 kHz ~ 3.2 GHz

REE | R, B Hz

HAE | 3.2 GHz
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SIGLENT

DI HRL T

S IIRIES

B

‘FREQuency:STOP 1.0 GHz

6.1.4¥9% ([:SENSe]:FREQuency:SPAN)

K| [:SENSe]:FREQuency:SPAN <freqg>
[:SENSe]:FREQuency:SPAN?

Wi B Ba=RENWNG)
R LEE WA

SHRA| [(F 8, HAL Hz, kHz. MHz, GHz

ZHukE | 100 Hz ~ 3.1999 GHz

% 8] {E VR, AL Hz

PRINE | [3.1999 GHz

SR | [ E >

245 :FREQuency:SPAN 1 GHz

6.2 MR

6.2.1BZZIE
(:DISPlay:WINDow:TRACe[1]]2|3|4:Y[:SCALe]:AUT

0)

43| [:DISPlay:WINDow:TRACe[1]|2]3]4:Y[:SCALe]:AUTO

Wi WE H B2

sy [k

EfE | o

PROAME | [

I | (> B Bh 2 E

255 :DISPlay:WINDow:TRACe2:Y:SCALe:AUTO

6.2.28EH

(:DISPlay:WINDow:TRACe[1]|2|3|4:Y[:SCALe]:RLEV

el)

| [DISPlay:WINDow:TRACe:Y[:SCALe]:RLEVel <value>
:DISPlay:WINDow:TRACe:Y[:SCALe].RLEVel?

Wi B WHESE T
PHSH T

SHCRM| [F R, $fr dB

ZHE | 1100 dB ~ 100 dB

RIEME | [

BRIME | 0dB

i FE T
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SIGLENT

I | [R>S E T

&l :DISPlay:WINDow:TRACe:Y:RLEVel 20 DB

6.2.3ZIE /&

(:DISPlay:WINDow:TRACe[1]|2|3|4:Y[:SCALe]:PDIVi

sion)

| [DISPlay:WINDow:TRACe:Y[:SCALe]:PDIVision <integer>
:DISPlay:WINDow:TRACe:Y[:SCALe]:PDIVision?

Wi B T B IR B R IS R 2
S EUIIT 24 50 B s I 1) 20

SRR | (A8, $f7dB

2 ¥ | 0.1 dB ~ 10 dB

RIEME | AR

PRAE | 5dB

DI | [R>S ZI S

el :DISPlay:WINDow:TRACe:Y:PDIVision 10 DB

6.3 FAF{=H

6.3.18% 3% CINITiate[:IMMediate])

2| [[INITiate[:IMMediate]
i B AT —1K single sweep
BRI o

PROAME | [

LI | [

15451 :INITiate:IMMediate

6.3. 2% AR FF % CINITiate:CONTinuous)

2| [INITiate:CONTinuous OFF|ON|0]1
:INITiate:CONTinuous?

Wi 1 TF oA
DI SE AT i T AR

SRR iR A

ZHu | JOFFJON|0]1

IR Rl 0|1

B | [ON

S LI F >4

e /INITiate: CONTinuous OFF
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SIGLENT

6.4 Lk

6.4. 18 #EikLk B~ (DISP:WINDow:TRACe:STATe)

k5| |[DISP:WINDow: TRACe:STATe
DISP:WINDow: TRACe:STATe?

i B i IR 2 s

SHRM | Wik A

S | |OFF|ON|0J1

% 8] {E 0|1

e ON

SEHRI | > R

1) DISP:WINDow:TRACe:STATe OFF

6.4.2FF R B R

(DISP:WINDow:TRACe:MEMory:[STATe])

| |[DISP:WINDow: TRACe: MEMory [:STATe]
DISP:WINDow: TRACe: MEMory [:STATe]?

i B (7 fi R 28 W7

SHRM | Wik A

S ¥l |OFF|ON|O0|1

BRI 0|1

ERIME | [OFF

SEERI | RS> R

45451 DISP:WINDow:TRACe: MEMory OFF

6.4. 3B LR EHFI B FHEHE
(:CALCulate[:SELected]:MATH:MEMorize)

iy 21

:CALCulate[:SELected]:MATH:MEMorize

!

N A B B A i R

SHRM

iR Bl

ERIAEL

SICHALTI

2> HdlE —~ AT

il

:CALCulate:SELected:MATH:MEMorize

6.4.4FF¥% ¥ ([:SENSe]:AVERage:COUNTt)

LSgi- ="

[:SENSe]:AVERage:COUNt <integer>
[:SENSe]:AVERage:COUNTt?

i FE T
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SIGLENT

Wi B VB IS 2 R
R 2 1~ 2 K

S|

ZHGEH| [1 ~999

R EME | R

ZRIAE | [100

LI | >

25451 :AVERage:TRACe:COUNt 200

6.4.5FRAE ([:SENSe]:AVERage:STATe)

| [:SENSe]:AVERage:STATe OFF|ON|O|1
[:SENSe]:AVERage:STATe?

Wi B B LR ) 3 K
AREUZRER 1T 3 I

SRR | iR

SHiE]| |OFF|ON|O0|1

zEHE | o1

ERAME | |OFF

LI | RS>

45451 :AVERage:TRACe:STATe ON

6.5 JtErR

6.5.1FF %345 (:CALCulate:MARKer[1]|2|3]|4:STATe)

w1 [CALCulate:MARKer[1]|2|3|4|:STATe OFF|ON|0|1
:CALCulate:MARKer[1]|2]|3]|4]|:STATe?

i B WE AR TT IR
RO T IOIRES

SHRM | Wik A

ZHEH| [OFF|ON|OJ1

% 8] {E 0|1

PRIME | |OFF

Si LTI PARUZE

45451 :CALCulate:MARK1:STATe ON

6.5.23%¢451&3, (:CALCulate:MARKer[1]|2|3|4:MODE)

m | [CALCulate:MARKer[1]|2|3|4:MODE POSition|DELTa|OFF
:CALCulate:MARKer[1]|2|3]4:MODE?

Wi BCE DGR
RBOER

SRR | (M2
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SIGLENT

SHjul | [POSition: 1E%H
DELTa: #1&
OFF: <[4
R[EE | |Fezé: POS|DELT|OFF
BIME | |OFF
SEHI | Db
%451 :CALCulate:MARK1:MODE POSition

6.5.3%#5m X #hAY{E (:CALCulate:MARKer[1]|2]3]4:X)

25| [CALCulate:MARKer[1]|2|3]|4:X <para>
:CALCulate:MARKer[1]|2|3|4:X?

Wi B BB DGRR A X Al HE
SLHOEAR AL X il

by 2 R ehaiiz(aE OFF I A BEERL, %54
:CALCulate:MARKer[1]|2|3|4:STATe
:CALCulate:MARKer[1]|2]3]4:MODE

SR (KB, A, BfAim

SHGEH| 0m~14.25m

IR Al VR, B m

ENINE] 7.12 m

S LI Jehr> 1E

Bl :CALCulate:MARKer4:X 0.4 m
:CALCulate:MARKer4:X?

6.5.43%FRR Y 3HAYE

(:CALCulate:MARKer[1]|2|3|4:Y?)

it | [|CALCulate:MARKer[1]|2|3|4:Y?
i B CLHOEAR ALY BE, R TS BOGAR D Re 0GR R

PAT AT 2 TGO C a2 THE OFF IRZE, SHK w4
:CALCulate:MARKer[1]|2|3|4:STATe
:CALCulate:MARKer[1]|2|3]4:MODE

Z

Z

i A {5

e 2

R RAUN R AR FE N 07 dB
7 SR D L B 387 EUIN T BT
R S B T A

2RINE oc
SR LI ebr>1EH
el ‘CALCulate:MARKer:Y?

i FE T
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SIGLENT

6.5.5 ARSI {E
(:CALCulate:MARKer[1]|2|3|4:CPSearch[:STATe])

| [CALCulate:MARKer[1]|2|3|4:CPSearch[:STATe]OFF|ON|0|1
:CALCulate:MARKer[1]|2|3|4:CPSearch[:STATe]?

Wi B OGR4 R Th RE
ARIBUE SR (1 R I R ORE

SHRM| Wik

S ¥l |OFF|ON|O0|1

ix[EfE | O

POAME | [

DI | PR s IE

25451 :CALCulate:MARKerl:CPSearch ON

6.5.6 AR ESAE

(:CALCulate:MARKer[1]|2|3|4:CVSearch[:STATe])

25| [CALCulate:MARKer[1]|2|3]|4:CVSearch[:STATe]OFF|ON|0|1
:CALCulate:MARKer[1]|2]|3]4:CVSearch[:STATe]?

Wi B TF RS H AL R T RE
RBUE SR EIR RN RIRE

SHERM| iR

SHiE]| |OFF|ON|O0|1

A EIEIEN 0|1

PAME | B

DRI | PR SR E

25151 :CALCulate:MARKer1:CVSearch ON

6.5.7HFRE X

(:CALCulate[:SELected]:MARKer:AOFF)

21| [|CALCulate[:SELected]:MARKer:AOFF
Ui ] S A Jehs

REME | B

BRME | B

SEFRI | Pebr> ok

545 :CALCulate:MARKer:AOFF
6.5.8 X HRIEEIRE

(:CALCulate:MARKer[1]|2|3|4:MAXimum)

(67443t J.CALCulate:MARKer[1]]2]3]4:MAXimum
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SIGLENT

] DEhR A RIEAE, IR E I JehsbRid
REME | E

ROE | B

SRR | A >IEE

s 15 :CALCulate:MARKer4:MAXimum
6.5.9% A EE R

(:CALCulate:MARKer[1]|2|3|4:MINimize)

fir & 20| [[CALCulate:MARKer[1]|2|3|4:MINimize

i B DR R A, IR E FDGAs bRl

IR A 4E G

PAIME G

S LI WEE AP > 2.

s 15 :CALCulate:MARKer4:MINimize

6.6 ME

6.6. 132 EE

(:CALCulate:TRANsform:DISTance:STARt)

i S| [{CALCulate:TRANsform:DISTance:STARt <value>
:CALCulate:TRANsform:DISTance:STARt?

i Bl pa=RE=g Syl
DU L R R B

SRR PE AR, ALK (m)

ZHGuH | 0m~33.8m

IR A -

BRIME 0m

S HLI N B> 4G FE B

45451 :CALCulate:TRANsform:DISTance:STARt 0.5 m

6.6.2¢8 IL PR

(:CALCulate:TRANsform:DISTance:STOP)

S| [[CALCulate:TRANsform:DISTance:STOP <value>
:CALCulate:TRANsform:DISTance:STOP?

i B pachli=R2 Sy
R & 2% 11 PR

i FE T
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SIGLENT

SRR [F R, K (m)

ZHuHE | 0.2m~34m

REE | R

PRME | [30.6 m

oK LI O B> 2% 1 PR B

s 15 :CALCulate:TRANsform:DISTance:STOP 32.5 m
6.6.3 W E B

(:CALCulate:TRANsform:DISTance:UNIT)

2| [CALCulate:TRANsform:DISTance:UNIT METers|FEET
:CALCulate:TRANsform:DISTance:UNIT?

Ui ] B a=RUlE= 2K DA
RN & AT

SHEHI| [METers: K
FEET: &)X

REME | Wz MET|FEET

BRIME | MET

Sk HL I N > LA

45451 :CALCulate:TRANsform:DISTance:UNIT FEET

6.6.4iXEEF (:CORRection:RVELocity:COAX)

21| [ CORRection:RVELocity:COAX <value>
:CORRection:RVELocity: COAX?

i B WEHEE R T
R B[R+

SRR 7

ZHEHE | 10 ~ 100

IR Al {E Vet

ERAE 66

S HL I &> T R+

25151 :CORRection:RVELocity:COAX 12.34

6.6.5%%i17# (:CORRection:LOSS:COAX)

S| [[CORRection:LOSS:COAX <value>
:CORRection:LOSS:COAX?

i B T E 2 S A
HREN 2% 25 4 4

SHA | T

ZHuE | [-1000 ~ 10000

IR Al E =it

LNINE] 0
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SIGLENT

S LI > 28 25 $5 R
2545 :CORRection:LOSS:COAX 12.34
6.6.6 % e &
(:CALCulate:TRANsform:DISTance:WINDow)
2| [CALCulate:TRANsform:DISTance:WINDow OFF|RECT|HAMM
:CALCulate:TRANsform:DISTance:WINDow?
i i 5 E R
SR Tl bR 2L
ZSHUH| |OFF: <M
RECT: %EE&H
HAMM: &
R[EE | K2 OFF|RECT|HAMM
LNINE] HAMM
SR LI > 7 R AL
el :CALCulate:TRANsform:DISTance:WINDow RECT
6.6.71 ¥m OB

([:SENSe]:CORRection:COLLect:METHod:SOLT1)

2| [:SENSe]:CORRection:COLLect:METHod:SOLT1

i ] WE AR MRy 1 b RS

SR | A

SHGuE | 1

% 8] {E

BRIME

S LI W& > R > 1 g TR HE

el :CORRection:COLLect:METHod:SOLT1 1

6.6.8 A H B
([:SENSe]:CORRection:COLLect[:ACQuire]:LOAD)

1| [:SENSe[ch]]:CORRection:COLLect[:ACQuire]:LOAD

Wi ] P N AR BT PAAT F7 38 i i 2

S| |

SHIGHE| |1

IR A E

BIME 1

S LI

25151 :CORRection:COLLect:LOAD 1

i FE T
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SIGLENT

6.6.9FF BBUE
([:SENSe]:CORRection:COLLect[:ACQuire]:OPEN)

fiy A%

[:SENSe]:CORRection:COLLect[:ACQuire]:OPEN

L

NI HEEIAAT T AR HE

e

BR

1

i A5

ERIAE

1

DRI

Kl

:CORRection:COLLect:OPEN 1

6.6. 105 BBELE
([:SENSe]:CORRection:COLLect[:ACQuire]:SHORt)

1| [:SENSe]:CORRection:COLLect[:ACQuire]:SHORt
Ui ] e N R AT P A T i B A

SHuHE | |1

iR (A4

PAIME 1

S LI

25151 :CORRection:COLLect:SHOR 1

6.6. 11 & ARLEF T
([:SENSe]:CORRection:COLLect:METHod:TYPE?)
w2 # | |[:SENSe[ch]]:CORRection:COLLect:METHod: TYPE?
Wi AR 3 DTF Bl A 1 o R HE

SRR

REME | 'NONE", "{PORT"

PAIME

S LI

25451 :CORRection:COLLect:METHod: TYPE?
6.6.12;8 R BIERE

([:SENSe]:CORRection:COLLect:CLEar)

iy &A% 3\

[:SENSe]:CORRection:COLLect:CLEar

LA

I B HE B

SRR
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SIGLENT

iR [El{

ERINEL

LI | [ > R > TR

s 15 :CORRection:COLLect:CLEar

6.6.13KIETE AL B A BOE R
([:SENSe]:CORRection:COLLect:SAVE)

fir 2| [:SENSe]:CORRection:COLLect:SAVE
Ui ] 8 FH AR TR M

SR o

REME | [

BIME | B

S LI

s 15 :CORRection:COLLect:SAVE

i FE T
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SIGLENT

7. RBI TR
7.1 SREFREH

7.1.15u03% ([:SENSe]:FREQuency:CENTer)

| [:SENSe]:FREQuency:CENTer <freq>
[:SENSe]:FREQuency:CENTer?
i B T B VR 1 B ) L A AR
DU i 8B 1) P O AR
SHRM| [F S8, $AL Hz, kHz, MHz, GHz
ZHuH | |0 Hz ~ 3.2 GHz
% B {E 7 A, BT Hz
PRIME | [100 MHz
SRR | P
45451 [:SENSe]:FREQuency:CENTer 300 MHz
7.1.250FR B

([:SENSe]:FREQuency:CENTer:STEP[:INCRement])

il 1 3

[:SENSe]:FREQuency:CENTer:STEP[:INCRement] <freq>
[:SENSe]:FREQuency:CENTer:STEP[:INCRement]?

Wi B Pacu K

SR F A, AL Hz, kHz, MHz, GHz

S| [1 Hz ~ 100 MHz

IR [0 R, FLAL Hz

ERAE 10 kHz

ZE 5] [:SENSe]:FREQuency:CENTer:STEP[:INCRement] 20 MHz

7.1.33% 3% ([:SENSe]:FREQuency:SPAN?)

5| [:SENSe]:FREQuency:SPAN?
it B SR B8
W B 2 N ESEEE R e, ATEERE
SHRM|
REE | AL, AL Hz
BRiIME | [31.25 kHz
SR LTI 9158 >4 58
%451 [:SENSe]:FREQuency:SPAN?
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SIGLENT

7.2 VRREFEH

7.2. 18N ([:SENSe]:POWer[:RF]:ATTenuation)

| [:SENSe]:POWer[:RF]:ATTenuation <value>
[:SENSe]:POWer[:RF]:AT Tenuation?

Wi B B SR
AR AR

SRR | B, HA7dB

24| |0dB ~51dB

REME | [, 547 dB

PAAE | [20dB

LI | [l B> T

2545 [:SENSe]:POWer[:RF]:AT Tenuation 30 dB

7.2 2 NF R B RN

([:SENSe]:POWer[:RF]:ATTenuation:AUTO)

2| [:SENSe]:POWer[:RF]:ATTenuation:AUTO OFF|ON|0|1
[:SENSe]:POWer[:RF]:AT Tenuation:AUTO?

Wi B F ORI ek H B C AR 2
AR E )l B AR RS

SRR R

ZHEHI| [OFF|ON|O|1

zEHME | o)1

ERME | 0

CERAT | R B>

25451 [:SENSe]:POWer[:RF]:AT Tenuation:AUTO ON

7.2.38%2HF (:TRACe1|2|3|4:Y[:SCALe]:RLEVel)

m | [[TRACe1|2|3]4:Y[:SCALe]:RLEVel <value>
:TRACe1|2|3]4:Y[:SCALe]:RLEVel?

Wi WEZHHT
RIS 25 i
M HACH M EAR A MSK &, PSKllE. QAM & H &% =X
NN Syms/Errs B iy &H %%

SHEE| [

SR E&T*ﬂ”ﬁ Log Mag: -1000 ~ 1000

A1 84 Lin Mag: -1000 ~ 1000
iR AN Real: -1000 ~ 1000
E&T*mﬁ Imag: -1000 ~ 1000
iR Ay 1-Q: -1000 ~ 1000

47w N Constellation: -1000 ~ 1000

i FE T
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SIGLENT

N I-Eye: -1000 ~ 1000
RN Q-Eye: -1000 ~ 1000
ﬁﬂﬁ*ﬁ”ﬁ Wrap Phase: -1000 ~ 1000
2 RJE N Unwrap Phase: -1000 ~ 1000
NN Trellis-Eye: -1e5 ~ 1e9

IR [FI{E V-

BRIME

Sk BT i 55 > 2 2% HL P

45451 :-TRACe4:Y:RLEVel 2

7.2.A%IE/M (:TRACe1|2|3]4:Y[:SCALe]:PDIVision)

2| [TRACe1|2|3|4:Y[:SCALe]:PDIVision <value>
:-TRACe1|2|3]|4:Y[:SCALe]:PDIVision?

Ui ] wESEHBT
RIS 25 HL -
2 HA S ER AN MSK & . PSKill&E. QAM Il & H A HE %=
NN Syms/Errs I i 445 2%

SHCR | [

IR A - w0

BIME

Sk LI i 55 > 2 2% HL P

45451 :-TRACe4:Y:PDIVision 2

7.2.58z%ZE (:TRACe1|2|3|4[:Y]:AUToscale)

| [ TRACe1|2|3|4[:Y]:AUToscale
i B W HBhZI

SHCRA o

IR [A] (B o

ERAE o

S LI e 22> H Bh %%

2 A ‘TRACe2:AUToscale

7.3 HRIEH

7.3.1¥94543 ([:SENSe]:BWIDth[:RESolution])

4% 3| | [:SENSe]:BWIDth[:RESolution]?

i I i B

RN o
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SIGLENT

REME | EAA, B4 Hz
ERIME 100 kHz

S LI BW > 77 %

2 A :BWIDth?

7.3.28 &K ¥ ([:SENSe]:DDEMod:FFT:WINDow:TYPE)

w2k [:SENSe]:DDEMod:FFT:WINDow:TYPE
[:SENSe]:DDEMod:FFT:WINDow:TYPE?
i B =R EE
) T PR A
SR | Wz
RECTangular : &
HAMMing : ¥ &
HANNing: V5%
FLATtop: “FIilt
BLACkman: ik w2 &
% B {E Mozg
RECT
HAMM
HANN
FLAT
BLAC
ERAE 100 kHz
S LI 7 > B BRI AN
B3 :DDEMod:FFT:WINDow:TYPE BLAC

7.4 FHEEEH

7.4.18 %33 CINITiate[:IMMediate])

A% [[INITiat:IMMediate]

i B AT —K single sweep
REME | B

SRAE | [

DCERT | >R

el INITiate:IMMediate

7.4 2% SR FF% CGINITiate:CONTinuous)

LSgi- ="

:INITiate:CONTinuous OFF|ON|O|1

!INITiate:CONTinuous?

i FE T
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SIGLENT

L] TF R IE S
RIS ST TR
S| iR
ZHEHI| [OFF|ON|O[1
R[EME | O]
ZRINE | |ON
SR | >
s 15 :INITiate: CONTinuous OFF

7.5 jE%k

7.5.1iFZ% B (:CALCulate:PARameter:COUNt)

| [CALCulate:PARameter:COUNLt <integer>
:CALCulate:PARameter:COUNt?

i Bl WRESUYSEAYS|

SHRA | Y

SHGEH | 1~ 4

IR A

BRIME 1

S FRL I 4> 4 5 B

el :CALCulate:PARameter:COUNTt 4

7.5.2i% %/ (:DISPlay:LAYout)

45| [DISPlay:LAYout<integer,integer>
Wi B 2 AT )

HARs AR 4751 (1, 2)

SRR A ATHL, B3
ZHGuH | i1 ~2
FIK 1~ 2
i [ {8
ERME | (AT
R | [>T
Ead :DISPlay:LAYout 2,2

7.5. 312 #iERX (:TRACe[1]]|2]|3|4:DATA:NAME)

ARt [TRACe[1]]2]3|4:DATA:NAME
:TRACe[1]|2|3|4:DATA:NAME?
i B R RAC
R EIE
SRR Mes
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SIGLENT

3
=
s
=

TIME: B

SPECtrum: #il%

MTIMe: |Q Wl &£ 4 i 35k
MSPEctrum: 1Q J &%k 4%
RTIMe: 1Q ZZ% (55 &4 ik
RSPEctrum: 1Q 2155 5 s
MAGETrr: 1Q I&/E =%
PHASeerr: 1Q #Hfi#%E
EVTime: %% [a) &5
EVSPectrum: %% [a] Ak
SYMSerrs: i uE5 R

i A5

Mzt

ERIME

2 1 1Q I HdE I 3
IR 2 A

L2 3 BT T A
2L 4 1Q P2 K N

SICHRL T

k> B

Bl

‘TRACe:DATA:NAMESYMS

7.5.4i% B R&B ( :TRACe[1]|2]|3]|4:FORMat[:Y])

fi A% 2

‘TRACe[1][2|3|4:FORMat[:Y]
‘TRACe[1]|2|3|4:FORMat[:Y]?

WL

o B2 s R
RO 2L 7 SR

M2

MLOG: XI#yiigfE
MLINear: £& g &
REAL: SZ#p
IMAGinary: f&#
1Q: 1Q I
CONStIn: & FEK
IEYE: I-HRX]
QEYE: Q-fRK
WPHAse: FHA7E
UWPHase: #17f&FH K
TRELlis: #HAZHIRE

WESEIE e

MLOG
MLIN
REAL
IMAG
1Q
CONS
IEYE

QEYE

i FE T
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SIGLENT

WPHA
UWPH
TREL

ERME

2k 1 A
R 2 ot Bl
R 3 % B
EZk 4 1-HR &

DI HRL T

2k >

Kl

‘-TRACe:FORMatMLIN

7.5.5iF % BIEEHIB 5 —5ik%k (:TRACe:COPY)

Sk | [TRACe:COPY<from,to>
i B R A K s S B oy — SR 4%
SHRM | s
ZH0 from BT LE, SH to B HI B ) — kb 2k
S¥7ilH | |AIBICID % TRACE1|TRACEZ| TRACE2| TRACE4
IR [FI{E
BRINE
S HL I 2> 5 3]
el :TRACe:COPY A,B
‘"TRACe:COPYTRACE1,TRACE2

7.5.6BREH<E (:TRACe:DEMod:EYE:LENGth)

m | [[TRACe:DEMod:EYE:LENGth<integer>
:-TRACe:DEMod:EYE:LENGth?

Wi R P

SHCORA | [

ZHuHE| [2 ~40

IR (5] {E Ay

PAIME 2

S LI RG> 1t

B3 :TRACe:DEMod:EYE:LENGth 4

7.5. 785 %1K%X (:TRACe:DEMod:TABLe:FORMat)

S| [ TRACe:DEMod:TABLe:FORMat
:-TRACe:DEMod:TABLe:FORMat?

i B e N

SRR M

SHuH | [BINary| HEXadecimal

IR 8] {E S

BIME | HEX

S FRLI 2> e
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SIGLENT

BRG]

| [ TRACe:DEMod:TABLe:FORMat BIN

7.6 JtkR

7.6.1FF KHHR
(:TRACe[1]|2|3|4:MARKer[1]|2|3|4:ENABIe)

Sk [ TRACe[1]]2|3]4:MARKer[1]|2|3|4:ENABle OFF|ON|0|1
:TRACe[1]|2|3|4:MARKer[1]|2]|3]|4:ENABle?
it B WE R RS
REOEAR T SRS
SRR /R
Z4uH | |OFF|ON|0J1
REME | |01
RE | [OFF
Sic HL I P
P ‘TRACel:MARKerl:ENABle ON
7.6.25¢kRER,

(:TRACe[1]|2|3|4:MARKer[1]|2|3|4: TYPE)

a5k | [ TRACe[1]12|3|4:MARKer[1]|2|3|4: TYPE POSition|DELTa|OFF
:TRACe[1]|2|3|4:MARKer[1]|2|3]|4: TYPE?
i B IR i Y
RO AR5
SRR (M
DELTa: %14
OFF: X
REME | [F2$: POS|DELT|OFF
ENINIE] OFF
SR LTI P
2 A :-TRACe:MARKer:TYPE POSition
7.6.3% %= X HIRVE

(:TRACe[1]|2|3]4:MARKer[1]]2|3]4:X)

| [[TRACe[1]]2|3|4:MARKer[1]|2]|3]|4:X <para>
‘TRACe[1]|2|3]|4:MARKer[1]|2|3]4:X?
Wi B BB X Al E
&Wﬁﬁﬂx%m@
i i 2 AR AR OFF I A4 BEAE L
SR | [ A
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SIGLENT

ZE

IR Al

NN

S HL I JehR> 1k

25451 :CALCulate:MARKer4:X 200
:CALCulate:MARKer4:X?

7.6.40FRR Y #HAVE

(:TRACe[1]|2|3|4:MARKer[1]|2]3|4:Y?)

k| | TRACe[1]]2|3]4:MARKer[1]|2|3|4:Y?
Wi SLIOGER Y BB
i [2HE V- s
PAME | B
I | B
K] :-TRACe:MARKer:Y?
7.6.5CFRAERTT
(:TRACe[1]|2]|3|4:MARKer[1]|2|3]4:REFerence)
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:TRACe[1]|2]3]4:MARKer[1]|2]|3|4:REFerence?
Wi WEZH R
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ZHGEHI| [1~4
iR Al 1~4
BROAME | 2
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45451 :-TRACe:MARKer:REFerence 3
7.6.6XI5BE

(:CALCulate[:SELected]:MARKer:COUPle)

22| [[CALCulate[:SELected]:MARKer:COUPIeOFF|ON|0|1
:CALCulate[:SELected]:MARKer:COUPIle?
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ZHjuH | JOFFJON|0]1

REME | [

118 o A T




SIGLENT

A | B
BN R e
24 :CALCulate:MARKer:COUPle ON

7.6.73%¢¥5r%2 % (:CALCulate:MARKer:AOFF)

2| [[CALCulate:MARKer:AOFF
i Bl % T b

SHEA| &

SHIGHE| |

IR [F{E wn

BRIME wn

S FRL I D bR> 4 5 ¢ ]

el :CALCulate:MARKer:AOFF
7.7 M=

7.7.18FREAAE ([:SENSe]:DDEMod:MODulation)

fi A% 2

[:SENSe]:DDEMod:MODulation
[:SENSe]:DDEMod:MODulation?
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SRR
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MSK
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S| [ > R

25451 :DDEMod:MODulation FSK8

7.7 2% BB AR ([:SENSe]:ADEMod:STYLe)

| [:SENSe]:ADEMod:STYLe
[:SENSe]:ADEMod:STYLe?

it BH PR EPN ATt
SRR CIERR A B A e 25D

SRR (M

SR AM: LR
FM: AS40L 1) 4

REME | s AMIFM

BRAIME

SR | [ E

25451 :ADEMod:STYLe AM

7.7 38 FRBHFSE (:DDEMod[:FORMat]:SRATe)

A | DDEMod[:FORMat]:SRATe <integer>
:DDEMod[:FORMat]:SRATe?
B | [REBRTAE SR

LR AT S R

SHCORA

R

G

1000 ~ 2500000

KE S0 4 TG S %9 2500000
FE A0 6 RO %y 1666666
FE5 R0 8 IO %9 1250000
KE 20 10 BB 5 % 9 1000000
2 0 12 B 8K B %)y 833333
R A0 14 KT 5 %y 714285
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ERIUME | 10000

SR | RSP S R

Kl :DDEMod:SRATe 2000
7.7 AR FRAT S RH
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i A% 2\
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SHE| 4, 6, 8, 10, 12, 14, 16
REME | [BEECR

BRAE | 4

SRR | ESR S S

24 DDEMod:SYMBol:POINts 14
7.7 58 FRANEKE

([:SENSe]:DDEMod[:FORMat]:RLENgth)

A5 | [[SENSe]:DDEMod[:FORMat]:RLENgth<integer>
[:SENSe]:DDEMod[:FORMat]:RLENgth?
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SRR R
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25151 ‘DDEMod:FILTer:REFerenceOFF

7.7 SEEREMES ([:SENSe]:STATistic:STATe)

| [:SENSe]:STATistic:STATe
[:SENSe]:STATistic:STATe?
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R EME | s

ERIME | [OFF
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25451 :STATIstic:STATeON

7.7.9MEEHIRA ([:SENSe]:AVERage[:STATe])

K| [[SENSe]:AVERage[:STATe]
[:SENSe]:AVERage[:STATe]?
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REME | g
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545 :AVERageON

7.7.10 MBI ([:SENSe]:AVERage:COUNt)
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PRI &P IR B
SRR R
SHIERE |1 ~ 1000
REIE | [
ERIME 10
SR | PES>S> Y
2 A :AVERage:COUNt 20

7.7.11F#ME (:CALCulate:RESTart)

| [[CALCulate:RESTart
i B RS =

IR Al E o
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Bl

:CALCulate:RESTart

7.7. 123 FRALR (READ:DDEMod?)

AR, |[READ:DDEMod?
i B SR T fift R 45

if demod type is ASK it will return:
ASK err rms (% rms)

ASK err peak (% pk)

symbol position of ASK err peak
carrier power

carrier offset

ASK depth

If demod type is FSK it will return:
1.FSK err rms (% rms)

2.FSK err peak (% pk)

3.symbol position of FSK err peak
4. carrier power

5.carrier offset

6.FSK deviation

If If demod type is MSK,PSK,QAM it will return:
1. EVM rms (% rms)

2. EVM peak (% pk)

3. symbol position of EVM peak

4.magnitude error rms (% rms).

5. magnitude error peak (% pk)

6.symbol position of magnitude error peak

7.phase error rms (deg)
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8.phase error peak (deg pk)

9.symbol position of phase error peak
10. frequency error (Hz)

11. 1Q offset

12. SNR(MER) (dB)

13. quadrature error (deg)

14. gain imbalance (dB)
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SRR (M2
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BRIME | IMMediate

DRI | [k

25451 :TRIGger:SOURce IMMediate

7.8.2f % B (:TRIGger[:SEQuence]:RF:LEVel)

| [ TRIGger[:SEQuence]:RF:LEVel <value>
‘TRIGger[:SEQuence].RF:LEVel?
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i A LT

SHRM| [F A8, $40 dBm
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REME | R, $ 6 dBm

HAE | [0dBm

SR | kA >fil A
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| [ TRIGger[:SEQuence]:RFBurst:SLOPe POSitive|NEGative
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FFF SSA3000X-R £ 1) S A 43 B X

8.1 SEEITH

8.1.17F/MH% ([:SENSe]:FREQuency:CENTer)

A [:SENSe]:FREQuency:CENTer <freq>
[:SENSe]:FREQuency:CENTer?

Wi B A=Al B
LIRS
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SHuHE | 2.5 kHz ~ 7.4999975 GHz

REME | fFEAS, AL Hz

ERAE | [20MHz

SRR | Pk

2445 :FREQuency:CENTer 0.2 GHz
:SENSe:FREQuency:CENTer 0.2 GHz

8.1.2f2843M% ([:SENSe]:FREQuency:STARt)

| [:SENSe]:FREQuency:STARt <freq>
[:SENSe]:FREQuency:STARLt?

Ui ] W B AR
ENIELIESY EES
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ZHEHl| |0 Hz ~ 7.499995 GHz

IR (5] {E 7, B Hz
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S LI S LS

Ead :FREQuency:STARt 10 MHz

8.1.3%% 1L45i% ([:SENSe]:FREQuency:STOP)

& [:SENSe]:FREQuency:STOP <freq>
[:SENSe]:FREQuency:STOP?

Wi A B 2 AR
DRI ES

SRR PR, A Hz, kHz, MHz, GHz
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REVE | R, B4 Hz
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BOME 40 MHz
S| Rk BiE
2 :FREQuency:STOP 1.0 GHz

8.1.435% {R# ([:SENSe]:FREQuency:OFFSet)

it [:SENSe]:FREQuency: OFFSet<freq>
[:SENSe]:FREQuency: OFFSet?
LA pa-b)ESITrES
ERGpIES T
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S| 1100 GHz~ 100 GHz
REME | AR, BT Hz
PAME | |OHz
DI | IR > B R
Kl :FREQuency:OFFSet 1 GHz
8.1.5FL SRR P

([:SENSe]:FREQuency:CENTer:STEP[:INCRement])

il 1 3

[:SENSe]:FREQuency:CENTer:STEP[:INCRement] <freq>
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Wi B T E O IR D
SR O D 1
SERM | [F AR, A7 Hz, KHz. MHz, GHz
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SR | P > b K
245 :FREQuency:CENTer:STEP 2MHz

8.1.6 LML H T IEER
([:SENSe]:FREQuency:CENTer:STEP:AUTO)

ERSTES

[:SENSe]:FREQuency:CENTer:STEP:AUTO OFF|ON|O0|1
[:SENSe]:FREQuency:CENTer:STEP:AUTO?
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2 A :FREQuency:CENTer:STEP:AUTO OFF
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8.1.743% ([:SENSe]:FREQuency:SPAN)

A5 [:SENSe]:FREQuency:SPAN <freq>
[:SENSe]:FREQuency:SPAN?
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SHEM| [F s A, $47 Hz. kHz. MHz. GHz
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REME | SR, A Hz
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24 :FREQuency:SPAN 10MHz

8.1.82fA% ([:SENSe]:FREQuency:SPAN:FULL)
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i 15 :FREQuency:SPAN:FULL
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ERAME | R
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255 :FREQuency:SPAN:ZERO
8.1.10 EXxf3%
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SR | [T > BRI

24 :FREQuency:SPAN:PREVious
8.1.11 3% ME ([:SENSe]:FREQuency:SPAN:
DOUBIe)

i 20| [:SENSe]:FREQuency:SPAN:DOUBIe
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REME | [
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s 15 :FREQuency:SPAN:DOUBIe

8.1.12 3% A ¥ ([:SENSe]:FREQuency:SPAN:

HALF)

w4k | [:SENSe]:FREQuency:SPAN:HALF
Ui B BTN YR
SRR T

RMEME | B

BME | B

SR LTI 5 E > K

2 A :-FREQuency:SPAN:HALF

8.2 NEREI=H

8.2.18FH¥F
(:DISPlay:WINDow:TRACe:Y[:SCALe]:RLEVel)

25| [:DISPlay:WINDow:TRACe:Y[:SCALe]:RLEVel <value>
:DISPlay:WINDow:TRACe:Y[:SCALe]:RLEVel?

Ui B WEZHHT
RIS /LT

SHRM| AR, $AL dBm

SHEE | |74 dBm B: -100 dBm ~ 30 dBm

REME | [FA8Y, A dBm

BRME 0 dBm

DI | | > ZE T

21 :DISPlay:WINDow:TRACe:Y:RLEVel 20 DBM
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8.2.28INF R ([:SENSe]:POWer[:RF]:ATTenuation)

i [:SENSe]:POWer[:RF]:AT Tenuation <value>
[:SENSe]:POWer[:RF]:AT Tenuation?

Wi B B A
DA

S|

Z ¥ | |0 dB ~ 50 dB

A EIEE) A, 547 dB

ZTRUME | [20dB

S T RS >

25451 :POWer:ATTenuation 10

8.2. 3 AT A B &N

([:SENSe]:POWer[:RF]:ATTenuation:AUTO)

2| [:SENSe]:POWer[:RF]:ATTenuation:AUTO OFF|ON|0]1
[:SENSe]:POWer[:RF]:AT Tenuation:AUTO?

Ui B F ORI ek H B C AR 2
ARICE IR B e B 2 UIRES

SRR | iR

ZH0H | |[OFF|ONJO0J1

zEHE | o)1

PRME | |ON

ST | R > S

45451 :POWer:AT Tenuation:AUTO?

8.2 ATMEM K =EF K

([:SENSe]:POWer[:RF]:GAIN[:STATe])

Ok | [:SENSe]:POWer[:RF]:GAIN[:STATe] OFF|ON|0|1
[:SENSe]:POWer[:RF]:GAIN[:STATe]?

ui B FEORATTE A A 518 ) TIUEL TUOK 2%
SR I B JROR 28 RS

SRR /KA

ZHull | |JOFF|ON|O|1

IR Al E 0|1

ZME | [OFF

S HL I & > FUi

el :POWer:GAIN ON
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8.2 SR E /T
(:DISPlay:WINDow:TRACe:Y[:SCALe]:PDIVision)
| [:DISPlay:WINDow:TRACe:Y[:SCALe]:PDIVision <integer>
:DISPlay:WINDow:TRACe:Y[:SCALe]:PDIVision?
i B T B AN E R I (R 21
DR SUE PN oAl
SHRA| s
SHEE]| |1 dB ~20 dB
REME | RS, A7 dB
ERAE | [10dB
Sk LI RJE > ZIE %
45451 :DISPlay:WINDow:TRACe:Y:PDIVision 10 dB
= ri
8.3 THIniTHl

8.3. 17 ¥ZH T ([:SENSe]:BWIDth[:RESolution])

Ak [:SENSe]:BWIDth[:RESolution] <freq>
[:SENSe]:BWIDth[:RESolution]?

Ui B BB T PR B
Ry A B

SHRM | [

S

IR 8] {E 7R A, BT Hz

BRAE | [ MHz

S LI BW > 7 9 32717 5

2415 :BWIDth 1 KHz

8.3 2 M T RIRN

([:SENSe]:BWIDth[:RESolution]:AUTO)

452t | [:SENSe]:BWIDth[:RESolution]:AUTO OFF|ON]0|1
[:SENSe]:BWIDth[:RESolution]:AUTO?

Yi W VB 7 AR AT T 1) B S AR TR
SR 937 5 1) B s AR O RS

SR | HiR A

Z4J5 ]| |OFF|ONJO0|1

R[EE | o]

ERME | [ON

SRR | BW > SR

34 1] :-BWID:AUTO ON
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8.3.31REiEKis% ([:SENSe]:FILTer:TYPE)

& ok | [SENSe]:FILTer: TYPE
[:SENSe]:FILTer:TYPE?

Wi B B g A
RN it

SHCRA| Wz

SR KAISer: YA
HANNing: T %
FLATtop
GAUSsian: =87 &
BHARris: A3 7 &
RECTangular: 57 &

REME | s

BRIAE KAIS

S BT BW > JE 2%

i 15| [:SENS]:FILT:TYPE KAIS

8.4 FFH{=HI

8.4.1F ¥4 (:INITiate[:IMMediate])

2| [[INITiate[:IMMediate]
i B EERE]

SHRA o

IR [A]{E n

ERAE n

S LI F > LK

25151 ‘INITiate:IMMediate

8.4. 2% E R FF % CINITiate:CONTinuous)

4| [INITiate:CONTinuous OFF|ON|O|1
:INITiate:CONTinuous?

Wi ] VAR SLA B Y Y
DIUGE S R T o

SRR R

Z4J5 ]| |OFF|ONJO0|1

IR Al 0|1

ERIME ON

Si LTI F >4

7445 :INITiate:CONTinuous OFF
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8.4.3E =13 CINITiate:PAUSe)

A3 [[INITiate:PAUSe

i B 158 2 BT — Wil 5 245 14
SHRA |

REME | B

IME | [

S LI 3> 2

2 A ‘INITiate:PAUSe

8.4.44%45 134 (:INITiate:RESume)

w4k [INITiate:RESume
it B oM TE 1]
SRR [T

RMEME | B

BIME | B

S HL I >R

255 :INITiate:RES

8.4 51 ER &R E ([:SENSe]:ACQuisition:TIME)

a5k | [SENSe]:ACQuisition:TIME
[:SENSe]:ACQuisition:TIME ?

i B B R AN ]

SHER| [ AR, $47 ks, s. ms. us

SHE | [29.998ms~40s

R |

N | [29.998ms

SR LTI F1H> R AR (]

2 A :ACQuisition: TIME 2s

8.4.61% B R ERTEHE

([:SENSe]:ACQuisition:TIME:AUTO)

k5| [:SENSe]:ACQuisition: TIME:AUTO
[:SENSe]:ACQuisition:TIME:AUTO?

i B KA I AR

SHRM| HiRk A

Z 45 H | |OFF|ONJO0|1

IR A E 0|1

BAAME | ION
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DI HRL T

Fak> R AR [

B

:ACQuisition: TIME:AUTO on

8.5 jE%k

8.5.1i¢k B~ (:TRACe[1]|2|3:MODE )

a5k [ TRACe[1]]2|3:MODE <type>
:TRACe[1]|2|3:MODE?

i B AR AET VN ¢
SREIE 2 1) 32 7 1 5

SRR (M

SHGEE | WRITe: #28 N IEFER, HHEHE
MAXHold: & 7~iZF 2k ) B K A]
MINHold: 7R 282k 1) 5/ ME.
BLANK: & 2582k B4
AVERage: 71

REME | e

BB | %k 1 A WRITe, i#54; 2. 3 4 BLANK

SRR | PRk

2 151 :-TRAC1:MODE AVER

8.5.2K R A

([:SENSe]:DETector:TRACe[1]|2|3[:FUNCtion] )

| [:SENSe]:DETector:TRACe[1]|2|3[:FUNCtion]
NEGative|POSitive| SAMPIle|AVERage|NORMAL|QUASI
[:SENSe]:DETector: TRACe[1]|2|3[:FUNCtion]?

Ui B AU Rl BT
DRI Ak s R A

SRR | (M2

ZH 6| INEGative: 11l&/H
POSitive: 1EI&{H
SAMPle: Fkf
AVERage: -3

e | e

ERE

DI | s

45451 :DETector:TRAC1 AVERage
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8.5.3F R
([:SENSe]:AVERage: TRACe[1]|2|3:COUNt)

m | [:SENSe]:AVERage: TRACe[1]|2|3:COUNt <integer>
[:SENSe]:AVERage: TRACe[1]]2|3:COUNt?

Wi B VB IR I 2 R
I 2 1) ~F- 1) VK

SRR | B

SHG ]| |1 ~ 100

R EE | R

ERIME 10

ST | PRZR > P IRE

24451 :AVERage:TRACe1:COUNt 10

8.5. 48k #3E (:TRACe[1]|2]|3 [:DATA]?)

ot [ TRACe[1]|2|3 [:DATA]?
! SR IR 2 1 B
SHRM

REME | [

ERIAE

eI | PG

2151 :-TRACe:DATA?

8.5.5ifF k¥ #EHX (:FORMat[:TRACe][:DATA])

4k [[FORMat[: TRACe][:DATAJASCIi|REAL,32| REAL,64
:FORMat[:TRACe][:DATA]?
Ui W B B TS D0 4 B A% 5K
) i 1 P 2 2R B A 5
ZHE | [ASCi
REAL,32 V%% 32 1
REAL,64 V% % 64 i
IREE | M ASCIi|REAL|REAL32
BRINE | [ASCii
I | [
%51 :FORMat ASCii

8.5.6 E STk E ik Lk i
(:TRACe[:DATA]:SPECtrum?)

[ér 443X ] [TRACe[:DATA]:SPECtrum?
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LA

SR BT 26 1) B s

i[5

FOME

DI HRL T

B

:-TRACe:SPEC?

8.5.7%1f) PVT % ##E (:TRACe[:DATA]:PVT?)

St | | TRACe[:DATA]:PVT?
! R IR 2 1 B
SHRM

R[EME | [

ERIAE

eI | PG

%4 ] :-TRACe:PVT?
8.5.8PVT ¥ KR

([:SENSe]:DETector:TRACe:PVTime)

| [:SENSe]:DETector:TRACe:PVTime
[:SENSe]:DETector:TRACe:PVTime?
Wi (7Ai R 28 W 7
SRR | Wi
SHjul | INEGative: flg{H
POSitive: 1FI§(H
SAMPle: Ff
AVERage: ¥
R | (M
ERAE POSitive
ST | R
245 :DET:TRAC:PVT POS
8.5.9;R 10 EM AT

([:SENSe]:DETector:TRACe:SPECtrogram)

2| [:SENSe]:DETector:TRACe:SPECtrogram
[:SENSe]:DETector:TRACe:SPECtrogram?
UL % B SPECTROGRM f#& i 7!

$KHL SPECTROGRM #5325 7

M2

NEGative: f1I&{E
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POSitive: IFIE{E

SAMPle: XAt
AVERage: -“1-%)
REME | e
BRIME POS
ST | R
45| :DET:TRAC:SPEC POS

8.6 JtFR

8.6. 1R IRR
(:CALCulate:MARKer[1]|2|3|4|5|6|7|8:MODE)
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LTI 2 A I Y
SHER | Wz
SHEE | [POSitive I {H
QPEak #EI%(H

i FE T
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SIGLENT

EAVerage emi “J-¥J
REE | M
ERIME
LI | [IRZk
24 :DETector: TRAC1 EAV
9.5. 3R #

([:SENSe]:AVERage: TRACe[1]|2|3:COUNt)

At [:SENSe]:AVERage:TRACe[1]|2|3:COUNt <integer>
[:SENSe]:AVERage:TRACe[1]|2|3:COUNt?

LA i B T IR EL
AR IGIE 2R T 2 IR E

SHCRA| B

ZHGERI| 1 ~100

R EME | R

BRUME | [10

CCELI | [IRZR > PR

Bl :AVERage: TRACe1:COUNt 10

0.5.4Zif)iE %k #IE (:TRACe1|2|3:FSCan [:DATA]?)

4] [TRACe1|2|3:FSCan [:DATA]?
i B R R 2 1) A

SR

REME | [

ERAE

S LI G

25151 ‘TRACe1:FSCan?

9.5.51 2k #iiE#, (:FORMat[:TRACe][:DATA])

o3| [FORMat[:TRACe][:DATAJASCIi|REAL,32| REAL,64
:FORMat[: TRACe][:DATA]?
Ut LB RN A 25 2 B A 2
) 7] T E ) 328 2 B A 2
SRR [MeEs
S¥aE | |ASCii
REAL,32
REAL,64
iR A 4E ¥r2é: ASCIi|REAL|REAL32
ENINIE] ASCii
S HLII N
24451 ‘FORMat ASCii
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SIGLENT

9.6 J&FR

9.6. 1R tRR,
(:CALCulate:FSCan:MARKer[1]|2|3]4]5|6/7|8:MODE)

a5k [CALCulate:FSCan:MARKer[1]|2|3|4|5|6:STATe
POSition|DELTa|FIXed|OFF
:CALCulate:FSCan:MARKer[1]|2|3|4|5|6:STATe?
Ui B B bR B
RO ERR B
SR M
ZHEH | [POSition: 1EH
DELTa: {4
FIXed: [{l5E
OFF: %]
R [E{E | K¢ POS|DELT|FIX|OFF
LNINE] OFF
Si BRI v D
451 :CALCulate:FSC:MARK1:MODE POSition
9.6.2 ¢ FRbRICHE LR

(:CALCulate:FSCan:MARKer[1]|2]|3]4|5|6|7|8:TRACe)

22| [[CALCulate:FSCan:MARKer[1]|2|3]4|5|6|7|8:TRACe 1|2|3|
:CALCulate:FSCan:MARKer[1]]2]3|4]5|6|7|8: TRACe?

Ui W BB IR R IC I 2
FEHOG PR bR iC B2k

SRR | (M2

ZHGuH | 112]3]

kEME | B

PAME | |1

SCHLI | PobE > dRid ik

245 CALCulate:FSCan:MARK:TRAC 1

9.6.3FARMEXS T

(:CALCulate:FSCan:MARKer[1]|2|3]|4|5|6|7|8:REFere

nce)

2k, | [CALCulate:FSCan:MARKer[1]|2]|3|4|5|6|7|8:REFerence
112|3]4|5|6|7|8
:CALCulate:FSCan:MARKer[1]]|2|3|4]5|6|7|8:REFerence?

Ui W BCE AR XS T

SRPOEAR A T

i FE T
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SIGLENT

ZHGul | 1)2]3]4]5]6]|7|8
R EME | ez
N 1
S BRI Marker > Relative To
2 A :CALCulate:FSCan:MARKer1:REFerence 3
9.6.43% KR X HAYE
(:CALCulate:FSCan:MARKer[1][2|3]4|5/6|7|8:X)
25| [CALCulate:FSCan:MARKer[1]|2|3]4|5|6|7|8:X <para>
:CALCulate:FSCan:MARKer[1]|2|3|4|5]6]7|8:X?
Ui B WE AR R X B e
iﬁ:ﬂi?lﬁﬁ‘ i X Bl
4 R ebrti =0k OFF I A feEsk, &% w4
:CALCulate:FSCan:MARKer[1]]2|3|4:MODE
SHRA| (FS R, AL Hz. kHz. MHz. GHz
& N PVT B A A s
4G | [0~7.5GHZ
IR B E V-
PAIME
S LI JebR > 1IEH
5451 :CALCulate:FSCan:MARKer4:X 1 kHz
:CALCulate:FSCan:MARKer4:X?
9.6.53kRA Y HHAYE

(:CALCulate:FSCan:MARKer[1]|2|3|4/5/6/7|8:Y?)

4k | [CALCulate:FSCan:MARKer[1]|2|3[4|5|6]7|8:Y
.CALCulate:FSCan:MARKer[1]|2|3]4|56|7|8:Y?

Ui B GEEOEHR 5 Y FPE,  [FIE AT TS BOAR D Re A B AR S
HAT a2 TRt ek T9E OFF RS, SHE M4
.CALCulate:FSCan:MARKer[1]|2|3|4|5/6|7|8:MODE
:CALCulate:FSCan:MARKer[1]|2|3]4|5|6|7|8:Y i% & marker Y @4
HAE makrer A fix B 4224

IR Al E 7T R LA dBM

ERIAE G

S HL I Jehr > I

45451 :CALCulate:FSCan:MARKer:Y?
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SIGLENT

9.6.6 AR MEF S IR
(:CALCulate:FSCan:MARKer[1]|2]|3]4|5|6[:SET]:SLIS
t)

23| [CALCulate:FSCan:MARKer[1]|2|3]|4|5|6[:SET]:SLISt

L RN IEN EREPIIES

iR [AE

A | B

SR | Paks >Jths to

25451 :CALCulate:FSCan:MARKer:SLISt

9.6. 71 BEXARINZE A Meter FREESi =
(:CALCulate:FSCan:MARKer[1]|2|3|4|5|6[:SET]:MET

er)

4K+ :t| [CALCulate:FSCan:MARKer[1]|2|3]4[5|6[:SET]:METer
Ui B W B Meter 558 A b BT 7640 5

iR A

BiME | B

SR LTI JEbR >JEhF to

2 A :CALCulate:FSCan:MARKer:METer

9.6.81% & Meter 35 Jy HHRER S =
(:CALCulate:FSCan:MARKer[1]|2]|3|4|5|6:TO:METer)

fr 2t | [|CALCulate:FSCan:MARKer[1]]2|3|4|5|6:TO:METer
Wi W W B Meter S A6 A5 BT (£ ki

REME | Peds >hhr to

BME | B

S | Pebs > IEH

45 :CALCulate:FSCan:MARKer:TO:METer

9.6. 9l {E £ 3 B

(:CALCulate:MARKer:PEAK:THReshold)

LSgi- ="

:CALCulate:MARKer:PEAK:THReshold <value>

:CALCulate:MARKer:PEAK:THReshold?

i FE T
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SIGLENT

L B0 B VEAE 1 Z AR A0 BE
R U 1 2R A0 B E
SHCRA| AR, H47 dBm
Z4uE | [200.0 dBm~ 200.0 dBm
REHE | AR, #A7 dBm
R -140.0 dBm
SR | e >R B > EH ERE
21 :CALCulate:MARKer:PEAK:THReshold -50
9.6.10I{E 1A%} R 7%

(:CALCulate:MARKer:PEAK:EXCursion)

ot | [CALCulate:MARKer:PEAK:EXCursion <value>
:CALCulate:MARKer:PEAK:EXCursion?

wi B WEL W 2R A ARG T T FR

SRR FE M, A7 dB

ZHuHl | |0 ~200.0dB

iR [EE TF A, A7 dB

FRIME 15dB

SR HLII AR > 48 2R E B > I {E W A%

21 :CALCulate:MARKer:PEAK:EXCursion 10

9.6.11X¢FRIEEIE R

(:CALCuIate:FSCan:MARKer[1]|2|3|4|5|6|7|8:MAXim

um)

4% 3| [|CALCulate:FSCan:MARKer[1]|2|3]4|5|6|7|8:MAXimum

PG| TehR i R IE(E, FER TR ehRRID

iR [ {E c

LN c

SR FLII Ve A

25151 :CALCulate:FSCan:MARKer4:MAXimum

9.6. 12X #rI8 R L IE{E

(:CALCuIate:MARKer[1]|2|3|4|5|6|7|8:MAXimum:LE

FT)

k| [[CALCulate:MARKer[1]]2]3|4|5|6|7|8:MAXimum:LEFT

i B Hebr R AL WAl , FFHTE 2 M ehRbRid
(I O e O R 5, BLFRIEE R . 45 IRE A AR S wAS
SEU T4
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SIGLENT

:CALCulate:MARKer:PEAK:SEARch:MODE
:CALCulate:MARKer:PEAK:THReshold
:CALCulate:MARKer:PEAK:EXCursion)

IR (B {E o

N n

S LI g fF > /o U

s 15 :CALCulate:MARKer1:MAXimum:LEFT

9.6.13% B RAIFE

(:CALCulate:MARKer[1]|2]3|4|5|6|7|8:MAXimum:RIG

Ht)

25| [[CALCulate:MARKer[1]|2]|3]4|5]6|7|8:MAXimum:RIGHt

i B DEPRE R AW, IR E PFDEhR bR
(s CBCE IS R 6, QFRURAERTY A% R AR R S
SN S
:CALCulate:MARKer:PEAK:SEARch:MODE
:CALCulate:MARKer:PEAK:THReshold
:CALCulate:MARKer:PEAK:EXCursion)

IR (5] {E o

PAIME o

S LI US> 7 U

2 A :CALCulate:MARKerl:MAXimum:RIGHt

0.7 FR#I

9.7. 1iEENPR&IMX RS (:CALCulate:LLINe:TEST)

a5k [CALCulate:LLINe:TESTOFF|ON|O|1
:CALCulate:LLINe:TEST?

Ui ] VB PR IR s

SHRM| o

RMME | 0|1

ZME | [OFF

Si LTI PR 1] >3k

el :CALCulate:LLINe:TEST on

i FE T
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SIGLENT

9.7.2PR#IZIR7AS (:CALCulate:LLINe[1]|2:STATe)

2| [CALCulate:LLINe[1]|2:STATe OFF|ON|O|1
:CALCulate:LLINe[1]|2:STATe?
Ui ] B PR AR
DR IR A
SRR | iR A
ZHEHI| [OFF|ON|OJ1
IR (B {E 0|1
PIME | [OFF
S LTI PR i1l > PR o)
2 A :CALCulate:LLINe1:STATe OFF
9.7.3RFIZ% M E

(:CALCulate:FSCan:LLINe[1]|2|3:MARGin)

25| [CALCulate:FSCan:LLINe[1]|2|3:MARGin<value>
:CALCulate:FSCan:LLINe[1]]2|3:MARGIn?

Ui ] W PR 2 &

SHCRM | [ A

SHiHl| [140 dB ~ 0 dB

iR [FE V=it

PAIME -6 dB

S LI PR 1] > 2 >4

Ead :CALCulate:LLINe1:Y 5dBm

9.7 APRFIFRICITELE

(:CALCulate:FSCan:LLINe[1]|2|3: TRACe)

2k 3| [CALCulate:FSCan:LLINe[1]|2|3:TRACe TRACe 12| 3
:CALCulate:FSCan:LLINe[1]]|2]3:TRACe?
i B T PR i) P S A A R 28
R PR ) P 2 A AR TR 4
SRR Y
S| 11213
IR Al T
ERIME 1
S HLI B 1] > 2 5> X 28
45451 :CALCulate:FSCan:LLINe2: TRACe 1
9.7. 5PRBIZIBBIRTS

(:CALCulate:FSCan:LLINe[1]|2|3:MARGin:STATe)

[ér 445X | [CALCulate:FSCan:LLINe[1]|2|3:MARGin:STATe <bool>
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SIGLENT

:CALCulate:FSCan:LLINe[1]|2|3:MARGIn:STATe?

i B B PRI A RS
DRI BR il A T IR A
SHRA| KA
ZH0H | |[OFF|ONJO0|1
IR (5] {E V- s
BRIME 0
S LTI I il > 2 4 > 4
45451 :CALCulate:FSCan:LLINe:MARGIn:STATe on

9.7.6PR#l4%5, (:CALCulate:LLINe[1]|2:MODE)

&5k [[CALCulate:LLINe[1]|2:MODE LINE|POINt
:CALCulate:LLINe[1]|2:MODE?

it B W B PR A
SR PR 152 2

SRR | W

S| |LINE|POINt

RMEE | e

ERAE LINE

B B 1) >

25451 :CALCulate:LLINe1:MODE POINt

9.7.7PR#IZk1E{E (:CALCulate:LLINe[1]]2:Y)

| [CALCulate:LLINe[1]|2:Y <value>
:CALCulate:LLINe[1]|2:Y?

Wi B B PR ] 2R
PR il R A

SHRM| |

Z ol | 400 dBm~330 dBm

REME | R

BAME | |0dBm

S LI O 1) >4t 4 > S5

25151 :CALCulate:LLINe1:Y 5dBm

0.7.8PREIFMMBIE (:CALCulate:LLINe[1]|2:DATA)

LSgi- ="

:CALCulate:LLINe[1]|2:DATA <x-axis>,<ampl>{,<x-axis>, <ampl>}
:CALCulate:LLINe[1]|2:DATA?

L L BIR 1) 0
oo IR Fl) R K

X b A
R 3 e 1Y

X ﬁﬂ 0~3.2GHz
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SIGLENT

W& : -400 dBm~330 dBm
R A X b A
WEE 5 s 7Y
2RiME | X% OHz
& : -50 dBm
Si ERL I B 1] >
2 15 :CALC:LLINe1:DATA 10000000,-20,20000000,-30

9.7.91 /in BR &I M W # #& (:CALCulate:LLINe[1]|2:ADD)

fir & #20| |:CALCulate:LLINe[1]|2:ADD <x-axis>,<ampl>
Ui ] 38 o B o ) e
SR X 7 AR
W ¥ i
SHa | X 0~1.5GHz
e
REME | X S
EJE: VFAH
ERE | XHh: -1Hz
WEE 0 dBm
Sk LI I i1l > G 45
45451 :CALCulate:LLINe1:ADD 10000000,-20

9.7.101H B35 & BREUFLM =
(:CALCulate:LLINe[1]|2:DELete)

& # 3| [|CALCulate:LLINe[1]|2:DELete <number>
i ] I 415 PR ) )

SR | A

% 8] {E En

BRIME En

S LI B it > G 45> T o3 o

25151 :CALCulate:LLINe1:DELete 2

9.7.11fMBR A= FRPR IR =
(:CALCulate:LLINe:ALL:DELete)

iy A%

:CALCulate:LLINe[1]|2:ALL:DELete

LA

I 5 2 S IR 1) R

SR

iR Bl

ERIAE

ot [extert[erd
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SIGLENT

DI HRL T

BIR 1> 2 > ] B 22

B

:CALCulate:LLINe2:ALL:DELete

9.7.12&#IPREIMIXLR (:CALCulate:LLINe:FAIL?)

22| [[CALCulate:LLINe:FAIL?
i Bl A3 1) PR 1 4
SHRM| o

IR Al E PASS|FAIL

BRIME wn

S LTI G

45451 :CALCulate:LLINe:FAIL?

9.8 9.8 ME

9.8.1MEFF%

aomet| [[SENSel:FSCan:SEQuence
SCAN|SEARch|SSAMeasure|SASearch|SAMeasure|REMeasure
[:SENSe]:FSCan:SEQuence?

14 BENEF
AU EFF

S| MOk

SHCEE] SCAN | SEARch | SSAMeasure | SASearch | SAMeasure |
REMeasure

IR[EE SCAN | SEAR| SSAM | SAS | SAM | REM

ZKIME | [SCAN

SE BT Meas > Sequence

ey] :FSC:SEQ SEAR

9.8.2F 5+ BB R [8]

| [:SENSe]:FSCan:SCAN:TIME<time>
[:SENSe]:FSCan:SCAN:TIME?

Wi A T B T 5L B I 1]
A ) T4 5 B I (]

SHRM | 8, AL ks, s ms. us

SHGEH | [fms £ 10's

RIEME | PR, HALs

ERME

S FALTI Meas > Scan Config > Dwell Time

25151 :FSC:SCAN:TIME 100 ms

i FE T

163




SIGLENT

9.8.3Meter FF%

Ak [:DISPlay:METer[1]|2|3[:STATe] OFF|ON|O0|1
:DISPlay:METer[1]|2|3[:STATe]?
Wi A % & meter JT%
1) meter JF3%
SR | R
ZHEHI| [OFF|ON|O|1
i EME | o)1
PRAME | |1
S FALTI Meas > Meter Config > Meter 1|2|3
25451 :-DISP:MET1 OFF
9.8.4Meter IE EERT(8]
k% | [FSENSe]:METer[1]|2|3:DETector:DWELI <time>
[:SENSe]:METer[1]|2|3:DETector:DWELI?
Ui ] W E Meter T B i ]
#rif) Meter 5 B i ]
RN | [F e
SHEE]| |[1ms ~ 10s
A EIEE) V- s
BAME | 0.01
S FRLII Meas > Meter Config > Meter 1|2|3 > Dwell Time
25451 IMET1:DET:DWEL 50 ms
9.8.5Meter ¥  2EHY
| [:SENSe]:METer[1]|2|3:DETector POSitive| QPEak|EAVerage
[:SENSe]:METer[1]|2|3:DETector?
i B & E Meter #2571
i) Meter 6% 357
SRR | (M2
S ¥ | [POSitive| QPEak|EAVerage
A EIEIEN Vs
ERIME Meter1: POS
Meter2: QPE
Meter3: EAV
S LTI Meas > Meter Config > Meter 1|2|3 Detector
2 A ‘MET1:DET EAV

0.8.6Meter PRI

SO :CALCuIate:METer[1]|2|3:LIM!t[:DATA] <ampl>
:CALCulate:METer[1]]|2]3:LIMit[:DATA]?

L)z W Meter BRI
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SIGLENT

20 Meter PR

et MR
R [ElE
EANE | 0
52 EA TR Meas > Meter Config > Meter1|2|3 Limit > Value
245 :CALC:MET1:LIM 20 dBuV
9.8.7Meter PR&EIRZS
2| [CALCulate:METer[1]|2]|3:LIMit:STATe OFF|ON]|O0|1
:CALCulate:METer[1]|2|3:LIMit:STATe?
Ui ] W E Meter [REPIRA
75 i) Meter [RRAS
¥ 2k |Boolean
Z ikl | |OFF|ON|O[1
IR 0|1
BAE [ [0
S FRLII Meas > Meter Config > Meter1|2|3 Limit > Limit
21 :CALC:MET1:LIM:STAT ON
9.8.8Meter i% Ff BR 5!
& # | [CALCulate: METer[1] | 2 | 3:LIMit:ULLine LIMit1 | LIMit2 | LIMit3
i B i FH PR 1) N 1E 8 meter BRI 11E
A )0 FH ) FR 151
SRR Wz
IR (5] {E
PAIME
S FALTI Meas > Meter Config > Meter Limit
2 A :CALCulate: METer1:LIMit:ULLine LIMit1
9.8.9#r12(E S
A4 | [:CALCulate:SLISt:MARK:SIGNal<integer>
Ui ] PRt (s 5 8IR P HIE S
SHE| [
SR
IR 8] {E
ERIME
S EAL I Meas > List Operation > Mark Signal

i FE T
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SIGLENT

|§51§U | |:CALC:SLIS:MARK:SIGN 1
9.8.1078FR 5 S#5iC

45| [[CALCulate:SLISt:MARK:CLEar:SIGNal<integer>
Wi I B 15 7 AR

SRR | [BIE

% 8] {E

ERIAME

S ERLTI Meas > List Operation > Clear Mark

25451 :CALC:SLIS:MARK:CLE:SIGN 1
9.8.11#RiEFf

i SHE=L| [[CALCulate:SLISt:MARK:ALL

38R Fhc(E B AR IOP A R S

=]

ENANE

% BA T Meas > Mark All

e 3] :CALC:SLIS:MARK:ALL
90.8.127&% B

i 4% 3| [|CALCulate:SLIStMARK:CLEar:ALL

Wi BRI S T AR

SRR

BRI

ERIME

S EAL I Meas > List Operation > Clear All Marks
25151 :CALC:SLIS:MARK:CLE:ALL
9.8.13MfIfR1ES

M| [|CALCulate:SLISt:DELete:SIGNal<integer>
i M BR1E 5 PR P RIS S

SRR [

i [l 4E
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SIGLENT

N

S BRI Meas > List Operation > Delete Signal

24 :CALC:SLIS:DEL:SIG 1

9.8. 141X EF B

i 2 #% 7| [:CALCulate:SLISt:DELete:ALL

i Bl MRS S PR PRI E1E S

SRR

IR Al E

BRIME

S HALTI Meas > List Operation > Delete Al

45451 :CALC:SLIS:ALL

9.8.15HFF2HY

22| [[CALCulate:SLISt:SORT:-TYPE FREQuency | DAMPIlitude |
DLDelta | TIME

Ui ] WEAS 5 H R B R

IR (5] {E

PAIME

S PRI Meas > List Operation > Sort By

B3 :CALC:SLIS:SORT:-TYPE FREQ

9.8.16 A FFpEFr

21| [CALCulate:SLISt:SORT:ORDer ASCending|DESCending
:CALCulate:SLISt:SORT:ORDer?

i B MR = A W E A 2R R T e B e A

SHRM | Wz

ZH75Hl| JASCending|DESCending

VA EIRIER ASC|DESC

BAIME ASC

S LI Meas > List Operation > Sort Order

el :CALC:SLIS:SORT:ORD DESC

i FE T




SIGLENT

10. 412 7= Bl

RELGGREFY A2 T el RG] iR Rl DR B ni-visa FEEL
Sockets AIA & 2 Fif#iiid ) iy & R AE A EAT I BE o I HFE B, ARAT LT
KHEZHITHREN . XM 172 Visual Studio JF AT H .

10.1 3 VISA BY4RFE I

10.1.1VC++73=:45

. Windows xp system, Visual Studio

AFINE: fEH] ni-visa #2141 Usbtme TCP/IP V5 i35 .
M2 S TN E

1. 77T Visual Studio, 81— H7HJ ve++ win32 T H .

WEBHAEAH ni-visa FE, AMFITERTLUEH ni-visa, #4777 WHHB)
Jr 2t
()iFa T =
7E NI-VISA Z 3z F: visa.h,visatype.h,visa32.lib. # e 4115 i 2K
MTH, FHEENdmelmE . fE50H .cpp X, I inin F 4T

#include "visa.h"

#pragma comment(lib,"visa32.lib")
ISRV
WHE.h CHEFEE R, ni-visa IR TERNEM, AT ERBRELE:
C: \Program Files\IVI Foundation\VISA\WWINNT\include. % & iX % % 4% 31| 15
H—J& PE—C/C++—i I —F hn e & g4,  anf&l:
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SIGLENT

O5BTNC_¥riteEead Property Pages

Configuration: Il\ctive Debug) LI Flatform: Iﬁ.ctive (Win32) LI Configuration Manager. .. |
=3 Configuration FProperti hdditional Imclude Directorie C:\Frogram FilesiI¥I Foundation\¥ISA
reneral Resolve #using References
Debugzzing Debugz Information Format Program Datahase for Edit & Continme
3 CfoH Suppress Startup Banmer Yes [fnologo)
g General Harning Lewel Level 3 (¥¥3)
Optimization Detect B4-bit Portability Iss Tes (fEpG4)
Freprocessor Treat Warnings As Errors Ha

Code Generation
Language
Precompiled Hea
Output Files
Browse Informat
Advanced
Command Line

[ Linker

[Z] Browse Information

[ Build Ewvents

L] Custom Build Step

£ Web Deployment

Additional Include Directories

Specifies one or more directories to add to the include path; usze zemi-

m | colon delimited list if more than ome. FI[path])

|A
[a

= mE | EEw | @

2. BUE RS IR S

W PEAT: fE ni-visa ZHERRAE, EIATHIHRM, FATEERHILE: C:
\Program Files\IVI Foundation\VISA\WINNT\LIB\MSC. ¥ & ix % 4% 31 H
— PR —IE R AR — PR H o,

USBTEC_¥riteRead Property Pages

Configuration: IﬁCtiV& Mebug) LI Flatform: IActive Win32) ;I Configuration Manager. .. |
=5 Configuration Properti Output File $ (0utDir ) /USBINC ¥riteRead exe
General Show Frogress Hot Set
Debugeing Version
[C3 CioHt Enable Inmcremental Linking TYes (TIHCRENENTAL)
‘3 Linker Suppress Startup Banmer Ha
% General Iznore Import Library Ho
Input Regizter Output Ho
EEbt‘ggi“g hdditional Library Directorie C:\Program Files\I¥I Foundation\VISA
wetem

Optimization
Embedded IDL
Advanced
Command Line
[Z] Browse Information
[C3] Euild Ewvents
] Custom Build Step
[ Web Deployment

Output File
Owerride the default cutput file name. (fOUT: [file])

|A

il | ¥

T e | mEw | #=Em |
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SIGLENT

W B JFE X 1 : project---properties---Linker---Command Line---Additional

Options:visa32.lib

Configuration: |ACtiVEm2bug) ﬂ Platform: |A-:tive(‘Hin323 ﬂ Configuration Manager. ..

) Configuration Properti
eneral
lebuzzing
[C3cicH
23 Linker
General
Input
lebugging
System
Optimization
Embedded ITL
Adwanced
g Command Line
[Z1 Browse Information
[Z3 Build Ewents
[Z3 Custom Build Step
[Z3 ¥eb Deployment

A
|

#11 Options:

FOUT: “Debug/USETMC_WriteRead. exe™ STHCEEMENTAL fWOLOGO (DEBUS

FPDE: “Debug/USEIMC_YriteRead pdb® /SUBSYSTEM:CONSOLE /MACHINE: XG6
kernel3Z 1ib user3?. 1ib 2di3Z 1ib winspool. 1ib comdlz3Z. 11b
adwapidZ, 1ib shell3Z. 1ib oled2 1ib oleant32. 1ib uuid 1ib odbc3Z. 1ib
odbeop3Z. 1ib

Additiona]l Options:

vizad?. lib

RE HRiH

#ER

f1.45 visa.h file: £ XXX.cpp 34 H:

#include <visa.h>

3. HINACHS:

(1)USBTMC 77ELAL D

H—4~ Usbtmc_test &

int Usbtmc_test()
{

BRI

PR BACSIE 7R 18 NI-VISA & R B E BN S A dir 2 2] */

[*—A~ USB M &M

FHHR(USBTMC) {88,  */

XA 5 IDN 2\ n 457 8 BT ISR 3 R S0 USBTMC */
I 2 R BT S iR A g .
PARRD ) — R R T B IR A
PHTIF VISA 2315 B 38 ¥/
P8 viPrintf SR E M)+
I+ 2B viScanf B — AN ¥/
* KM VISA 2if */
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/***********************************************************/

ViSession defaultRM;

ViSession instr;

ViUInt32 numinstrs;

ViFindList findList;

ViuInt32 retCount;

ViUInt32 writeCount;

ViStatus status;

char instrResourceString[VI_FIND_BUFLEN];

unsigned char buffer[100];

char stringinput[512];

int i;

IS, AT ] viopenDefaultRM 15 315 3 28 AR . */

PFEATKALE defaultRM /2% LTl

status=viOpenDefaultRM (&defaultRM);

if (status < VI_SUCCESS)

{

printf ("Could not open a session to the VISA Resource Manager!\n");
return status;

}

IR RGP A ) USB TMC VISA BHJi */

“FIR 5 ¥ IR B A7 7E R 40 B numinstrs B, */

status = viFindRsrc (defaultRM, "USB?*INSTR", &findList, &numinstrs,
instrResourceString);

if (status < VI_SUCCESS)

{

printf ("An error occurred while finding resources.\nHit enter to continue.");
fflush(stdin);

getchar();

viClose (defaultRM);

return status;

}

PHIAE, BATEXTFTA USB TMC X #4THF VISA 2. FRATA 40
* M\ viOpenDefaultRM 8 FH A4, 106 254 FH — 245 B e s 22
TIPS, X TR AR FEIR T o 12577 £ 1A% AT DAZE D)
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*Rem i P A R SR PR R AT AR BIR RS, FRAT
AT B MU E AN, £ S VISA DhRER 2. f£iX
* R AccessMode I Z 402 N R I DIRETIRE . XANZ
“Hwi 25 T1H VI_NULL. *

for (i=0; i<numlinstrs; i++)

{

if (i >0)

viFindNext (findList, instrResourceString);

status = viOpen (defaultRM, instrResourceString, VI_NULL, VI_NULL, &instr);
if (status < VI_SUCCESS)

{

printf ("Cannot open a session to the device %d.\n", i+1);

continue;

}

e — b, RATIER — D 21E I3 USB TMC X3 . BILE,
*BAVHHAE R viPrintf bR BURIEFAF R IDNAN" B4, 2RI */
char * cmmand ="*IDN?\n";

status = viPrintf (instr, cmmand);

if (status < VI_SUCCESS)

{

printf ("Error writing to the device %d.\n", i+1);

status = viClose (instr);

continue;

}

1% BUAE A TR 2l A A8 32 o] — A A5 S A WM N o JA TR
*fdi ] viScanf R BCRIRBCEE . ERIR B 5, W RNLE R H R/
status = viScanf(instr, "%t", buffer);

if (status < VI_SUCCESS)

printf ("Error reading a response from the device %d.\n", i+1);

else

printf ("\nDevice %d:%*s\n", i+1,retCount, buffer);
status = viClose (instr)

}

PHIRTE, FRATHE S viClose (48 . HIERERITE KRB K. */
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status = viClose (defaultRM);
return O;

}

(2)TCP/IP access code:
Write a function TCP_IP_Test.

int TCP_IP_Test(char *pIP)
{

char outputBuffer[VI_FIND_BUFLEN];

ViSession defaultRM, instr;

ViStatus status;

ViuInt32 count;

ViuInt16 portNo;

IS, BATHESTITEAR R EE E s . ¥/
status = viOpenDefaultRM (&defaultRM);

if (status < VI_SUCCESS)

{

printf("Could not open a session to the VISA Resource Manager'\n");
}

PETE, BATE @ TCP /IP W& I — A& iE
char head[256] ="TCPIPO::";

char tail[] ="::INSTR";

char resource [256];

strcat(head,plP);

strcat(head,tail);

status = viOpen (defaultRM, head, VI_LOAD_CONFIG, VI_NULL, &instr);
if (status < VI_SUCCESS)

{

printf ("An error occurred opening the session\n");
viClose(defaultRM);

}

status = viPrintf(instr, "*idn?\n");

status = viScanf(instr, "%t", outputBuffer);

if (status < VI_SUCCESS)

{
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printf("viRead failed with error code: %x \n",status);
viClose(defaultRM);

lelse

printf ("\ndata read from device: %*s\n", 0,outputBuffer);
status = viClose (instr);

status = viClose (defaultRM);

return O;

}
10.1.2VB 7=l

£ 3% : Windows 7 , Microsoft Visual Basic 6.0

ABIRZ: M NI-VISA, @id USBTMC il TCP/P 1y izl 54 % 5 A FIi
L

Y5 HE D IR 58 ) 1) -«
1. FJ7F Visual Basic, &35 — MRS HREFIE (baiE EXE).

2. WEIHMAEFREH NI-VISA FE, 0 H KA RS>, 4
& visa32.bas ' NI-VISA %3542 T H include SCAFJe s F, FHdsnsctt.

Add Nodule 2IX

Haw Existing I

Loak in: |._.'i| include ﬂ ] cr B
quplypq. bas
File name:  |[visa32 bas
Files of bupe: |Basic Files (% bas) ﬂ Pancel
Help (1)

[ Don' t show thiz dialog in the future

XAEFF VISA TIREF VISA W HE R A AERE Fe Al FH o
3. A IALHD:
(1)USBTMC #7HUf L :
5 Usbtmc_test %1
Private Function Usbtmc_test() As Long
X BASTER T NI-VISA K% R  BUR 5 N i 2 2|
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"> USB Ml &M & 2R (USBTMC) X 5 .

XA TS IDN 2\ n R E BT IE R R RS2 USBTMC
"V A A S R Rl

PR I — M AR A T I B A B A

FTIF VISA & i 2L 2%

"8 viPrintf SR LA

2R BE viScanf 52BN B

'S VISA 21

Const MAX_CNT =200

Dim defaultRM As Long

Dim instrsesn As Long

Dim numlnstrs As Long

Dim findList As Long

Dim retCount As Long

Dim writeCount As Long

Dim status As Long

Dim instrResourceString As String * VI_FIND_BUFLEN
Dim buffer As String * MAX_CNT

Dim i As Integer

B, BATLAE viopenDefaultRM 15 315 H 25 1) A1 .

BATEAE defaultRM 77 I FA4 .

status = viOpenDefaultRM(defaultRM)

If (status < VI_SUCCESS) Then
Debug.Print "Could not open a session to the VISA Resource Manager!"
Usbtmc_test = status
Exit Function

End If

FHBAT RS FTE ) USB TMC VISA %
FER 5 W BRI B H A E RS numinstrs B,

status = viFindRsrc(defaultRM, "USB?*INSTR", findList, numinstrs,
instrResourceString)

YmFEF 175



SIGLENT

If (status < VI_SUCCESS) Then
Debug.Print "An error occurred while finding resources."
viClose (defaultRM)
Usbtmc_test = status
Exit Function
End If

BULE, AKX A USB TMC AT I VISA 231 FRAT 1620
‘M viOpenDefaultRM {8 FH A4, 02045 FH — AN 245 B s 2
FTH RIS, X ATl PR RR AT o 1% 55 o 1A% 2UmT DAE I
"BETHAR A4 B e S HO IR PR FTHF AR RIS, A
AR B —AMEE AR, £ S VISA DhRer 3], fEIX
MR L) AccessMode I Z 52 R R DIRETIER . X2
Hiwe 4 T1E VI_NULL.

Fori =0 To numlnstrs

If (i>0) Then
status = viFindNext(findList, instrResourceString)
End If

status = viOpen(defaultRM, instrResourceString, VI_NULL, VI_NULL,
instrsesn)

If (status < VI_SUCCESS) Then
Debug.Print "Cannot open a session to the device ", i + 1
GoTo NextFind

End If

EX — b, AT — D iETIT 8] USB TMC s . ILLE,
AL viPrintf R ECGE AT R IDNAN S e 4, ZORBA U
status = viWrite(instrsesn, "*IDN?", 5, retCount)
If (status < VI_SUCCESS) Then

Debug.Print "Error writing to the device."

status = viClose(instrsesn)

GoTo NextFind
End If
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IAETRA T B8 1 (Bl — N A Bl L. AR
"8 F viScanf sRBCRIRUEHE . RIS, mR RN K
status = viRead(instrsesn, buffer, MAX_CNT, retCount)
If (status < VI_SUCCESS) Then
Debug.Print "Error reading a response from the device.", i + 1
Else
Debug.Printi + 1, retCount, buffer
End If
status = viClose(instrsesn)
NextFind:
Next i

PIAE, AT RMA &G viClose ¢35, HEAERITA R 7.
status = viClose(defaultRM)
Usbtmc _test=0

End Function

(2)TCP/IP access code:

Write a function TCP_IP_Test.

Private Function TCP_IP_Test(ip As String) As Long
Dim outputBuffer As String * VI_FIND_BUFLEN
Dim defaultRM As Long
Dim instrsesn As Long
Dim status As Long
Dim count As Long

B, FATHREAT B TR AR

status = viOpenDefaultRM (defaultRM)

If (status < VI_SUCCESS) Then
Debug.Print "Could not open a session to the VISA Resource Manager!"
TCP_IP_Test = status
Exit Function

End If

PEE, IRATEE TCP 1 IP W &3TH— AN 2xiF
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status = viOpen(defaultRM, "TCPIPO::" + ip + "2INSTR",
VI_LOAD_CONFIG, VI_NULL, instrsesn)

If (status < VI_SUCCESS) Then
Debug.Print "An error occurred opening the session
viClose (defaultRM)
TCP_IP_Test = status
Exit Function
End If

status = viWrite(instrsesn, "*IDN?", 5, count)
If (status < VI_SUCCESS) Then
Debug.Print "Error writing to the device."
End If
status = viRead(instrsesn, outputBuffer, VI_FIND BUFLEN, count)
If (status < VI_SUCCESS) Then
Debug.Print "Error reading a response from the device.", i + 1
Else
Debug.Print "read from device:", outputBuffer
End If
status = viClose(instrsesn)
status = viClose(defaultRM)
TCP_IP_Test=0
End Function

10.1.3MATLAB 74

3 B%: windows 7, MATLAB R2010b

REIANA: HH NI-VISA, #Eit USBTMC 1 TCP/IP i [ 1% £ 22 B A\ FIiE
Y

1 IOD BRSE B B 5

1. #TH MATLAB, B 4aiH . ZEARE - T, BYa B8N D: \
USBTMC_TCPIP_Demo.

2. S>> EE>>HA (File>>New>>Script) 76 Matlab Ff k6 # —4
2SI M SRS

3. WA
(1)USBTMC f7HUALHS:
5 N Usbtmc_test B4,
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function USBTMC _test()
00IX B AR T A~ 4% FH NI-VISA K 1% R U B A\ 4 3|
% — USB Ml i &l & ZE(USBTMC) X 45 -

%04 VISA-USB Xf %% £ 3] USB (¢ #% I
vu = visa('ni',’/USBO0::0xF4EC::0x1300::0123456789::INSTR");

%ITH AN VISA X5
fopen(vu);

%RIETHF R IDN? ”, TR &S L.
fprintf(vu,”*IDN?");

% KA
outputbuffer = fscanf(vu);
disp(outputbuffer);

%<4 VISA Xf %
fclose(vu);
delete(vu);

clear vu;

end

(2)TCP/IP fFBUARED .

5N\ TCP_IP_Test 4.

function TCP_IP_test( IPstr)

%iX BACHS R T 18 FH NI-VISA 3% [ 5 5L BUM 5 N\ iy 4 5]
%> TCP/IP 1% 2.

% B —> VISA-TCPIP Xf &R E 7 IP bk as.
vt = visa('ni"',[ TCPIPO::',IPstr,"::INSTR']);

%] FFEIEE ) VISA Xt %
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fopen(vt);

YK IETFFER"IDN?", EH#AERE
fprintf(vt,”*IDN?");

AR AEH
outputbuffer = fscanf(vt);
disp(outputbuffer);

%% VISA X 5
fclose(vt);
delete(vt);

clear vt;

end

10.1.4LabVIEW 7R3l

3. windows 7 system, LabVIEW 2011

AEIRZ: FH NI-VISA, JEik USBTMC F1 TCP/IP i i) 45 1 ¥t 4 2 5 N\ Flik
B,

¥4 HED IR 52 I 51 -«
1. ¥TFF LabVIEW, 6% VI 4.

2. WmiEfE. AR ATIAGE D, EEIFIA VISA BHEARR, HHREIA,
R At DA SR A A — e 45 AR

3. FIIFHERIE . (F VISA BIRAFREE AR B, FTLAA VISA i G iR
FESE R I DA T IhRE: VISA S, VISAEE, VISA TR VISA .

4. WENDEREXR, W FEPIR:

Read buffer
Fibc]
] '? -
236 Return count
VISA resource name ¥k
| /0 :: ieA A T [T
abo-; fabc ’@\
wiE R ¢ )
error in (no erdor) :
= error ou
=
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5. M VISA BIRAAFRFNRME P L £ et BRI AR R I8 1T Y

USBO:0xF4EC:Ox1 301 :5VATKEARKZRO031INSTR

Siglent, SVA1015X, SVAIXEAXZR0031,2.0.1.9

EXANEFH, VI FTHF—A VISA £1E3] USBTMC #4%, SA—ad R
%, SRJEEEIFEmN . W, RIERREERmA SRS ID il 155N
BTG R R S5, fEATABWSERN)E, VI KH VISA &1,

it TCPIP 5K M #8E (5 &R LT USBTMC 1. 1HE, K ZESAL
VISA B A VISA B ek R4 1/10. LabVIEW BB F 10 1/10. 4
BERATZAT A, R NPRESE R B F D 11O B> > [P k5N Bl B [F] 25
Bl o

1. WeEfBERkR, Wk EHoR:

54 LJ:'S.EI HAATA ]
abc-, fabic =,
ked 1| R

error in (no error)

==t
2. N IP AR BT R o
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TCPIP0:10.11,11.109:inst0:INSTR

Siglent, SVA1015X, SVAIXEAXZR0031,2.0.1.9

10.2 Sockets/Telnet 7=%1

10.2.1Python 7=l

Python J&—Fi i FEtEgmfEiE =, v ARG PR TAE I+ HAE# (447 . Python
A MR, ATLLYT A Socket #:11. FTLLA Socket %S Python Jil
AR 5E B A A AN AT 55

BATHRE: Win7 32bit &4, Python v2.7.5

I zhae: T — > Socket, KiX—A&Eill, JFKH Socket. 7E¥ 10 K.
A A IR -

#!/usr/bin/env python
#-*- coding:utf-8 —*-
#
# The short script is a example that open a socket, sends a query,
# print the return message and closes the socket.

import socket # for sockets

import sys # for exit

import time # for sleep

+H

bes

remote_ip = "10.11.13.32" # should match the instrument’s IP address
port = 5025# the portnumberof the instrument service
count =0

def SocketConnect():

try:
#create an AF_INET, STREAM socket (TCP)
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s = socket.socket(socket. AF_INET, socket. SOCK_STREAM)

except socket.error:
print (‘'Failed to create socket.")
sys.exit();
try:
#Connect to remote server
s.connect((remote_ip , port))
info = s.recv(4096)
print (info)
except socket.error:
print (‘failed to connect to ip ' + remote_ip)
return s

def SocketQuery(Sock, cmd):
try :
#Send cmd string
Sock.sendall(cmd)
Sock.sendall(b'\n')
time.sleep(1)
except socket.error:
#Send failed
print ('Send failed')
sys.exit()
reply = Sock.recv(4096)
return reply

def SocketClose(Sock):
#close the socket
Sock.close()
time.sleep(.300)

def main():
global remote_ip
global port
global count

# Body: send the SCPI commands *IDN? 10 times and print the return message

s = SocketConnect()

foriin range(10):
gStr = SocketQuery(s, b™IDN?")
print (str(count) + ":: " + str(qStr))
count = count +1 SocketClose(s)

input('Press "Enter" to exit')

if _name_==' main__ "

proc = main()

BITER:

i FE T
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Y Program Files\F hon27\python.exe » “ ‘ﬁ o x

Welcome to the SCPI dinstrument *Siglent SUA1A15X’

>?: Siglent.SUA18158 . SUALXEARZRAA30.2.8.1.7
=*Ziglent,SUA18158 , SUALXEAX2RAA36,.2.0.1.9
=*Siglent,.SUA1815H , SUALXEAX2RAAZA,.2.8.1.9
*Siglent.SUA10154 . SUALKEAX2RB630.2.8.1 .9
=*Riglent,.SUA1B15K , SUALXEAX2RAA2A,.2.8.1.9
*Siglent.SUA10154 . SUALKEAX2RB630.2.8.1 .9
=*Riglent,.SUA1B15K , SUALXEAX2RAA2A,.2.8.1.9

=*Ziglent,.SUA18158 . SUALXEAX2RAA30.2.0.1.9

#*Siglent . SUA1P15X , SUALXEAX2RAG30.2.8.1 .9

7:: =Siglent.SUA18158 . SUALXEAX2RAA30.2.0.1.9

Fress "Enter" to exit
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R PERHR R B IR A S
2E%ZERSALZ%: 400-878-0807

Ptk : www.siglent.com

=

() SIGLENT 1 233 3)I|Th R ARH RN B R A
FNEREIR, FERZERY, REMEARR
SEEAEXEFHAFRPEOETRNE,
AERPHERRERENMATTEIRA . A
BNEZE, BABTES.

BARFT]

XF AR R, (RESE)FT
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KT
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